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UNIT X: METROLOGY AND MEASUREMENTS

QUESTION

Q1In metrology, which one defines the closeness of agreement between a
measured value and the true value?
©@wL_gmreogdlulled, SereiL LUl L wSl0é @D 2 6oT 6o 6oT SIULE G LD

SoemL GUILIT6OT SI(HSTEMLD M 678 QIEHTIMISSIDG)I?

(A) Accuracy (gyeoeSiwib)
(B) Precision (sflwmreoremi)
(C) Tolerance (&&05 8 65T 6m1D)

(D) Sensitivity (2_eoorii &lmedr)

Q2.The permissible variation in a dimension is called

6215 Uiflomeor 5160 D160 S &HaUUL_L om MU (h) 6T6UENT M) Siem&&IU(HISIDS)?

(A) Limit (eumbuy)

(B) Fit (Qunp$s1b)

(C) Tolerance (&5 8 65T6m1D)
(D) Accuracy (gy6o6Shwib)

Q3.Which type of fit ensures a clearance between mating parts?
6TH% QUEMHSIWITET @UT(HSSLD E6H6mTI LD UTSHISOH& @ &emLcusflemw 2 mis

@Q&WSIDG)?

(A) Interference fit (Bmeo Qur s sb)
(B) Clearance fit (SovL_@euefl QU IH&5D)
(C) Transition fit (wrgyum”_ () CuIIHSSD)

(D) Shrink fit (s:qp &8 QU EHE&D)
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Q4.Which instrument is used for measuring small angular deviations with
high accuracy?

91516 gleoedlws gL 6ot Sl Gamer 65608 o8& 6T DieTellL 6TiHs & (H6N
uwesTU(HSSUU(HISIDEI?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)
(B) Clinometer (Slemer@eormiBL"_L i)
(C)Bevel protractor (Gueued yBmmésL_TmésLIT)

(D) Theodolite (51 GwnGLmemevl” )

Q5.Which comparator works on the principle of balancing fluid pressure?
Slrey iS55 ems Fiblemeoliu(hHgiIb MU’ 1q.6d Swihi@b Sburrr_ L

61g)I?

(A) Pneumatic comparator (eumuj &bummt_L i)
(B) Mechanical comparator (Swih&lr ssibumrL_L_if)
(C)Optical comparator (<9 6860 SIDUNTL_LIT)

(D) Electrical comparator (iBlesraibumm_Lii)

Qs6.The surfaceirregularities with spacing less than 1mm are called:
110IB-5 @) @ comauner SeoL_GaleflyL_6sr 2_erer GubHuriil) 6o(1RrhiS6sr 6mLn & 6T

TGO )] BI6MLD & & LIU(HIESI6T D GoT?

(A) Waviness (160:60@Urm6o & 65T 6mLp)
(B) Roughness (s19 o188 661 65010)

(C) Lay (iemi0t1y)

(D) Flatness (819 6mw)
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Q7In linear measurement, which instrument provides the least count of 0.01
mm?

@riflwed SiemesiL_1q.60, 0.01OIB & 6mMHS 6T 6vor ollds & UPMHIEG D & (H6N 6T8I?

(A) Vernier caliper (Qeuisofwii &meSIOui)
(B) Micrometer (6ow&@GrmiBr_L_if)
(C) Steel rule (stvre6d (H6o)

(D) Dial gauge (Lweo @sgn)

Q8 Which gauge is used to check the internal taper of a hole?

6 (15 Glomemuilest 2_oit Fiflomeud &evorsTenflss 61hs @& sk LWETUHSSUIU[HISIDE?

(A)Ring gauge (fii G&2h)
(B) Plug gauge (Slond @& o)
(C) Taper plug gauge (GLvuii Slors Bssgd)

(D) Snap gauge (6hoeormts Gss o)

Q9.Which parameter isdirectly measured in a heat balance test of an 1.C.
engine?
2_eir orifley SwihSlrd Hleor Geuiu Fwiblemeo G&ns cmeorulleo Gmimiq wine

eI UuHlIb DieTeS ST 6T8)?

(A) Heat equivalent of fuel (srfl@unmeflesr @eutiu &wefemev)
(B) Heat lost to cooling water (&eoflig8 B fleo Sibs Geutiub)
(C) Brake power (98@r& ueuii)

(D) Indicated power (60119 Ba&1"_L_L"_ u6uIT)
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(Q10.Computer aided inspection in metrology primarily uses which
technology?

©@uwL"_greogdlulled &eanfleotl 2_& ey 6t e @& licus (W &SNS 6THS
@anleomi” usemsU LIWGTUHISSHISIDS)I?

(A) CMM - Coordinate Measuring Machine (@&m-<uiiig Geori”_ Siemesii”_(h)
SwibSb)

(B) Vernier caliper (Qeuieoflwii ssmeSliui)

(C) Profile projector (@mm-.cmued NIGIT@Ig2sL_iT)

(D) Optical flat (210119 860 Glemmi”)

Q1.Which type of measurement uses a slip gauge?

6THS QUEHEILITEOT DieT6IIL_Lq.60 6ivedll B&gh uweTU([HS SUIU(HISIDESI?

(A) Linear measurement (B iflweo iemesi(i))
(B) Angular measurement (8amesor iomesi(hy))
(C) Surface finish (Gwhumriiy apiq.ey)

(D) Form measurement (eu1q.6u Sieresi(h))

(Q12.Which measuring instrument uses a sine principle for angle
measurement?

@amemor Siermefil”_1g 6 emeEesT @&m_um’_emL_U UWesTU(HS &HID &(H6S 618)?

(A) Sine bar (em&6dr UMIT)

(B) Clinometer (Slemer@eormiBL™_L_if)

(C) Theodolite (HIGwWr@Lmemeor”)

(D) Autocollimator (@p1"_GLr@&T6eSIGwL_Lif)
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(Q13.Which one of the following is not a type of comparator?

65T 62 (1HGU6OT UMD 16O 6T HOUMTL L[} 636m&SWe060?

(A)Mechanical comparator (SwibSlr sbumm_LiF)
(B) Pneumatic comparator (eumuj &bunmmt_Lif)
(C) Vernier caliper (Qeuieoflwii &meSlou)

(D) Electrical comparator (iBledr&ibumm’_L i)

(Q14.The main function of a gauge block is:

Basgr GlensSledr (1 & &I G &Fweou (i) 6T65T 6oT?

(A) Angle measurement (@&mesor Sierefi(h))
(B) Standard length reference (flemeowneor Horé @ HIOL)
(C) Surface texture measurement (Gumuriiy Siemwliy Sieresi(j))

(D) Force measurement (6w iemesi(h))

Q15.Which measuring device is used to check the roundness of a component?

6(1h & Ml6dT UL Uuedoremu Sflumis e 618 & (HeM LWETU(HSSUUHISIDE?

(A) Roundness tester (eu1”_L_tiuesory @L_6ivL_1})
(B) Autocollimator (2,1 GLr@&reSGwL_Lif)
(C) Profile projector (1@mm-.cmuecd IGITOIER&L_IT)

(D) Height gauge (cmami”_ G&gh)

Q16.Theleast count of a vernier caliper commonly used in industries is:

@smleogicmmuileo Gungiauns uweTu(HidSUUGHID Geutefwit smeSltuflest

& OMIbHG 61600160l d 6078 6T60T 60T?
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(A) 0.01mm (0.01151B)
(B) 0.02 mm (0.02 1HIB)
(C)0.05 mm (0.05 1HIB)

(D) oaAmm (0.1618)

Q17.Which of the following isa non-contact type measuring instrument?

Sl6dT (M Gu6OT UMD NH16D 6THI @G TL_TiGl6d60M S DtemesiL () &(H6eN?

(A) Optical flat (<019 &8 60 Slemme”)
(B) Vernier caliper (Qeuieoflwit ssmeSlitiui)
(C)Micrometer (eow&GrmiBL_1L_f)

(D) Dial indicator (Lweo &6driq @& _Lif)

Q18.In limit system, the difference between maximum and minimum size is
called:
ourby (W emMUIled, SiSHBUL_&FID WhH MID & ODHSUL_&F Dieraysafleor s Shwmsb

GTGUGIT M) SIOP&HHUIU([HSIDE)?

(A) Allowance (Sigoywé))
(B) Tolerance (8&l145 8 651 6m10)
(C) Deviation (69608 60)

(D) Fit (Qurnpssib)

(Q19.Which measuring instrument is used in tool rooms for accurate angular
settings?

&(H6M Semmsatled gicoeSiuwmesr Gamemr SiembliLE61h &@LU UW6HTU(HISSUIU([HID

&N 618)?
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(A) Sine bar (e»&6br UM)
(B) Bevel protractor (Gueueo yBrmésL_nmméLiT)
(C) Clinometer (HlemorGeormiBL_L_if)

(D) Autocollimator (@p1"_GLr@&TeSIGwL_L i)

Q20.The instrument used for measuring surface roughness profile is:
Guhuriy &1q 6T 5 65T 6oL SWeSaUTSems DieTell LWETU(HSSUUHID &(mHes
e18)?

(A) Profilometer (0©@nm-19@eomBr_L if)

(B) Autocollimator (<" GLr@&TeSGw1"_L i)

(C)Optical flat (<0119 860 Glemme”)

(D) Sine bar (e»& 65t umiT)

Q21.Which type of fit ensuresinterference between shaft and hole?

& 6001 (h) LH MID Flewer SemL Bw Bmed arhuL_& &b QUTHSSLD 6T8I?
(A) Clearance fit (SooL_@euefl QU RS SD)

(B) Transition fit (onmun’_(H) QunIpSsD)

(C) Interference fit (Bpmeo @Qurrésib)

(D) Shrink fit (&5 &8 @QuHE&D)

Q22.Which of the following gaugesis used for checking external diameter of
shafts?

&0t (houL_rasalflesr Geuefliym 6l L& ems & sflumisbsst uwesTu(hid G&el 61g)?

(A) Plug gauge (Sloré Gagn)

(B) Snap gauge (eocormi) @& gn)
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(C)Ring gauge Ny Gagb)
(D) Feeler gauge (-Sooif @&gd)

Q23 Which principle doesan optical flat use for flatness measurement?
B9 6OLD Dl6M6L_19 60 DbUIq &860 SlemmL_ 6Tihg G&M_um’_emL_U

uWesTU(HS SIS SI?

(A) Sine principle (em&eor @sm_un(p)

(B) Interference of light (efl @ m&SH)
(C) Refraction (eSlevseo)

(D) Reflection (Qr&lueSliiy)

Q24.Whatis the standard length of a sine bar generally available?

OQungiauTs SlemL&@ELb emaedt um Hlemeowireor BeTib eTeiaIeTe)?

(A)100 mm (100 OIB)
(B)200 mm (200 OB)
(C)300 mm (300 OIB)

(D)500 mm (500 1HIB)

Q25.In metrology, which term denotes the reference line for surface finish
measurement?
@uwL_gmeogdlulled, G Huriiy (Lg.6 Siemesii g H&meor @& MUY G&m(h) eTeueumm)

1o &H&HUIUHSIDE)I?

(A) Datum line (516 @&m(h)

(B) Lay (®1emi0011)
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(C) Roughness (&19 601 88 661 61D

(D) Waviness (ieme0@uiteo 8 651 6m10)

Q26.Which device is used to measure flow rate in a pipeline?

GLmuiled L L 6N&lssems el 61hs & (Hed uwesTu(HS SUUHISEIDE?

(A) Venturimeter (Qeu@harflBL_L i)
(B) Bourdon gauge (GumiL_cir G eb)
(C) Dynamometer (emL_eor@omBr"_L_if)

(D) Tachometer (Lr@smiBL_L i)

Q27.Which law is fundamental to the measurement of force using a spring
balance?

oo Gliflrkl U 65T EMELL LIWETU(HSS] GUEYI DieT6SIL 19 65T Biig LuemL_& Gam_um(p)
o1g)I?

(A) Boyle'slaw (umiieSlesr &1°_L_1b)

(B)Hooke'slaw (98 &1"_L1b)

(C)Newton'slaw (1Bl 1" 1_6sr &1°_1_1b)

(D) Pascal's law (uneoseo &1L 1b)

Q28 Which measuring system uses Laser interferometry?

6TH S o6l (h) (P oo Boo&r & MmsbSHL 6oL U uweTU([HS SIS IDE)I?

(A) Linear displacement measurement (@pflweo &1_onhmid Siemesi(h)
(B) Pressure measurement (1135 51b Siomssi(h)
(C) Flow measurement (@ L ierefi(h)

(D) Torque measurement (s1phH & eugyl Sieresi(i)
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Q29.Whatdoes LVDT stand for in displacement measurement?

SLrhm Seresii”_1g60 LVDT eretrug ot 6lifleunseib 616616012

(A) Linear Variable Differential Transducer
(@piflwico UM [{) g TTeSTeL Uy 1)

(B) Linear Voltage Direct Transmitter
(@miflweb 1BledT 60T (1 5B Gbiig. iETyIg)
(C)Low Voltage Differential Transformer
(&b WledT6oT (P& MMM (H THH])
(D) Linear Variable Digital Transmitter

(B iflwedo wmmum_(H) 192811 L6 Sigoytiil)

Q30.In a coordinate measuring machine (CMM), which probe is commonly
used?

Gam-piig oot Sierefi_ () SwibSHlrsSleo (CMM) Qungyeuns eribg (@M
uwesTU(HSSUU(HISIDEI?

(A) Optical probe (=1,0119 8860 (BT

(B) Touch trigger probe (L& r"_fl&i 1@mm))

(C) Pneumatic probe (eumy 0@rm)

(D) Magnetic probe (&nibg 1@omi)

Q31 Which instrument measures torque transmitted by a rotating shaft?

&LEVID &600T (h HLSGID &iLpHE ueYIcne Sierell(Hib &5 618)?

(A) Dynamometer (emL_eor@uomiBr_L_if)

(B) Strain gauge (6for”_@qullesr GaHgh)
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(C) Torque meter (Lniié Br_1L_i)

(D) Tachometer (Lr@&smBL"_L_if)

Q32.Which type of comparator is most suitable for high magnification and
accuracy?

2 wif Quiflsnésibd whHmb HieoeSliwsSlh@E, Wlsa|b CuT(IHSsLomeoT SbUMTL L
org)?

(A)Mechanical comparator (SwibS\r sbumm_Lif)

(B) Pneumatic comparator (eumuy &bumme_L i)

(C) Electrical comparator (b6t &bumm’_L i)

(D) Optical comparator (<Uiq 8860 &bUNTL_L i)

Q33.Which element of surface texture represents the predominant direction
of tool marks?

G hHuriiy Siemwilled &Hedl HLkisetleT (P& &SI Slemsemw & HlsHE D Fo m)
618)?

(A) Lay (Siemiotiy)

(B) Roughness (s19 60188 661 65010

(C) Waviness (<160:60@urm6d & 65T 6mLp)

(D) Flatness (19 6mwp)

Q34.Which device measures pressure by balancing an elastic element against

applied pressure?

UWESTURHISSUUL L N(1R555816E TSNS R(h &60@E) o 6om Fliblemeoliu(hs sl

DRSS Semell(hlib & (568 615)?
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(A) Bourdon tube gauge (BuniiL_er @pmis 8ag2)
(B) Thermocouple (0&iGwnaiSler)

(C) Pitot tube (N@L"_ @omiy)

(D) Orifice meter (6 Seio BL"_LF)

Q35.Which type of tolerance is specified to control roundness?
QL $56Temwenll HL_(HUuhSS 6Ths aucns FSILS s 65T 6mLb

GOYILOUHSID&?

(A) Dimensional tolerance (ufloreoor &&IL8 8 65T 6oLD)
(B) Geometrical tolerance (2_peu &&045 & 65T6m10)
(C) Angular tolerance (@&neoor &&I1L5 8 65T 6mLD)

(D) Positional tolerance (HlemeotiuHé & 6o &SI 6T 6mL0)

Q36.The process of comparing an instrument with a standard is called:
6 (1H & (H6Nlemiu 63 (1 IHlemeoiun ot & (HETWL 65T UEI(HID G&F WO (P MM TEIRIT M)
1o &H&HUUHISIDE)I?

(A) Testing (8&n & cmeor)

(B) Calibration (Sierey 6856 81D)
(C) Verification (sflunii&s60)

(D) Adjustment (6@ &5 60)

Q37.Which instrument directly measures rotational speed of a shaft?

6ot (houL_G Sleor &b & Cous s ems Guiigwns Derell(Hib &Hel 615)?

(A) Dynamometer (emL_eor@uomiBr_L_if)

(B) Tachometer (Lm@a&mBL_L i)

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

(C) Torque meter (Lniié Br_1L_i)

(D) Stroboscope (sto1”_BrmBumsiv Bssmi)

Q38.Which comparator uses electric induction principle?
WlesTsmbsH S girevor_co Gam_um’_emLU LWETU(HISSHID SDUTTL_L T 6T8)?
(A) Pneumatic comparator (eumuy s&bummr_L i)

(B) Mechanical comparator (SwibSlr sbumm”_Lif)

(C) Electrical comparator (et &bumm’_L i)

(D) Optical comparator (<Liiq 8860 &bUTL_L i)

Q39.Which method is most accurate for absolute measurement of length?

o & &leoT (1 (LR emipwITesT emelil’ 1q M) D& GIcoeSILDT6oT (1P 6O 6T8)?

(A) End standards ((p1q & Hlemeosseir)
(B) Line standards (@an () Hlemevseir)
(C) Vernier scale (@euisofwi iorey@simev)

(D) Micrometer (6ow&GomBL_Lif)

Q40.Which device measures power output of an engine directly?

(15 SwihSIrs Sledr ueuir Geetluf oL Crrigwns Dereldl(Hib &pel 615)?

(A) Tachometer (Lr@a&smiBL_Lif)
(B) Dynamometer (6omL_eor@omBL"_L_if)
(C) Torque wrench (Lnié @urepé&)

(D) Indicator diagram (& esoriq @& _Lif L w&Sliymib)
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Q41.Which instrument is used to measure very small displacementsin the
order of microns?

oW HTTET Slomeiled Wled S &L mbmikisemer SiemellLU LWesTU(HID &(HeN
e18)?

(A) Vernier caliper (Qeuiesflwii smeSlu)

(B) Dial gauge (Lweb G&gh)

(C)Micrometer (6w &GomBL_L i)

(D) Feeler gauge (-Seoir @&g)

Q42 Which method is used for non-contact measurement of temperature?

@ L fSléoeomned Geutiublemeoemiu SiereslL U uWETU(HSSUU(HID (WM 6T8I?

(A) Resistance thermometer (e1$litIy @eutiuwmeofl)
(B) Mercury thermometer (Ungr& Geuliuwmeotl)
(C)Infrared thermometer (S6or-Uirm@mL"_ @eutiuwmeofl)

(D) Thermocouple (0&F@wraiSlerr)

Q43 Which measurement principle does a thermocouple use?

@5 F@wrasuller 61hs SiereSi(h Gsm_um’_eoL U uweTu([HS SISIDE)I?

(A) Seebeck effect (8@uU& aflomorey)
(B) Joule effect (23960 6N emoney)
(C)Doppler effect (Lmticor efemerey)

(D) Piezoelectric effect (w@sm sre0s1"_flé 6flemoney)
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Q44.Which measuring instrument is best for measuring thread pitch
diameter?

SHUGIeT Gl&& AL §ema el Amibhs &l 6187

(A) Thread micrometer (g1(pUY eowsGrmBL_L i)
(B) Vernier caliper (Qeuieoflwit ssmeSiciui)
(C)Optical flat (<0119 &860 Glemme’)

(D) Plug gauge (Slens @asn)

Q45 Which gauge is used to measure gap between mating surfaces?
Somewryib GuhHuriieenh s SHlenL_ulleonesr SemLGeusiflemw SiereslL_v

uwedTu(Hib &g 6187

(A) Plug gauge (Glorrd @asn)
(B) Ring gauge (fia G&on)
(C)Feeler gauge («Sooit Gsgb)

(D) Snap gauge (6hocorms @ o)

Q46.What is the purpose of a profile projector?

U@ -.cmued LI OlgedL_iflesr GHmd &b 6166T60T?

(A)Magnify and inspect profile (swefonrsomng GufenssH e O\&F11860)
(B) Measure torque (&b & cugpicmey Sier6fl(hs o)
(C) Measure temperature (@Qeutiublemeoemi Sieref(H&6o)

(D) Measure pressure (2113555 608 ior6il(Hs60)

Q47.Which instrument measures the straightness of a machine bed?

SwihSIr uHldemsuilest CniisSHlemi Serell(Hib &Hell 618)?
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(A) Straight edge (GmiGan ()
(B) Sine bar (e»&6br umi)
(C) Vernier caliper (Qeuieofwii &meSlou)

(D) Slip gauge (6o 681 &)

Qas8In surface texture, long wavelength errors are termed as:
Guhurty Siemwti§led ff 6oL Dicmeoiherib Ylem&6iT 6T M)

D11 &&UIU(H Sl 6T 6oT?

(A) Roughness (519 6015 8 661 6m10)

(B) Waviness (i6m60@urr6d 8661 6m1n)
(C) Flatness (819 6mip)

(D) Lay (Siemioiiy)

Q49.Which device measures liquid flow velocity in open channels?

Swibs sreoaumiiseflco Slrey g L Gous s oms Sierel({Hib &5 o18)?

(A) Orifice meter (6ifl-Sleio (Br™_L_if)
(B) Venturimeter (@exep sriflBL_Lif)
(C) Pitot tube (N@Ln_ @omiy)

(D) Anemometer (16t GomBr"_1L_if)

Q50.Whatis the least count of a standard metric micrometer?

@ungieureor @wL"_flé emwdGrmBL_Lflesr & emmibs 616oraflé 68 6T65T 6oT?

(A) 01 mm (0.1101B)

(B) 0.01mm (0.0161B)
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(C)0.02mm (0.02 1HB)

(D) 0.05 mm (0.05 1HIB)

Q51 Which comparator uses air flow restriction principle?

STHGOIL_L & &L (Houm’_ (i) Gasm_um’_emL_U LWESTU(HISSID SDUTTL L T 6T8)?
(A) Pneumatic comparator (eumuy s&bummr_L i)

(B) Optical comparator (<2019 &8 60 &Sbumm_L i)

(C)Mechanical comparator (SwibSlr sbumrre_Li)

(D) Electrical comparator (iBledr&ibumm’_L i)

Q52.Which device measures vibration amplitude of machines?

SwihSlrhiseflesr SiSliey urtuereme Sierel([HIb & (56X 618)?

(A) Vibrometer (emeutiGomiBL_L_if)
(B) Tachometer (LT@&mBL_L i)
(C) Torque meter (Lmiid BL_LiT)

(D) Dynamometer (emL_cor@uomiBL™_L_if)

Q53.Which oneisaline standard of measurement?

SlormeiiL_Lq 651 @& (h) hlemeowincor gy 618)?

(A) Slip gauge (6o 6Sl) Gagh)
(B) End bar (eregorc”_ umi)

(C)Ruler (oieray@ssmeo)

(D) Measuring tape (SierefiL_ () GLt1)
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Q54.Which method measures pressure in aeroplanes at high altitude?
2_wif 2_wrdSleo eflireorhisefled D155 5608 SemellL Ui LWGTU(HISSUU(HID

(oo 618I?

(A) Bourdon gauge (GuniiL_e5tr &)
(B) Aneroid barometer (< eormmiyp) vGrmBL_L i)
(C) Pitot tube (NGL"_ @pmiy)

(D)Mercury manometer (ungr& 1oGeormiBL™_Lif)

Qs55.Which gauge checks external taper of a shaft?

&eoor (hlaugSleor Geafliym sflemey sfluniés e uwesTu(Hib Gael 618)?

(A) Plug gauge (Glors @asn)
(B) Taper ring gauge (GL_tiuit fliy G gb)
(C)Snap gauge (6hoeormts Gasgh)

(D) Thread gauge (g1qp0y G&gd)

Qs56.Which instrument is used to measure very high temperature like in
furnaces?

2_emovsaifleo Gumeo s 2 wiihs Gleutiublemeoemi Sierell_U uwesTu(HID & (HeX
618)?

(A) Resistance thermometer (er&litiy Geutiuwmeotl)
(B) Mercury thermometer (Un&T& @eutiUTEOT)

(C) Pyrometer (ecou@mmBr_L_if)

(D) Thermocouple (Q&F@wrsisler)
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Qs57.In surface finish, which parameter is commonly specified in industries?
Guhuriy (wig 6fled GgMdlevgIemmMUSlcd GuNgieuTs @& MIGILUU{HID DieT6ySSTID
o1g)I?

(A)Ra value (<pii-ar n$lo)

(B) Rz value (&pi-Geo1”_ nSly)

(C) Waviness index (SiemeoBued & mIuT(h)

(D) Flatness deviation (519 6o 69ev&60)

Q58 Which device is used to measure mechanical strain?

SwbSlr S(gemey ereil([Hib &6l 615)?

(A) Torque meter (Lnid Br_L_if)
(B) Strain gauge (eio1”_@quSlesr @& eh)
(C) Vibrometer (emeuti@omiBL_L_if)

(D) Dynamometer (6oL_cor@omBL_L i)

Q59.Which measuring instrument is used to measure angles up to 5 minutes
accuracy?

5 KBl gleoeSws gL 61 Gamemrhiss merm o6t uwesTU(HIb &H6S 618)?

(A) Bevel protractor (@ueueo yBrmés_rmaLiT)
(B) Vernier protractor (Qeuieoflwii yGomas_mmésL_ii)
(C) Sine bar (em&6sr UMY)

(D) Autocollimator (@p1"_GLr@&T6eSIGwL_Lif)

Q60.Which oneisnota form measurement?

65T 211 G 60T QD MH16D 6T AL B DieIT6S () Di6D6V?
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(A) Flatness (819 6mw)
(B) Roundness (eut”_L_tiuedoryy)
(C) Parallelism (& ememorum (i)

(D) Roughness (819 6015 8 65T 6m10)

Q61.Which instrument is most suitable for measuring taper angle precisely?

&fley Canemnrsoms gleoeSlwiwns SerellL Ambhs &6l 6181?

(A) Vernier bevel protractor (Qeuiesflwi @ueusd yBTmaL_mTmésLIT)
(B) Autocollimator (<" GLT@&TeSGwL"_L i)
(C) Combination set (&mb9@eorexg65T @ &L )

(D) Sine bar with slip gauges (em&etr umii HMID soedls @& gha6ir)

Q62 Which comparator gives the highest magnification?

S15ls 0019 Witeor QUFISTEH S 660 QIPMHIEG D SIUTTL_LIT 6T8)?

(A) Mechanical comparator (SwibSlr ssbumrL_Lif)
(B) Electrical comparator (bledrsibumm”_Lif)
(C)Optical comparator (<Uq 6860 SIDUNTL_LIT)

(D) Pneumatic comparator (eumu &bumme_Lif)

Q63.Which of the following isa type of clearance fit?

SledT au(H 6D UMD M6 618 SleflwresdToiv 91" @& b?

(A) Shaft size < Hole size (6001 (i) Stomey < g1omerr Sierreyy)
(B) Shaft size = Hole size (86001 (i) Stomey = g1emerr Sierreyy)

(C) Shaft size > Hole size (& ctor (i) Sterey > gomer Sierey)

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

(D) Shaft size = Hole size with interference (&6tor(h) Sierey = giomer Siemey,

8oLyl 1L S 65r)

Qs64.Whatis the function of a slip gauge?

66 & shledT Lietoll 6165T 60T?

(A) To measure angles (Bameorihg cmer Stemed(Hig6o)

(B) To provide reference standard length (gnetr my omd 6m8 6110151, &60)
(C) To measure surface roughness (G hHumtiy &1q 60T 8 65T GO DI
S16m6li(H&60)

(D) To measure thread pitch g0y O&eme Sierel (& 60)

Q65.Which instrument is used for calibration of angle measuring devices?

@amevor o6l () & peil&smer Fifl@ & LWETUHID &HeN 618)?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)
(B) Protractor (yGuméL"_gméLii)
(C) Bevel gauge (Glueuco Bagn)

(D) Clinometer (Slemor@eormiBr™_L_if)

Qe6.In metrology, which error occurs due to imperfect calibration of
instruments?

@wL_greogdlulled, &(Hesafler &flE&LIS 6 @& MU (h) STTEOTLNS 6f HU(HID
Sleowp 618)?

(A) Systematic error (Siemwiy&mihs Slemip)

(B)Random error (FrhHm Gemip)
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(C) Personal error (e0fl0u”_L Slemip)

(D) Environmental error (&hHmtiym Semip)

Q67.Which device is used to measure torque in rotating shafts?

&LEVID & 60T (H&6iTled LMideme DemeilL U uwedTu(Hib &5H65 618)1?

(A) Dynamometer (6mL_cor@uomiBr_L_if)
(B) Torque meter (Lmid B _Lif)
(C) Vibrometer (coauti@omiBL_L_it)

(D) Load cell (si6mw @&60)

Q68.Which instrument is based on the principle of interferometry?

&L i~EuGTT@IL_ifl s UL 1g.65T Siig LiuemL_ufléd @FwWedU(HID &H6N 618)?

(A) Optical flat (@019 860 Slemmi)
(B) Slip gauge (6h06Sl1 Baeh)
(C) Vernier caliper (@euieofwi smeSloui)

(D) Dial indicator (Lweo &6briq G&1™_L i)

Qs9.In limit gauges, "No-Go" gauge checks for:

Sl Bagrsatled, "Crm-Ban" @&seh 16 H&NS LWETU(HISSUIUHISIDS)?

(A) Maximum material condition (SiHlasu”_& @Quir e Hlemeo)
(B) Minimum material condition (@eomibgsul_& Gunpeir Hlemeo)

(C) Surface roughness (G hHurtiy 819 607 58 65T GmID)

(D) Angular deviation (Gsmesor 6608 60)
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Q70.Which instrument is used for measurement of gear tooth profile?

Slwii ued swENeuTSems SierellL U1 LweTU(HID &(HeN 6T8)?

(A) Profile projector (@nm..cousco @ITOIERsL_IT)
(B) Gear tooth vernier caliper (Siwii uso @eusofwit &mreSIIULT)
(C)Optical flat (<019 860 Glemme”)

(D) Bevel protractor (@uevso yBoméL_mméLiT)

Q71.The sensitivity of a spirit level depends on:

e Ifl_ @eveuedicst 2 T SIn6sT 618 cmeott) GUN MIS & )7

(A) Length of bubble tube (@&W0lp @wruliesr Beribd)
(B) Diameter of bubble (@ 1Hl6or 691”1 1b)
(C) Thickness of glass (s etor ssoriiq u\65T H19.1065T)

(D) Temperature (@eutiublemen)

Q72Which property is measured using a planimeter?

SlermeotiBL_Lif 6T1Hg L6tor U Siemefl_U uwesTU(HSID&)?

(A) Surface roughness (GuwhHumiiy &1q 60T 5 8 66T 6ID)
(B) Area measurement (urtiuerey Siemesi(iy))
(C) Angle measurement (@&meoor Sierefi(h))

(D) Torque measurement (Lmiié iemesi(h))

Q73 Which type of error is unavoidable in measurement?

Siorefi"_1q.60 HMT&HE (PIg WIS Slemw 618)?

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

(A) Systematic error (Siemwiy&mihs Slemip)
(B)Random error (ErpHm Gemip)

(C) Gross error (Quifw Slemip)

(D) Personal error (e0fliu”_L Slemip)

Q74.Which device is used to measure small thickness of sheet metals?

& @QuwL_L cosaiflesT M &Lq 106518 6meT SemesLt1 LWeSTU(HID &(HEN 6T8I?

(A) Micrometer (eow&GrmiBL_L i)

(B) Vernier caliper (Qeuieoflwit ssmeSlitiui)
(C) Slip gauge (6iv6Sl) B&od)

(D) Feeler gauge (-Sooif @&gb)

Q75.In metrology, which method is used for measuring roundness?

©@wL_rreogdlulled, aul” L Uuesor 6mu o6l 6Tih& (Y 6mm UWETUHSSUUHISIDSI?

(A) Talyrond machine (@ iieonmedor” SwihSlirib)
(B) Slip gauge (60651 G gh)
(C) Vernier caliper (@euieofwi s&meSloui)

(D) Dial gauge (Lweo @& en)

Q76.The primary function of a dynamometer is to measure:

ooL_cor GomBL_LfledT (1 & 65T 6mLo Uefl 6187

(A)Power (5&8))
(B) Pressure (=211955b)
(C) Strain (&g omeon)

(D) Flow (g1 L_1b)

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Q77.Which instrument is used for alignment of machine tools?

SwihSlr & Heilseflesr Fremwiiyd@ uweTu(HIb &IHeN 6T8)?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)
(B) Dial indicator (Lweo &6or19 @&1"_L1i)
(C) Vernier caliper (Qeuieofwii &meSlou)

(D) Protractor (UGuméL _omésLii)

Q78.Which flow measurement device works on Bernoulli's principle?
@uir@eormeSludlesr GamL UL _1q 6T g LuemL_uSléd @&FWedU(HID UL SiemeSiL(h)

&(H6N 6187

(A) Venturimeter (@eupariflBL_L i)
(B) Orifice meter (e@ifl-Sleto B"_L_1f)
(C) Pitot tube (Q@L"_ @omi)

(D) All of the above (Bwh& storL_ Dievreor &)

Q79.Which type of tolerance specifies maximum permissible variation in a
part?

62(15 & MHl6d SiSHUL_&F SigSlésiul_L Geumium’_emL_d @& MILS[HID
L_IT60IT60T 610 618))7

(A) Dimensional tolerance (ufimesor L_meor6dr6io)

(B) Geometrical tolerance (yeSu§lweo L_meomedroiv)

(C) Surface tolerance (GwhHumiiy Lreoredrein)

(D) Angular tolerance (@&mewor L_meoredreiv)
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QQ80.Which property of a surfaceisdefined by "Lay"?

"@6v" 6TEOTUSHGOT eLpevLD eeIIIMISE&UIU(HID G hHuriiy uesery 6T8)?

(A) Direction of surface pattern (Gwhuriiy aigq eusHesr Hleme)
(B) Depth of roughness (819 60188 661 cm1oUGI65T SpIOID)
(C) Waviness height (=16me0@umed 2 wirib)

(D) Flatness deviation (s19. 6o 6Mev&60)

Q81.Which comparator provides the highest magnification among the
following?

SledT eu(HeUesT UMD M6 DiSlBUL_& CUFIETE &S 6mE UIPHIED SHLUMTL LI 6T8I?

(A)Mechanical comparator (SwibS\r sbumm_L i)
(B) Pneumatic comparator (eumuy &bummt_Lif)
(C) Electrical comparator (b6t &bumm’_L i)

(D) Optical comparator (<Liq 8860 &bumm_Lif)

Qs82.Which instrument is commonly used for concentricity measurement?
speit Mlememrey (Concentricity) Sierefil_Lq hH@&U @ungieuns uwesTU(HiSSUIU(HID

&(HoN 618)?

(A) Tool maker’s microscope (&pef swnfliumeni mctor Gevormds &)
(B) Profile projector (@ .cmueco NiGIm©@ieeéL_ii)
(C) Autocollimator (1" GLr@&m6SIGwL_Lif)

(D) Dial test indicator (Lweo @16l &6oriq G&1™_L i)

Q83 Whatis the basic principle of pneumatic comparators?

Ueofliy 1om”_1q & sbunr_ L fseflesr Dig liusmL Gsm_un (k) 6T6orcor?
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(A) Pressure drop due to restriction (&6mLwmed ahHu@Ibd D(R558 & Dm6y)
(B) Change in resistance (er&lit19l66t omhHmib)

(C) Deflection of pointer (&g uSlesr 691608 60)

(D) Reflection of light (spefluSiesr Sir&luediviy)

Q84.Which type of fit ensures no clearance and no interference?

6TH S s QUT(HS S SonL GlauetlGur & misEGmm &cocomncd &Hd G b?

(A) Clearance fit (SoomL_@euefl QUTIHSHSD)
(B) Interference fit (& m&SH Qur(HSshD)
(C) Transition fit (wrmb GuTEHSSD)
(D) Shrink fit (s@pmhi@ b U HE&1b)

Qss.Surface lay refers to:

@wmhurtiy “Gev " 6T6dTUG) & MG SIDS:

(A) Geometrical form (auig 6u69lw6d GIg 6MID)

(B) Predominant direction of surface pattern (Gwhuntiy euig 6us Slesr Glrsmeor

Slona)
(C) Surface waviness (Guhuriiy Siemeo@uné @)

(D) Tolerance band (&5 8 66t om0 61°_L D)

Qs86.Which gauge is used to check the pitch of screw threads?

S snpoysatlest Y1&ems sflumisss oTbgs G gh LWGTU[HISSUUHISIDE?

(A) Thread pitch gauge (i@ & & Gsgn)

(B) Ring gauge (i @& on)
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(C) Snap gauge (eiveormts Gagh)

(D) Plug gauge (Slens @asn)

Q87.Which one measures the straightness of a surface?

615 GuhHurtitlcsr Gris Slemwé &1 Sl (Houg) 618)?

(A) Straight edge (Gmii & 5] Doy &ibA)
(B) Sine bar (em& 66t umi)
(C)Bevel protractor (@ueued yBmmésL_TmésL i)

(D) Vernier height gauge (Qeuisoflui 2 _wir @ssn)

Qs8.The most suitable instrument for flatness measurement is:

1 LD6OT Diem6SiL_Lq (@ WIS 6 D GUN(IHSSLmeT &(H6eX 6T8)?

(A) Optical flat (@019 860 Slemmi)
(B) Slip gauge (6h06Sl1 Baeh)
(C)Micrometer (6ow&GrmiBL_1L_if)

(D) Vernier caliper (@euiesfuri smeSlOui)

Qs89.Which of the following is a direct measuring instrument?

SledT 6u(HGu6HT UMD 6D 6T GBIy DiemeSiL (i &Heil?

(A)Micrometer (emwd@rmiBL_Lif)
(B) Slip gauge (60651 G gh)
(C) Dial comparator (Lweéo &bumrL_Lif)

(D) Pneumatic comparator (eumuy s&bumyr_L_if)

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Q90.The ratio of output to input of a measuring system is termed as:
6 (15 o6l (h) StemwUller Geuaflium’ 1 (HEGWb 2 o6t Lq (HEG et 65&lS50D

STRIRIT M) SO &H&HUIUHISIDSI?

(A) Accuracy (gyeoeSlwib)
(B) Sensitivity (2_eoorii Slmeor)
(C) Precision (mic_uib)

(D) Calibration (iereSii”_ () #fl@ &S 60)

Qo1In metrology, hysteresis error is mainly due to:

©@wL"_greogdlulledp andlev @LflerSleiv Slemip 618 6oTT60 arHUHSHImE?

(A) Friction (2_mmiiey)
(B) Backlash (965t oL@ 6uefl)
(C) Elastic deformation (Sweoumeor 69608 60)

(D) Temperature variation (@eutiublemeo wmmum(h)

Q92.Which type of tolerance isapplied to surface roughness?
G hHurtiy &1q 66158 ST &) 6THS s &F&IUILS S ST 6O

uwesTU(HSSUUHISIDEI?

(A) Geometrical tolerance (eu1q ueSliuco &S5 8 65T 6mID)
(B) Dimensional tolerance (uflwresor &8I0 5 8 65T 6mID)
(C)Form tolerance (eu1q 63 #8018 8 65T 6m1D)

(D) Surface finish tolerance (GwmhHurtiy (wiq 6 &&H LSS 66T 6mLD)

Q93.Which flow measuring device works on Bernoulli's principle?

Ouiieo)cv6d Gam_um’ g 6o SwibiEb L L Sierefi” (i) &pel 618)?
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(A) Orifice meter (<=pM-96r0 Br"_L 1)
(B) Turbine meter (Lifemuedr BL_L_if)
(C) Electromagnetic flow meter (Blesrambs gprL B i)

(D) Ultrasonic flow meter (Sieor”_gn@ameofids g1 (B1° L if)

Q94.The power of an engine is measured by:
(5 SWiHSITS ST 5865 6185601 eeold Stereil_UUuHSIm&i?

(A) Tachometer (GL_@a&smB1"_Lif)
(B) Dynamometer (emL_eor@omiBr_L_ij)
(C) Manometer (om@eormBr_L_if)

(D) Anemometer (<160t GomBL_L i)

Q95 Which instrument is used for angular measurement in precision optical
work?

&leo6eSlbmeoT Ll &8 60 uenilasafleo Gaimeoor Dierefil Lq H@& 6THs & (HoX
uwesTU(HSSUU(HISIDEI?

(A) Autocollimator (@1 BL1@&TeS@wL_L i)

(B) Clinometer (Slemer@eormiBL™_L_if)

(C) Sine bar (ew&6dr UMF)

(D) Bevel protractor (Gueuso yGrmésL_rmésLiT)

Qo96.Which comparator uses light interference fringes for measurement?

Siorefi_1q H&Ts 66ifl @ M & (H C&m(Hemortl LWETU(HSSID SDUTTL_L T 6T8)?

(A) Optical comparator (= Uiq &8 6o SbDUMTL_L )

(B) Pneumatic comparator (eumuy &bumre_L_if)
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(C) Electrical comparator (ibledr&bumm_Lif)

(D)Mechanical comparator (SwihS)r sbummr_L_i)

Q97.Which device measures torque directly?

Lmi&-g2 Ghirigwins Serell(Hib &5l 618)?

(A) Prony brake dynamometer (18@rmeofl 918ré emL_corGomBL_Lif)
(B) Orifice meter (<% f-Gl6ho BL_L_if)

(C) Venturimeter (@6u@h &, fl BL_L i)

(D) Tachometer (L @&smBL_Lif)

Q98.Which erroriseliminated in differential measurement method?

Caumium”_ () SiereliL_(H) (Y emmuiled 618 HEH&SILHISIDG)?

(A) Systematic error (Siemwuiy Slemip)
(B) Instrumental error (&5 65 Glemip)
(C) Environmental error (&b mégpeo Slemip)

(D) Zero error (y, 2w Slemip)

Q99.Which device is used for measuring very small displacements?

lesd i S1L_wrbhmrkisemer SereilL 61hs & (Hel LWesTU(HSSUIUHISIDG)?

(A) Linear Variable Differential Transformer - LVDT
(Bmpiflwebd i myb Geumun (i bl - LVDT)
(B) Vernier caliper (@Qeuieoflwit ssmeSiciuim)

(C)Micrometer (emd@rmiBL_Lif)

(D) Slip gauge (6068t & gd)
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(Q100.Which system of fitsis commonly adopted in India?

SpSlwnelleo Gungieuns SlestubHDUIU(HID CUT(HSS (WY D OWE)?

(A) Hole basis system (gyemer g iuemL (wpemm)
(B) Shaft basis system (&egor (i) ig LuemL (L 6OM)
(C) Interference system (@& midb&H (P oom)
(D) Clearance system (&ooL_@6uefl (pomm)

Q101 Which type of fitis obtained when the largest shaft is smaller than the
smallest hole?

6 (15 glememullesT Wl & Sl iememeu 6l &6vor () sTUGUTHID HAdlwsTs
SH&GDEUTE SlevL &@b QUTIHSSHID 618)?

(A) Clearance fit (oo @e6vefl QU EHE D)
(B) Interference fit (& m&SH Qur(pSsD)
(C) Transition fit (wrmub QU EHSSD)
(D) Shrink fit (&G b GuUIEHESID)

Q102 Which instrument is used for measuring gear tooth thickness?

Swii ubhsefledT Hlq emeoTs BT SIL 6THS &(HeM LIWETU(HSSUUHISIDSI?

(A) Gear tooth vernier caliper (Swif uso Geuiesfurt &TeSIIIUIT)
(B) Bevel protractor (@ueueo yGomésL_mmésL i)

(C)Micrometer (emd@rmiBL_Lif)

(D) Sine bar (emw&66t umiT)
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(Q103.Which type of error occurs due to parallax in reading?

oum E0Sl6d UMTED&6/0 BTGNS 6T HU(HID YlemLp 6187

(A) Observational error (&euesfliys Slemw)
(B) Environmental error (&b myé & 1060 Glemip)
(C) Instrumental error (&@meSl Slemip)

(D) Random error (ErhHm Nemip)

(Q104.Which comparator uses amplification by mechanical linkages?
6Tihs SUMTL_LIf SwihSHIr Sememriiysserr cyeold Quflsnéssemnsl

uWeSTU(HSSISIDSI?

(A)Mechanical comparator (SwibS\r sbumm_L i)
(B) Electrical comparator (Slesrsbumm_L i)
(C) Pneumatic comparator (eumuj &bummL_L i)

(D) Optical comparator (<Uiq &860 &bumTL_L i)

Q1o5.The instrument used for flatness testing in high precision laboratories is:
2 _wif &ieoeSIiu IesHIS6iT60 Hlq 1b66oTE & 600THSIL_U LUW6ETU([HSSUU(HID

&HoN 618)?

(A) Optical flat (019 860 Glemrmi”)
(B) Vernier height gauge (@euisohwii 2 _wir @sgh)
(C) Slip gauge (6w 68l B&gd)

(D) Dial indicator (Lweo &6driq @& L i)

Q106.Which measuring system directly converts physical quantity into digital

form?

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

2 | 60 DieT6)&H6m6r GbiTig Wins 1g. 88" L 60 aIlg QIS MHMID SiemeSi ()

SieoUY 618)?

(A) Analog system (icor60md DiemioliLy)
(B) Digital system (19.20)"_L_60 Sicmiotiy)
(C) Hybrid system (& ememorey] Sieminliny)

(D) Mechanical system (SwihSTr Siemiorin))

(Q107.Which of the following gaugesisa limit gauge?

65T 62 66T GUIH NH16D 6T UMb BB el (@& D?

(A) Snap gauge (6hoeormts @agbd)
(B) Vernier caliper (Qeuieoflwit ssmeSitiui)
(C)Micrometer (6ow&GrmiBL_Lif)

(D) Dial indicator (Lweo &6br1q Bss1"_L_IF)

Qio8.The instrument used to measure taper angle of a shaftis:

62(1h H6vorLq.601 GLULT Bamerseme tomeilLU wesTU(HiSSUUHID &5 6T8)?

(A) Sine bar (em&6sr uniy)

(B) Bevel protractor (Gueueo yGomasL_mmésL_ii)
(C) Autocollimator (1" GLr@&m6eSIGwL_Lif)
(D) Slip gauge (6068t & gb)

(Q109.The process of comparing an instrument with a standard reference is
called:
62(15 & (HNlem ihlemeowimest @& MIUTE_ (HIL65T GeUINI(HID @ &FW6d (L MM GTEIGUT M)

1o &H&EUIUHISIDE)I?
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(A) Precision (mi”_uib)

(B) Calibration (sierefii”_ () #fl@&s60)
(C) Sensitivity (2_eoorii &Hlmeor)

(D) Repeatability (Besor (i @&iws Smebdr)

Q1o.Which instrument is used to measure small angular tilt of a surface?

6015 GuhHurtGicsr FlMlw Gamesor 6Xlevs emeo SierediL U UwTU[HISSUIUHID &(H6s
e18)?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)

(B) Vernier bevel protractor (Qeuieofliui @Queco yBrmé L _mmaLiT)

(C) Clinometer (Slemor@eormiBL_L_if)

(D) Optical flat (=109 8860 Slemme”)

Qm.The term -allowance"in fits refers to:

@UNHSSHIG6TIE “Dis)IDS) " THTUSI @ M @D @UIT(IH6IT 6T65T 6oT?

(A) Difference between maximum material limits (SiSlasur”_& Gurper
eurbLseiflest 65915 SHlwm&ib)

(B) Intentional difference between hole and shaft (giemer b mub &edor (i)
SomL_@uiumeor SI_L bl eN&Shwm&ib)

(C) Error due to machining (SwibSlr @&weount’_L_med erhu(hlid Slemip)

(D) Deviation from nominal size (Quwrer ey SiereMNeSiahibg) 65608 60)

Qn2The stylus type instrument is used for measuring:

61D GOL_G06ID UGS & (IH6H 61608 & H6voT&HSIL_U LWGSTU(HSSUUHISIDE?
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(A) Surface roughness (G hHurtiL &1q 60T 58 65T 6mLD)
(B) Angle (@snemorid)

(C) Flow (gL_Lb)

(D) Force (eusy)

Q3. Which principleisused in LVDT?
LVDT-&6vo uwsesrupiéstiupito @sm_un (i) erg)?

(A) Electromagnetic induction (blesrambs gmesorL_co)
(B) Capacitance change ($imer iomhHmib)
(C) Strain gauge resistance (OB &Slpey Caeh er&Hlitiy)

(D) Piezoelectric effect (smuBuwimstovsL”_flé eflemoreay)

Q14 Which method is used for measuring large flow in pipelines?

GLmisofled DiHle LI L§6ms Siereil_U LesTU([HISSUUHID (P DM 6TS)?

(A) Venturi meter (@eu@h gy fl Br"_L i)
(B) Rotameter (Gomi_L_miBL"_L_if)

(C) Orifice meter (<=1, fl-l6io BL_L_1T)
(D) Pitot tube (M@ @omiy)

Q15.Which instrument measures force using elastic deformation?

Sweouneor 6608 6meolt LIETU(HSS] 6ueYIcmen Siermell(Hib &HeN 6187

(A) Proving ring (yem el i)
(B) Dynamometer (6oL_eor@omiBi"_L_if)

(C) Load cell (Beon (i) @&6d)

(D) Strain gauge (Qp&ipoy Caed)
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Qne. Which surface texture parameter represents the arithmetic average of
deviations?

san&ifl eflevs St semfls samaflemw @& mMlé @b GuhHuriiL) Doy Sierey 6T8I?

(A)Ra (<pif-ar)

(B) Rz (pii-@eroL")
(©) Rt (wi19)
(D)Rq (-8,

Q117.Which system of tolerances and fitsis recommended by ISO?

ISO uflibgremréEGb F&lILS S 65T 6o WH MID CUTHEHS (DM 6T8)?

(A) Hole basis system (gyemer g luemL (pemm)
(B) Shaft basis system (&egor (i) ig LiueoL (L 6OM)
(C) Both (& esor (Hiib)

(D) None (wngib &eoemev)

Qns8.Which device measures power output of an engine in actual running
condition?

SwihSIrb SwhiGb Hlemeoulleo &8 Geuetlui emL SieTef(Hib &Hes 618)7?

(A) Brake dynamometer (9@ré omL_eorGomBL_L_if)
(B) Indicator diagram (S esoriq @&1"_L_ii 6oL w&HlTmib)

(C) Tachometer (L @a&smBr"_L1i)

(D) Strain gauge (QpSlipey Gsed)
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Qn1o.Which error arises due to worn out screws in measuring instruments?

Stemefi”_(h) &pedsefleo kulanththa Sis@senned erHupid Gleomw erg?

(A) Backlash error (961 SomL_Geuesfl Slemip)
(B)Zero error (y,e2w Slemip)
(C)Random error (ErhHm Gemip)

(D) Observational error (&euesfty Slemp)

(Q120.Which instrument uses piezoelectric crystals for force measurement?

oueYl Sierefil”_Lq (H@& emuBwimereos L iflé HleoL 6o LwETUHSSID &(TH6N 6187

(A) Load cell (Beon(h) @&6v)

(B) Proving ring (yem ek flrb)
(C) Strain gauge (Op&Slipey Caeh)
(D)LVDT (erév.6Ml1q.1q)

Q121.Which principle is used in pneumatic comparator?

oumy sumrL_L fled uwesTuHiSHSUUHID Cam_um(h) 61g)?

(A) Variation in air pressure (&mbmpss Goumiun(p)

(B) Variation in electrical resistance (Dleor er&Hliiciy Geumyum(i))
(C) Magnetic induction (&nibg ginesorL_eo)

(D) Optical reflection (spefl SirHlueSiiy)

Q122 Which type of error occurs when an instrument does not start from
zero?

(b &(H6N | S2wiS Sled QB TL_hisTedl_Lmed aribu(hlid Glemip 618)?
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(A)Zero error (y,g2w Slemip)

(B) Calibration error (£fl@&115 60 Sleomw)
(C)Random error (ErhHm Gemip)

(D) Backlash error (Slesr &omL_@euefl Glomip)

Q123 Which gauge is used for checking the straightness of shafts?

&evor (hasoiflesr Gmii s Slemw ufl@snSHlé s o1ihs @& LwesTU(HSSUILHISIDG)I?

(A) Straight edge (GmiGan ()
(B) Snap gauge (eioeormi) @& eh)
(C)Ring gauge (fliy G&gd)

(D) Plug gauge (Ciond @asn)

Q124.What does Taylor's principle state for gauges?

@L oo Gsm_un(h) &8 @H&sTs 6T6ms Fo MISIDS)?

(A) GO gauge checks maximum material, NO-GO checks minimum material.
(GO Bagr Mlsur_& Gunaper, NO-GO Bagr @ ommibsuLl_& Gun(pemerd
BU_HOUESSID.)

(B) GO and NO-GO gauges must be identical.

(GO wHmid NO-GO Bagrseir sp@rr wnSlflwnes S(mHé e Geuesor (Hib.)

(C) Gauges should alwaysbe adjustable.

(Bagsr sriGUTHID &NEFLILGSe 19 SIS E(MHdk® Geaucttr (Hb.)

(D)Only GO gaugesare used in industries.

(@amdlevsafleo GO Basgrsar w1 (NG uwesTuhHSSUIL([HIEIGTD6OT.)
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Q125 Which method is used for non-contact measurement of surface
roughness?
Guhuriy &lq 616 5 ST emWwemWS GG TG0 Dol U uwTU(HSSUIU(HID

(WP 618I?

(A) Interferometry (86rLii-@QuBITGIDL_)
(B) Stylus method (6o emL_sveio (1p 6DM)
(C)Replica method (@miefan (i smm)

(D) Scratch test (6o &nm_& @& s emeor)

Q126.Which device is used to measure torque of rotating shafts?

&LOEYILD & 600T (H&6TIET &LP6d UENIEmE (LMTTd) SteredlL U1 uwesTU(HiSSUU[HID &(HeM
o1g)?

(A) Dynamometer (6oL_cor@umBr_L i)

(B) Torque meter (Lmié B _L i)

(C) Strain gauge (Qp&lipey Gaed)

(D) Tachometer (L @&smBL_L if)

Q127.Which factor affects accuracy of slip gauges most?

oiv6dlt @& s arflesT Hicv6eSus ems DiSleb unSlé @b srremntl o18)?

(A) Temperature (@eutiublemeo)

(B) Material hardness (@unpeflest &9 6018 8 65T 6m10)
(C) Surface color (Gwmurtiy Himib)

(D) Shape (6u1q 6uib)
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Q128 Which measuring instrument is based on Bourdon tube?

GuniiL 65t G LmudesT Silgq UusmL udléd G&weou[HID o6l (b &(mHes] 618)?

(A) Pressure gauge (11955 Gsg2)
(B) Flow meter (gL B i)
(C) Tachometer (GLG&smBL_L i)

(D) Dynamometer (emL_eor GomBr_L_if)

(Q129.Which of the following isa secondary transducer?

65T 62 66T GUIH N16D 6T I &I 6evorL_ib [Hleme M <@ b?

(A) LVDT (6160.6M19 1q.)
(B) Thermocouple (@& GwnaiSler)
(C) Strain gauge with Wheatstone bridge (On&Slipey @a b + 651°_&@Lmedr umevid)

(D) Piezoelectric crystal (smu@wimerendi”_flé HeroL_6o)

(Q130.What is the standard reference temperature for dimensional metrology?

uflioresor Sierefii_1q Hesmeor Hlemeowimeor @MU (H GeutiubHlemed 61g)?

(A)o «C (0 “@&)

(B) 20 «C (20 “@&)
(C)25 C (25 “@#)
(D)30 «C (30 “@&)

(Q131.Which device is used for measuring angular deflection in machine tools?
SwihSlr &medlsefleo Gsmemnr 6flevsscmed et uweTU(HlSSUU[HID &(HEN

61g)?
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(A) Autocollimator (1" GLr@&m6eSIGw1"_L i)
(B) Bevel protractor (Gueueo yBrmésL_mméLiT)
(C)Clinometer (Slemer@eormiBL_L i)

(D) Sine bar (e»& bt umit)

Q132 Which type of dynamometer absorbs power during measurement?

Sierefi’_1q 61 Gung) F&Slemw 2 MlEh &b emLcorGmBLl L i 618)?

(A) Absorption dynamometer (2_il@hs&itb 6oL_eor@mBL_L i)
(B) Transmission dynamometer (ufioribm coL_corGumBr_L i)
(C) Hydraulic dynamometer (SrSlwedo emL_eor@omBL_L_if)

(D) Electrical dynamometer (iBlesr&mr 6m1_cor GuomBL_L_if)

(Q133.Which property of a surface does "lay" represent?

& Buhurtifiss "lay" srems & DdbSmE?

(A) Direction of tool marks (&@pef) sL_hiseflesr Hleme)
(B) Height of irregularities (£rhm & 66t smwullesr 2 _wirib)
(C) Waviness (<16060@umedrm & 65T 6mib)

(D) Arithmetic mean roughness (&e0fls Frmaf s1q 6ot 88 66T 6OLWD)

(Q134.Which comparator provides the highest magnification?

IiSlsul_&s OUflsnsEssoms Siefle@Eb sbunTl_L i 61g)?

(A) Mechanical comparator (SwibSlr ssbumrL_Lif)
(B) Optical comparator (119 &&6o Sbumm_Lif)

(C) Pneumatic comparator (eumuy &bummr_Lif)

(D) Electrical comparator (iBlesr&ibumm’_L i)
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Q135.Which of the following isa displacement measuring device?

65T 621 66T UMD NH16D 6THI SL_LMHM o6l () &(HEN @G b?

(A)LVDT (6160.6M.19.1q)
(B) Thermocouple (0\&iGwnaiSler)
(C) Hygrometer (Frtiug (BL_Lif)

(D) Barometer (=11g&siomeofl)

Q136.Which tolerance system is most economical in manufacturing?

swirflileo DiSle @QunEpenmEINs Sl6mrbi@E b F&IILE S 65T LD (L 6OM 6T8I?

(A) Hole basis system (gyemer iq luemL (pemm)

(B) Shaft basis system (&egor (i) ig LueBL (L 6OM)

(C) Interference fit system (& m&SH OuI(HHS (WMD)
(D) Transition fit system (ormtb QU (K58 (WMD)

Q137.Which device uses a float to measure fluid flow?

Slrey @11 §Homs SemeSlL uminng ems (float) uwesruhHls &b &Hes o1g)?

(A) Rotameter (Grm_L_mBr_L_if)

(B) Venturimeter (@eu@p g, fl Br"_L i)
(C) Orifice meter (<fl~Sleio BL_Lif)
(D) Pitot tube (Q@LnL"_ @pmis)

Q138.Which is the international standard for surface roughness measurement

symbols?
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GuohHUITiL) 819 60188 65T 6oID DieTeSL_ () & MUSHE O sTeor &1 6e1Bs & Hleneowimeor
T8I

(A) ISO (g2.61600.5)

(B) ANSI (qr.o7667.6760.82)

(C) BIS (8\.g.616i0)

(D) ASME (a1.67600.611D.7F)

(Q139.What s hysteresis in measuring instruments?

Sierefil”_ (i) Hpflseifled andleivL_F&leio eresTUS) 6T65T60T?

(A) Difference between upscale and downscale readings
(@uoéoBHraSu LHoIb EpGHIESL e Alyseflcr cilsSureib)
(B) Zero error shift (y gow Slemip wmmized)

(C)Random noise (Erbm &&51D)

(D) Backlash error (Sesr SomL_Geuafl Giomip)

(Q140.Which device is used for coordinate measurement in modern industries?
mpeSeor @sMPlevsafied ga L (H (coordinate) Meresi” 1q H@& VWESTURISSUL(HID
&(HoN 618)?

(A) CMM (ga."_(5) erefic_([H) SwibSlmid)

(B) Vernier caliper (@Qeuieoflwii ssmeSiciuim)

(C) Slip gauge (6w 68l B&gd)

(D) Bevel protractor (Gueuso yGrmésL_rmésLii)

Q141 Which instrument measures angular velocity of rotating shafts?

sLpEYID & 6vor (hasatlesr Gasmeoor Gouss s ems Sterall(Hib &(mHed 615)?
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(A) Gyroscope (emge@rmeio@asir)
(B) Tachometer (GL@a&smiB1"_L_if)
(C) Clinometer (HlemorGeormiBL_L_if)

(D) Dynamometer (emL_cor@uomiBi"_L_if)

(Q142.Which is the main disadvantage of mechanical comparators?

SwihSIr sounr’ L Fseflesr (p&&hw @oemmurn(h) 61g)?

(A) Low magnification (@&eomhs Quflsnésin)
(B) High cost (=158 Gsco6y))
(C)Requires power supply (1Blest&mmib @& 6m6u)

(D) Fragile construction (erefl&lebp 2_6mL_wjib Dicmioliy])

(Q143.Which property of measuring instrumentsis tested by gauge R&R study?
Sierefi_(h) spedlsaflesr erbs uetory gauge R&R Suiieureo
ufl@anSléastuhHi&ma?

(A) Repeatability & Reproducibility (Besor (hii> @ &g Smedr wbHmitb w myuig ujib
2 (Houn&&SSImeor)

(B) Accuracy (gieoeSlwid)

(C) Sensitivity (2_eoorii &lmedr)

(D) Precision (mL_ub)

(Q144.Whatis the function of an orifice meter?

eoifl-Sloro 1BL_1_fledt uewfl 61651 6OT?

(A)Measure fluid flow rate (Hizen @1° L eNEBHoms ieres(H60)

(B) Measure pressure (195855608 iemeil(Hs60)
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(C) Measure torque (Lmié Sieref(H&6o)

(D) Measure displacement (8L wnihmibd Sieref)(5&60)

Q145 Which material iscommonly used in slip gauges?

o edlt @& ghssaitled GuTgIeUTES LWIGSTU(HSSUIL(HID CUIT(IHEIT 6T8)?

(A) High-grade steel (2_wii &1 o1-@)
(B) Brass (915 & cmer)
(C) Aluminium (Sigpidleoilwib)

(D) Bronze (@6ussorseoib)

(Q146.Which instrument measures vibrations of machines?

SwihSlrhiseflesr SiSliesemner Serell(Hib &Hed 618)?

(A) Vibrometer (emeuti@omiBL_L_if)
(B) Tachometer (L @smBr_L i)

(C) Oscilloscope (<2, Boomsiv Basii)
(D) Strain gauge (Qp&lpoy Gaed)

Q147.Which system ensures uniformity in tolerances internationally?
&Fieu@sH & Siaraliloo &&IULS 86T emwuiled G 65T emwemil 2 MISINU([HISSHID

(poeom 6181?

(A) ISO system (g2.61610.69 (P ™M)
(B) BIS system ().e2.616/0 (1p 6om)
(C) ANSI system (er.6166T.6T610.82 (1p 6OM)

(D) ASME system (&1.6160.6T1D.FF (Lp 6M)
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(Q1a8.Which factor defines the sensitivity of a measuring instrument?

6 (15 o6l (h) &mHeNudlesT 2_6oorii Sl et uEHIUMISED STewfll 6157

(A) Smallest value it can detect (<18 &etorL Dl de 19 W 1Ol&E HHIW SO
(B) Maximum range (Si$l&ul’_& euribly)

(C) Material used (LwesTURIGBSVILL_L GUN(H6IT)

(D) Operator skill (Swé@miflesr Himedr)

(Q149.Which instrument is used for precision measurement of angles up to
seconds?

oNl6oTITLg & (6Th & (& Sievedlmeor Gamemr Siemeiil Lq.hH@E LWETUHISSUIU(HID &Hel
o1g)?

(A) Optical dividing head (@119 8860 9116 860 & cmevwienfl)

(B) Bevel protractor (Quesed yBrméL_mmésLii)

(C) Vernier protractor (@Qeuieoflni yGrmés L' _gméLi)

(D) Clinometer (Slemor@eormiBL™_L_if)

Q150.Which gauge is used to check thread pitch diameter?

@smevor (i) G1H6oT 69l L_H6ms ufl@anSlés o1hs G& sl uwesTU([HISSUUHISIDEI?

(A) Thread micrometer (@gmesor (i) cowd@umBL_L i)
(B) Plug gauge (Cioré Bsson)
(C)Ring gauge (s Gagd)

(D) Snap gauge (eiveorns @agh)
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Q151 Which type of fit ensures a shaft will always have clearance with the
hole?
615 & 600T (h) TUBUTFID FlomomL 65T GemL_Glaset] 018 T60oTLq (18 EHD CIEHEIWIT 6T

@QuNHS SO 615)?

(A) Interference fit (Semevoriiy @unHSS1b)
(B) Transition fit (ormyur () @uN(HSSD)
(C) Clearance fit (S emL_@6uafl @QurHS D)
(D) Shrink fit (s:qp &8 @QuI(HE&D)

Q152.Which instrument is most suitable for flatness measurement?

BL_6OL 8601 oL e el DiSle @uT(hS SLomeot &(Hed 6T8)?

(A) Optical flat (<019 860 Glemme’)
(B) Vernier caliper (Qeuieoflwii ssmeSiciurm)
(C)Micrometer (6ow&GrmiBL_L_if)

(D) Comparator (&ib@uGri”_L i)

Q153 Which method is used for non-contact surface roughness measurement?
Qs L1y &eveomed GuwhHuriiy sTHIPI[HS & 65T e e SerellL_Uu(HID (L 6Hm

618)?

(A) Stylus method (6o emL_sveio (1 6m)

(B) Pneumatic method (Bl w196 (pemm)
(C) Optical method (2019 &&60 (Womm)

(D) Replica method (m&60 (p smm)
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Q154 Which comparator works on the principle of balanced lever system?
61h8 HIGUGTL_L I Fioiblemeo S(1geme (i somudlesr ilg liusmL_udled

@sweouHSIng)?

(A)Mechanical comparator (SwibSlr sbGuGTL_LiT)
(B) Electrical comparator (Sledramr ssibGuBm_L_if)
(C)Optical comparator (<Uiq &8 60 &DGUGTL_LiF)

(D) Pneumatic comparator (il om”_1q.6 &ibGuGTL_L i)

Q155.Which instrument is used for torque measurement in rotating shafts?

&LOEYID & 60T (H&a6ifled LMid SiemellL 61hs & (Hed uwesTU(HSSUUHISIDE?

(A) Dynamometer (6mL_eor@omBi"_L_if)
(B) Strain gauge torsion meter (OB Slpery & el Lmiergedt 1BL_L i)
(C) Tachometer (GL@a&smBr_Li)

(D) Manometer (0@eormBr_L if)

Q156.Which is the primary standard of length maintained internationally?

Fieuls& Serafleo urmofléstuHib (W& Temw Her Hlemeo o18)?

(A) Platinum-iridium bar (Qlernt’_1q eorib-&Sfliq wib &)

(B) Wavelength of krypton-86 radiation (&fl'i_mesr-86 &&)iefis HAedr
SI6m60IH6ITID)

(C) Distance travelled by light in vacuum (@eubH L& Sleo spefl @&esTm gmmid)

(D) Silicon crystal lattice constant (feSl&medr Slifleiol_cb &1°_L_emioliL Hlemeo)

(Q157.In pneumatic gauges, measurement is based on:

bl 1om”_1q & G grsoifled, Dtemefi(h 6Tihs g UuemL_ulled 2_eiToms)?
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(A) Air flow rate (&srHGmm_L eN&&ID)

(B) Air velocity (&smhHmlesr Geussib)

(C) Back pressure (Sl6r 21196 51b)

(D) Pressure difference (211968 Goumiun(p)

Q158.Which law forms the basis of strain gauge working principle?

OB&Slpe| Cs gt GFWeO (L MMUINGT Dilg IUGHL 6187

(A)Hooke's law (o9& ef&))
(B) Pascal'slaw (umsivaseo 651 5))
(C)Boyle's law (umiiieo eN&))
(D)Faraday'slaw (~unr@L eN&))

Q159.Which system is adopted for interchangeable manufacturing of parts?

unsitiser uflrbHm 2 HusSleens abmslsTeTeriur_L (Y emm 6T8)?

(A) Limit system (eumiby (y 6mm)

(B) Selective assembly (&b @& (Hé&s0UL_L 665t HlemesoriiL)
(C) Taylor’s system (@L_iieoif (W 6>M)

(D) Full interchangeability (@ (g ufliombmid)

(Q160.Which device is used for measuring high rotational speeds up to 100,000
rpm?

100,000 rpm aueor i5ls &b & Gousnis cmor DorellL 61hs &(mHedl
uWesTU([HSSUUHSIDEI?

(A) Mechanical tachometer (SwhSlr GL@&smBr_L i)

(B) Digital tachometer (1q g8It"_1_6o GL_B@a&mBL_Lif)
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(C) Stroboscope (6o1”_BrmBumeiv Bssmi)

(D) Optical tachometer (@19 &860 GL_GasmBL_L i)

Q161 Which instrument is used for the accurate measurement of screw thread
flank angle?

@aneor(h) Sl &lesT udseuTL(H C&MeTSH ™ GiGoeSITES emeilL 61hs &(mHed
uwesTU(HSSUU(HISIDEI?

(A) Tool maker’s microscope (&6 wirflumeri mietor @eoormds &)

(B) Thread micrometer (@&mesor (i) 6o GrmBL_L i)

(C) Profile projector (sswefeur 1@mmG@iees L i)

(D) Pitch gauge (916 Gaeb)

Q162.Which tolerance isapplied when only one side of the nominal
dimension is permitted to vary?
@ungieuneor uiflomerrSleor 69(H USSID WL (HIGW WITMD sy Sl&&EIUHID Gung)

6TH S &&IILS S 65T 6oL UWGSTU(HS SUU(HISIDEI?

(A) Bilateral tolerance (Smym &8lys 8 66T 6mIo)
(B) Unilateral tolerance (®@hHemm ym &8lys 8 6remin)
(C) Compound tolerance (&ooti &&I145 8 65T 651D)

(D) Geometric tolerance (euig 65lweo &SN 8 65T 6mID)

(Q163.Whatis the least count of a vernier bevel protractor?

@euieoflwii @uenco YBrméL L fledT & mmibSUL & & 6001 &) 61631666 ?

(A) 5 minutes (5 HIOI_rhigeir)

(B)10 minutes (10 HLblL_rbisseir)
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(C)1degree (119 SM)

(D) 2 minutes (2 HLblL_rbisseir)

Q164 Which type of lay pattern is produced by grinding operation?

SO &G @&FWed (W mmuiled ereiauens Gumuriy euflems 2_mHeunSling)?

(A) Irregular lay (@giusbm euflons)
(B) Multidirectional lay (uebBeugy Hlowa euflem &)
(C)Circular lay (eu”_L_ euflom &)

(D) Radial lay (&8)ii65& s euflems)

Q165.Which instrument is used for precise alignment of machine tools?
SwihSlr speilsaflesr gicoeSlwwneor &wibleneod @) 61hs &(HeN
uwesTU(HSSUU(HISIDEI?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)
(B) Surface plate (GupHurty sL°_(H)

(C)Dial gauge (Lweo @& en)

(D) Spirit level (eroGfl”_ Gleoeuso)

Q166.Which measurement system is employed in coordinate measuring
machines (CMM)?

Gam-iig Beor” Sierefi” () SwibSlriisefleo (CMM) uwesruhldsuu{HIb
Siorefi_(h) (WO 6187

(A) Polar coordinate system (g(mey &oeveoord@smer (L emm)

(B) Cartesian coordinate system (&niile e§lwieor & omesoré@amar (Lp 6mm)
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(C) Cylindrical coordinate system (2_momor & omesors@&meir (1 emm)

(D) Spherical coordinate system (B@a&smemb & emevordBameir (Lp 6mM)

Q167.Which device measures small pressure differences with high sensitivity?

21515 2_coori HimeoyL_eor HPIw 1(1RSs5 Caumiun(hlssmer Sieredl(Hib &(Hes 615)?

(A) Manometer (i0@eormiBL_L_if)
(B) Micromanometer (emwéGomoGeormiBr_L_if)
(C) Bourdon gauge (BuniiL_e5r &)

(D) Barometer (u@omBL_Lif)

Q1e8.Which factor determines the accuracy of an interferometer?

(15 S&STLIi-@U@TMBL_Lfledr Hico6Shus ems iHlifcoruilé @b smrenfl 6187

(A) Light source wavelength (6eifl eipovd Sledr Siemeoiberid)
(B) Size of mirrors (& esor sooriiq &e6fledr Di6em6y)
(C) Distance of screen (SlemmuSlesr grmb)

(D) Power supply (Dlesr&mmib euiprigsco)

Q169.Which gauge is used for checking taper of a hole?
6(15 Hlemomuilest smiicmen uflG&nSl&s 61 G eh LWEsTU([HSSUUHISIDE?

(A) Plug gauge (Cioré Baon)
(B) Taper plug gauge (GLviur Gerss s gh)

(C) Snap gauge (eiveorns Gagh)

(D) Feeler gauge (-Seoif &)
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(Q170.In tool wear measurement, which parameter is most commonly
observed?

&@pef kulai oierefit’_1q. 60 GUNgI6euTad & 6tor&BMEBidBILHID ieTe)(H 6T&I?

(A) Crater wear (S1@m"_Lii kulai)
(B) Flank wear (udaseum”_ () kulai)
(C) Notch wear (@mri_& kulai)
(D) Thermal wear (@extiu kulai)

Q171.Which method is used for measuring the roundness of cylindrical parts?
2 _(IH6D6T Qg 6 UM&hIS6TET eI L &8 60T 6ol emil SiemeflL 6TiHs (Lp DM
uwesTU(HSSUU(HISIDEI?

(A) V-block method (ef-tienmé (ip 6mm)

(B) Coordinate method (8 emeworé@asmeir (1p smm)
(C) Circumference tape (&mhmoere) GL1))
(D)Height gauge (2_wmb Gsgh)

Q172 Which instrument is used to measure the straightness of a machine bed?
(15 SWiHSIT u(H&emssullesr CriTsSHlemw SierellL 6THs &(Hoedl

vwesTU(HSSUUHISIDEI?

(A) Spirit level (609l Gleoeusd)

(B) Straight edge with dial gauge (@miriq efMefliby L_weo Gaeg=L_cdr)
(C) Autocollimator (1" GLr@&T6SIGwL_Lif)

(D) Surface plate (GupHuriiy 1°_ ()
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Q173.Which measuring technique uses coordinate points and best fit
algorithms to analyze complex surfaces?

& soomeor GHurtiysemer uGUUTLE @&FWW 6Ths emeliL () HIL_Ub

S omeoordsBa e Leitefla emeriib Hmibs QuT(HEH& & &T60@)E6061965T & 6mer LD

uWeSTU(HS SIS EI?

(A) Profile projector (srweSleur @mmG@eesL i)
(B) CMM inspection (CMM <uiiey)
(C) Interferometry (S6o1L_i-@uBTTGIoL_if)

(D) Tool maker’s microscope (&6 swirfliumer mietor @eoormds &)

Q174 What is the function of Johansson slip gauges?

Berrremir 6ot &6t 6106011 B8 s & eifledT Lemfl 61 66T 60T?

(A) For direct dimension measurement (Gmmq. uflomesor DiemeSiL_1q HE&TE)
(B) For setting and calibration (Siemwiy wbHmib UG 1q H&TS)
(C) For measuring angles (8snewriaigs smer iemedlL )

(D) For roundness checking (eut’_L_8 8661 6mio @& g emeot &)

Q1751In surface roughness measurement, the parameter Ra represents:

Guhuriy srHrHhS &6sremwulleo, Ra Siere s @ MléSng):

(A) Root mean square roughness (Gouii #nn&fl #gir H1[HI(PI[HS &6T6OID)
(B) Arithmetic mean roughness (se0llg srraf srHWT[HS &66T6mWD)
(C)Maximum peak height (®i8lsul”_& Sasmb 2 _wimb)

(D) Total roughness depth (Qwnés srhHiprhHis wb)
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Q176.Which type of fitis suitable for permanent fastening without relative
motion?

RUSL_ () Swssblest i Blrbsr Seneortllibe abm OUTHESSD 6T8I?

(A) Clearance fit (SomL_@euefl QUTIH&HSID)
(B) Interference fit (emeworiiy @uHSS1b)
(C) Transition fit (ommun ) GuITEHSSD)
(D) Push fit (seirereo @Qun(mssib)

(Q177.Which method is most suitable for measuring large gear tooth profiles?

@uiflw Swif ubHseir swelleurmhisemer DemellL ile CUIT(HSSLDTEOT (L EOM 6TSI?

(A) Optical comparator (=g &8 6o SDGUGTL_L i)
(B) Gear tooth vernier caliper (Slwii ueo @eursoflwir &mreSIIULT)
(C) Coordinate measuring machine (8&m-iiiq Geori”_ Serefi_(f) SwibSHlrid)

(D) Tool maker’s microscope (&@peM swirfliumenii mietor @evormds &)

Q178.Which error iseliminated in differential measurement methods?

Coumun”_ (i) Sterefii”_ () (Y som&seifled 61 Slem BaH&UUHISIDE?

(A)Random error (Frbm Slemip)
(B) Systematic error (&1L emwiiyd Slemwp)
(C) Parallax error (urrevseio Slemip)

(D) Environmental error (&b miym Slemip)

Q179.Which instrument uses laser Doppler principle to measure velocity?

Cous 08 el Boosir Lmtiemi Gam_um’_emL U UWGSTU[HISSHID &5 6187
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(A) Laser vibrometer (Goo&ii sooeutiGrmiBi_L_if)
(B) Laser Doppler anemometer (Geos&it Ltiemt 21@eor GomBL_L_ii)
(C) Interferometer (SerL_i+~@uGmmBL_L ff)

(D) Tachometer (GL_@&smBL_Lif)

Q180.Which gauge is used for checking the effective diameter of a screw
thread?
@sneor(h) Sl &lesT GFweSlmest Al L&ems uflGenSlés o1ihs Caed

uwesTU(HSSUU(HISIDEI?

(A) Three-wire method (e 66 my-&1H8) (P 6>D)
(B) Plug gauge (lions @& sn)

(C)Ring gauge (fiiy Gase2)

(D) Pitch gauge (96 @&on)

Q181.Which principle is used in pneumatic gauges for dimensional
measurement?
uflioresor terefii_1q H@ Ueotyom’ 1986 Caghsafled eThgHé Camr_um(h

uwesTU(HSSUU(HISIDEI?

(A)Change in flow rate (@1 L 6188 wrhmib)
(B) Change in pressure (11945 wribmib)
(C)Change in temperature (@eutiublemeo oMHMmIb)

(D) Change in density (S5 8 ombHmib)

Q182.Which comparator uses the principle of electromagnetic induction?

6Tih% HDECUGTL_L If 6T &mbg Hiresor_co G&m_um’_eoL U uwesTUHS&HSImE)?

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

(A)Mechanical comparator (SwibSlr sbGuGTL_LiT)
(B) Optical comparator (cpeifl &bBuUGTL_L i)
(C) Electrical comparator (blesrsibGuBmL_L i)

(D) Pneumatic comparator (Ueoflyom’_i1q.& &bGuGTL_L i)

(Q183.The least count of a vernier bevel protractor is generally:

@auieoflwii @uenecd BT &L fledT @& mmHSHUL_ & 6T 60T atld 68 CuTgieumss:

(A)1' 1HIBIL1b)

(B)5' (5 HUBI_riusseir)
(C)10' (10 HuBI_rhusseir)
(D)1 (119.51f))

Q184.Which method is used for precise flatness measurement of surface
plates?

Guwhuriy s1°_([Hsoflesr gieoeSumer Fwiblemeo Sierefil” 1q H@ 6THS (WP M
uwesTU(HSSUU(HISIDEI?

(A) Spirit level method (ero9)fl”_ Gieoeu6d (1 6>m)

(B) Autocollimator method (21" GLT@&T6SIG0L_L i (p6mm)

(C) Dial gauge method (Lweo G&gh (p smm)

(D)Micrometer method (emwé@rmiBL_L i (i smm)

Q185.Which of the following is not a type of limit gauge?

S evor_aub Mled 618 by GHel QIEHE&WTEHSTE)?

(A) Plug gauge (Nord Bagd)

(B) Snap gauge (eocormi) @& gn)
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(C)Ring gauge Ny Gagb)
(D) Vernier caliper (@Qeuiesfwi smeSltiui)

(Q186.In metrology, which term describes the closeness of a measured value to
the true value?
©wo1”_rmeogdlulled, 63 (15 Siem6iiL (h WS 2_6tor smIT6oT SIS E) 6TGICIGT6)

SDI(HSl60 2_6iTeI g 6THTUDS & D& @D O&FT6D 6T5)?

(A) Accuracy (gyeoeSwib)
(B) Precision (@&L_ii& 66T 6min)
(C) Repeatability (Besor(Hiid Siemef(Hlid Smedr)

(D) Sensitivity (2_eorii &lmedr)

Q187.Which method is commonly used for measuring surface roughnessin
industries?
@smlevsafleo Guhurty sThHir([HS & 65T emiu Derelil QU SIeUTS 6THS

(P eom UWETU(HISSUUHISEIDSI?

(A) Stylus method (6o 6m1_sv6io (1 6>M)
(B) Optical method (pefl (pewm)
(C) Interference method (Semevortiy (wemm)

(D) Pneumatic method (Geofluyom”_1q9. & (p emm)

Q188.Which device is used for dynamic torque measurement?

SWihiE, sHE ellemeemi Dol 61hs & (oM LWETUHISSIUHISIDG)?

(A) Strain gauge dynamometer (6or”_©@rullesr Ba g omL_ecorGomiBL_L_if)

(B) Hydraulic gauge (cmami”_nmeSls Gagb)
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(C) Spring balance (eusmhs swbHlemeo)
(D) Dead weight tester (@1 @euudl"_ @L_sivL_ff)

(Q8aln fits and tolerances, which system keeps the hole size constant and
varies the shaft size?
OupSShHIG6T WHMID U MIEHLE&E6TI, 6TIHE (Y GDM HIGHET SI6T N

iBlemoowineor B cm6us 8ié @& 6or () & 600T () 16T 66 LI H MI&SID&)?

(A) Hole basis system (gyemer g iuemL_uSleomeot (W emm)
(B) Shaft basis system (&6gor (5 ig iuemL_ufleomeot (L 6mM)
(C) Clearance fit system (SooL_Gevefl QU555 (P ooM)

(D) Transition fit system (or myun () QuH&8 (W eOM)

(Q190.Which instrument measures angular displacement using light
reflection?

oaifl GirSluediismuts wesTu(His S Gamerr SL_bGUIWITESHlomw Serell(Hib &(mHed
618)?

(A) Sine bar (em&6sr uniy)

(B) Autocollimator (=, GLr@&TeSGwL_Lif)

(C)Optical flat (<019 860 Glemrme”)

(D) Spirit level (6ro@fl”_ Gleoeusd)

(Q191.Which parameter is not considered in surface texture evaluation?

Guhurty Siemwlicnu SIUS(H C&IW 6THS BieT6Y(H &(HSUIUL 660 6m60?

(A) Roughness (&r(HprhHs &6oremio)

(B) Waviness (i6m608 8 661 6m1D)
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(C)Lay (Gov)

(D) Hardness (19 6ot 8,8 661 6m1p)

Q192.Which flow measurement device works on Bernoulli's principle?

@uir@eormeSlullesr GasmL_um’_1gq 60 G&weOU[HID gL L D66l (b &(mHes) 6187

(A) Venturi meter (Qeu@n g, fl Br_L i)
(B) Hot wire anemometer (e@mm"_ euwni i1@eorGomiBL_Lif)
(C) Electromagnetic flowmeter (Dlesrambs gL L B L i)

(D) Ultrasonic flowmeter (601 _nrm@&mneofild 1™ L 1BL_L i)

(Q193.Which instrument is used to check taper in machine tool spindles?
SwihSr &ape & e6or (hlsefleo GLtiuemrd sfluniés 6Ths &(mHed

uwesTU(HSSUU(HISIDEI?

(A) Dial test indicator (Lweo @L el Sevoriq Ga1”_L i)
(B) Plug gauge (Cioré Bason)

(C) Taper plug with blueing (oo  &&1_cor GLtILIf Uioré)
(D) Straight edge (GmiiGan ()

Q194.Which type of error occurs due to hysteresis in instruments?

&(melsatleo afleoGILflflornmed 61ihs aems Slemw abuBHlSns?

(A) Static error (Hlemeo Slemip)
(B) Dynamic error (Switi@, Slemwp)

(C) Reversible error (onhmé e 1q w Glemip)

(D) Drift error (#fley Sleop)
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Q195 Whatisthe accuracy level of a grade o slip gauge?

&G (h) 0 6iv6SIt Baghledr Flcoedlw Hlemev 6166t 6oT?

(A)+01,.m
(B)-05,:m
(C) e

(D) +2 um

Q196.Which instrument is used for non-contact measurement of surface
roughness?
Guhurty srHTHS &6STemwemw GISTLTem SemeliL g HE& 6TiHS &(IHeN

uwesTU(HSSUU(HISIDEI?

(A) Stylus profilometer (6o 6miL_so6io @M NGe0mBL_L_if)
(B) Laser scanning device (Goo&it sio B eoflia & (mp6M)
(C) Talysurf (LreSl&.1)

(D) Comparator (&bGu@m_Lii)

(Q197.Which method is best suited for high-precision angular measurement
below 1second?

168160TIMIq. & (&) (& ODAUTEOT &I6o6SIw Bamemr DiemeliL_1q HE aTHM (P EOM 6157

(A) Optical flat (019 860 Slemrmi”)
(B) Sine bar (em&6st umiT)
(C) Interferometry (&661L - @uBrm@IoL_ifl)

(D) Autocollimator (@p1"_GLr@&T6eSIGwL_Lif)
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Q198 Which type of error in measurement is caused by environmental
temperature changes?

& mtiym Geutubleme IHME ST arbu(Hid SemeSiL () Ylemw 618)?

(A) Systematic error (&1L emwiiyd Slemip)
(B)Random error (ErhHm Gemip)
(C) Environmental error (&mhmtiym Nemip)

(D) Instrumental error (&meS Gemip)

(Q199.Which method is used to measure the pitch diameter of a thread plug
gauge?

&G Uord o gdlesr Gl & 6Nl _L_& 6008 DiemeflL 6Tihd (Lp DM
uwesTUHSSUU(HISIDEI?

(A) Three-wire method (e ebr my-&1H8) (W 6>)
(B) Ball and micrometer method (ubg) wHmIb eow&EEITBL_L i (Y som)
(C)Optical comparator method (=2Li19 &8 6o &DGUGTL_L I (1p 6mm)

(D) Pitch gauge method (9é& Gagh (p omm)

Q200.Which computer-aided inspection method reconstructs 3D models
from scanned point clouds?
eiv@a et GFwwiuL_L yeitefl GoamisefleSi(pibgl 3D wr&liflesemer Besor (Hib

2 (Heuné @G sanfleofl 2L 6 ilie) (Pemm 618)?

(A) Reverse engineering (fleuiieio 61661 leoRwiflrbi)

(B) Finite element analysis ((piq eubm 6 my u@LIUMIEY)
(C) CNC machining (CNC S8wibSlr @euemeotiun(h)
(D) CADdrafting (CAD euemruL_ib)
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Q201 Which method is most suitable for calibrating precision slip gauges?

816060l 610 651 B&H g8 6o LIS Lq H(E D1F&D CIUT(HSSLDITEOT (Lp DD 6TH)?

(A) Interferometry (S66rLf-@uBTTGIoL_f)
(B) Vernier caliper (Qeuieoflwit ssmeSIciui)
(C)Micrometer method (emw&GrmBL_Lii (ip 6mm)

(D) Dial indicator method (Lweb Sedoriq @&1"_Lif (pemm)

Q202.Which measuring device isbased on Moirefringe principle?

@wmi@r efefliby Gam_uml_emL g UuemL WT&HE O&TesoTL emeiiL (i &Hed
o1g)?

(A) Laser interferometer (Boo&i S6orLii-@QuUBTmBL_L i)

(B) Optical comparator (<19 8860 &DGUGTL_L IT)

(C) Moirefringe projector (@wmiiBr efefliby C1@QTT@e2&L_1T)

(D) Tool maker’s microscope (&6 swirfliumeri mietor @evormds &)

Q203 Which method is used to measure very high fluid flow in pipelines?
GLmisoalfleo ls 2 _wiihs Slrey LI L5608 Dol 6TiHs (L

vwesTU(HSSUUHISIDEI?

(A) Venturi meter (@eu@h gy fl Br_L i)
(B) Orifice meter (6ifl-Sleiv Br™_Lif)
(C) Ultrasonic flowmeter (icor_nmm@&mneofld gpi” L B L i)

(D) Turbine flowmeter (Liemuedr g1 L 1B1" L if)
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Q204.Which gauge is used to measure the effective diameter of internal
threads?
2 6T Hl(p G Hoifleor @FweSHmesT 65" L Hems Semell 61ihs Geed

uwesTU(HSSUU(HISIDEI?

(A) Plug gauge (Liers @aon)

(B) Ring gauge (fi Gaep)

(C) Thread caliper gauge (Sl@p@ &meSliiui Gagd)
(D) Pitch gauge (918 @& o)

Q205.Which property ismeasured by a dead-weight tester?

OLL_-@auuil’_ @L_soL_omed 6T1HE & 65T oo el _Uu(Hi&SImg)?

(A) Pressure (21195 51b)

(B) Flow rate (@U L eN&5b)
(C) Torque (sphH & eNows)
(D)Power (5&8))

Q206.In angular measurement, which device uses sine principle?

@amevor Sierefil”_1g 60, 6T1H & (H6X em&ST G&HTL_UNL_ 6oL U UWesTU(HS &I SIm&)?

(A) Autocollimator (1" GLr@&TeSIGwL_Lif)
(B) Sine bar (em&6st umiT)
(C)Bevel protractor (Gueuedo OGTTL_mrésLIT)

(D) Clinometer (&emorGeormBrL_L_if)

Q207.Which type of error isreduced by frequent calibration of measuring

instruments?
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Sier6liL () &IHN&H M6 Silg.&81q. RUII(H6US 6T e oD 6T1HS aIems BlemLp
&OD&SUUHSIDEI?

(A) Instrumental error (&@meS Gemip)
(B)Random error (ErhHm Gemip)
(C) Parallax error (unreodeio Slemip)

(D) Environmental error (&hmtiym Semip)

Q208 Which comparator uses optical lever principle?

618 HDGUGTL_L T SU1q &860 deult GamL_um’emL_ U LwesTU(HSHSIDEI?

(A)Mechanical comparator (SwibSlr sbGuGTL_Lif)
(B) Optical comparator (<yl1q &8 60 &HDGUGTL_L IT)
(C) Pneumatic comparator (Ueoflyom’_1q & &bGuGTL_L i)

(D) Electrical comparator (1Blesr&1bGuBm”_L i)

Q209.Which flow measurement device has no obstruction in the flow path?

LU L uremsulled 61hs gL L B1” L fl6d & 6mL_&6iT 61816 b &6o6m60?

(A) Orifice meter (6ifl-Sleio (Br™_L_if)
(B) Venturi meter (@6x@h g, fl BL_L i)
(C) Electromagnetic flowmeter (Blesrambs gL L Bi" L if)

(D) Pitot tube (Q@LnL"_ @pmis)

Q210.Which measuring technique is used in coordinate measuring machines
for probing?

Cam-iiig Goorl” iomeliL () SwibSlnhisoflco G&nsomeord @) 61hs oTeliL(h)

HIL_Ub UWESTURISSUUHISIDG)?
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(A) Contact stylus probing (@s&rL_iiL 6o 6mL_coeio G& s cmeoT)
(B) Pneumatic gauging (eoflijwont’_1q & @& ghirbi)
(C) Ultrasonic scanning (<=ieo1”_nmm@&neoflss 6ivGsseofirbi)

(D) X.ray tomography (er&6r0-Gr GLrGur&lom9))

Q2nWhich method is used to check roundness error of a cylindrical
component?

R(H 2_(HeweT o HIGT aul L &5 6T emwo Slempemws sfluniée eTibs (1 om
uwesTU(HSSUU(HISIDEI?

(A) V-block method (ef-tienmss (ip smm)

(B) Autocollimator method (@41" GLT@&T6SIGw1I"_Lif (p6mm)

(C) Talyrond machine (@LiieSirmesor”_ SwibSmib)

(D) Interferometer method (86srL_i-@uBImBL_L i (1p 6m>M)

Q212.Which surface finish parameter represents the average of absolute
deviations from mean line?

san&ifl @am_1q 6Sl(HiH &) (1P (Lp GOLDIWIT 6O Mevsseoseiflest &nmeflemiw @& mMlé @b
Guhuriy Hlewme| Siere) 618)?

(A) Rz (@121 )

(B)Ra (=iier)

(C) Rt (=iq)

(D)Rq (i)

Q213.Which device is most suitable for angular alignment of machine tool

spindles?
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SwihSIr & H6d eivYleoriq cosafler Gaimeoor & Fremoliyd @ S

@unpS ST &(H6eN 6T8)?

(A) Bevel protractor (Gueueo OGrmL_mméLT)
(B) Autocollimator (@y"_GLr@&TeSGwL"_L i)
(C)Clinometer (&6morGeormBL_L i)

(D) Vernier protractor (@Qeuieoflwi 0@omi_oméLiT)

Q214In computer-aided inspection, which technique is used for reverse
engineering?

senfloofl 2_geSluLeor < eflev, fleuien erest sdleoflwfliuSlh @ 61hs HIUb
uwesTU(HSSUU(HISIDEI?

(A) CMM probing (CMM @& s emeor)

(B) Laser scanning (Beo&ii 6o @& eoflibi)

(C)Pneumatic gauging (Geofljwomnt_1q & @& ghiibi)

(D) Slip gauge wringing (6ro6Sl0 @&sh 631firbighlh)

Q215.Which law is used in electromagnetic flowmeters?
Wlestambhs gl LB L issafled 61hs 6flS) uwesTu([HlSSUUHISIDE?
(A) Ohm's law (g@blesr 6515))

(B) Faraday'slaw of electromagnetic induction (Blesr&nibg S gnesor_6o umrGL

2.05:3))
(C) Ampere'slaw (@b 9wt 6N&))

(D) Lenz's law (@eo6sreio 6915))
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Q216.Which gauge is used to measure clearance between mating parts?

BHiis o8 s6 MIGOHEHE oL Wileoner SeoL Oeusflemw Sierell 61ihs Gaeh
uwesTU(HSSUU(HISIDEI?

(A) Feeler gauge (-Seoif &)
(B) Ring gauge (fiiu G&on)
(C) Plug gauge (Ciors B eh)

(D) Snap gauge (6oeorms Gssgn)

Q217.Which of the following is NOT a form error in metrology?

©\woL”_gmreogdlulled 65T (M eu6oT GUH NHI6D 678 Gl 6 YlEMPWITETS)?

(A) Roundness error (61”8861 omio Glemip)
(B) Flatness error (swHe060é 8661 sowo Glemip)
(C) Parallelism error (&ememrun(p) Sleow)

(D) Resolution error (Siiwmeorid Slemip)

Q218.Which instrument is used for high-accuracy measurement of gear tooth

profile?
Swif ued sweNarsd s S gleoeSlwus gL 6ot Sierell 611hg &HeN

vweTU(HSSUUHISIDEI?

(A) Tool maker’s microscope (&pef) swnfliumeni mctor Gevormds &)
(B) Gear tester (Swif @L_6oLif)
(C) Profile projector (0@mm-.cmuecd IGITOIER&L_IT)

(D) Autocollimator (@p1"_GLr@&T6eSIGwL_Lif)
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Q219]n linear measurement, which instrument eliminates cosine error?

Griflwed SiemesiL_1q.60, 61H5 &(HeN Camemesir lemw emw 8@ &Hlmg)?

(A) Dial indicator (Lweo &evoriq @&L_L i)
(B) Autocollimator (@y"_GLr@&TeSGwL"_L i)
(C) Laser interferometer (Boo&it &6orL_ii-@uBTmBL_L i)

(D) Vernier caliper (@euieofwi &meSl0iui)

Q220.Which comparator is most suitable for mass production inspection?

@upeTe)] 2 _Hudbsl e &S 6THs HDGUGTL_L T Wlsa|b Gum(hs s LomeoT g)?

(A) Pneumatic comparator (lieofluom”_iq & &bGuBrL_Lif)
(B) Optical comparator (<yl1q &8 60 &HDGUGTL_L IT)
(C)Mechanical comparator (SwibSlr sbGuBTL_L i)

(D) Electrical comparator (1Dlesr&1bGuGm”_L i)

Q221 Which method is most suitable to measure flatness of a precision surface
plate?

gioeoeSlwioreor &FGueiv N@eri”_Lg 651 &FLoiblem 608 & 60T ML MW SieTellL DiSl&1D
OuNHSSHTET (L DM 6TH?

(A) Straight edge and feeler gauge (@b @& () o mub +Seoii GaHg)

(B) Autocollimator (@y"_GLm@&T6eSGw1"_L 1)

(C)Height gauge (2_wimb Gsed)

(D) Bevel protractor (Gueuso OGTmL_nméLiT)

Q222.Which type of fit is used in assembly where no relative movement is

desired?
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UUBHS S50 6TiHS UM(HS S LWETU[HSSUIUHISIDSI, DiIbIG 26§ Feo6oTID
@5 6meuuileo 6men?

(A) Clearance fit (SomL_@euefl QuUTIHSHSID)

(B) Transition fit (ormur () @un(HSSD)

(C) Interference fit (Gongeo GUIIHSSID)

(D) Loose fit (emieun cor @unp&s1b)

Q223.Which comparator isbased on the principle of air pressure difference?

&THORSS Geumium’_6oL iq UueoL Wi s OisTetor &bEUGTL_L I 6187

(A) Pneumatic comparator (lieofluom”_iq & &bGuBrL_Lif)
(B) Mechanical comparator (Swib&lr sibGuGTL_L i)
(C) Electrical comparator (blerssbGuBmL_Lif)

(D) Optical comparator (19 &8 60 &bGUGTL_LiF)

Q224In surface texture measurement, <lay " refers to:

BGuhurtiy SieoUy Di6mesiL g 60, “B60 " 6TETUS 6T D& E&ID:

(A) Average roughness (grmafl @ifloy)
(B) Direction of surface pattern (GwmhHuriy Sieowiiy Slems)
(C) Depth of irregularities (g (gmishm ipib)

(D) Peak to valley height (2_&8 ap g6 usirenid 2_wimib)

Q225Which instrument is used for accurate measurement of very small
angles?

lesd HldHw Camerihis emer gleoeSlwwnss el 61hs &(mHedl

uwesTU([HSSUUHSIDEI?
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(A) Bevel protractor (@ueued @um_mméLiT)
(B) Clinometer (&6momr@eormBL_L_if)
(C) Autocollimator (1" BLr@&m6eSIGwL_L i)

(D) Sine bar (e»& bt umit)

6¥1608 608 6moIT Hieo6eSlLTE Do 6ll(HSIDE.

Q226.Which parameter is measured using a torque wrench?

L& @I©h& eLpoold 6TiHs ieme(Th DieTell_UuHSIma?

(A) Torque (s1pih & oflowe)
(B) Force (eflom&)

(C) Pressure (=195 5b)
(D) Strain (8dley)

Q227.Which type of limit gauges are used for checking holes?
3| 60)6IT & 6M6IT & sflunié e 6Tihs em&IIT6oT Tl @& a6l

vwesTU(HlS&UIU(HI&l6dT D 6oT?

(A) Plug gauges (Ciord Gaghs6iT)
(B) Snap gauges (6locormi)s @& gha6ir)
(C)Ring gauges (fli @aghss6iT)

(D) Feeler gauges (-~Seoif @&ghss6ir)

Q228 Which instrument measures vibration amplitude and frequencyin

machines?

SwihHlrhisefleo MSliellesr uriuerey Wb MID ST eesT 6T 6TIHS & (HEN
Siorf(HEmG)?
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(A) Vibrometer (coauti@umiBL_L i)
(B) Dynamometer (6omL_eor@omiBL™_L_if)
(C) Tachometer (GL_@&smBL_L i)

(D) Manometer (ion@eormBr"_L_if)

Q229.Which method is used for non-contact temperature measurement?
@&Liiy &eveonneo Gauiublemeoemiu SiemeslL 6Tih& (L 6mm

uwesTU(HSSUU(HISIDEI?

(A)Mercury thermometer (Unsrs Geutiuwrestl)
(B) Thermocouple (0\&iGwnaiSler)
(C) Infrared pyrometer (8er-Limm@r_ eou@omBr_Li)

(D) Bimetallic strip (8 m@woL_L_6o ul’_emL)

Q230.Which system is widely used for classifying tolerances and fits
internationally?
FieuBs& iereileo &icoeSlwikiseT WHMID CUT(HE HhisHm6eT A&IUHESS 6THS

Sieowly SiSl&nss LWETUHSSIUHISIDG?

(A) BIS system (Glgget6iv Dismintiy)
(B) ISO system (g2616/069 SiemioiLy)
(C) ANSI system (ereredr6T6i083 DicmioliL])

(D) DIN system (19 361661 DiemioiLy)

Q231 Which instrument is used to measure twist and camber in shafts?

o g-U1_saifléd (p Mid @ WHMID cUemH6T 6N el 6THS &(HeN

uwesTU([HSSUUHSIDEI?
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(A) Autocollimator (1" GLr@&T6eSIGwL_L i)
(B) Spirit level (sro@ifli"_ @eveucd)
(C) Straight edge (GmiGan ()

(D) Alignment telescope (i6m6065T @I 6BoTL_ @IL_6Sl610B851ML)

Q232.Which parameter of surface texture indicates the distance between
successive peaks?
Guhurty Siemwiibled iHES[HSS 2 &8& @ hHsE SooLullconer HTsHemns 6Ths

Si6Te(1h G D&SIDG?

(A) Ra (<piier)
(B)Rz (<@g )
(C) Pitch Q& &)
(D) Rt (<119

Q233.Which flow measuring device is best suited for measuring pulsating
flows?

SiSliiayoirer gL L mhisemer Sierell Flmbs gL L IBL L if 618)?

(A) Orifice meter (6ifl-Sleio (Br™_L_if)
(B) Turbine flowmeter (Liemuedr g1 L 1B1" L if)
(C) Electromagnetic flowmeter (Blesramibs gL L B L if)

(D) Pitot tube (Q@LnL"_ @pmis)

Q234.Which measuring principle is used in strain gauges?

ool @muilest Baghsarflod 61ihs Stemefii” () Gam_un(h uwesTUHSSVUHISIDG?
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(A) Resistance change (61§l ibmHmib)
(B) Capacitance change (@sun&l”_L_ebr6iv mhHmID)
(C)Inductance change (8 66rL_&L_cbrero DMHMID)

(D) Magnetic flux change (&g umiioib wrmHmib)

Q235.Which instrument is most suitable for checking thread pitch diameter?

G Y&&a ol L o068 sflunisbss iSlsb @uTIHSSLmeT &(Hed 618)?

(A) Thread micrometer (lp@ sow&HGrmBL_L i)
(B) Pitch gauge (916 & G&sob)
(C)Ring gauge (fiis Gad)

(D) Tool maker’s microscope (&6 swirfliumeri miesor @eoormds &)

Q236.Which type of dynamometer measuresbrake power of 1.C.engines?
2_eir erifloumy SwibSlriisseflesr 918Ts &8l emiu 6TiHS eIemE 6mL_6oT@mBL_Lif

Siorei([HSImg)?

(A)Hydraulic dynamometer (smami”_nmeSé 6mL_corGomiBr_L_if)
(B) Spring dynamometer (6ol 6m1_corGomiBr_L_if)
(C) Absorption dynamometer (Sii&niling6sr 6mL_corGomiBr_L i)

(D) Transmission dynamometer (1q rmedr6hoiblerg.661 6m1L_corGomBr_L i)

Q237.Which error occurs due to variation of ambient temperature in
measurements?

Sierefi”_1q 60 &Hmtym Geiublemeo wrmuN(H) HTTEOILNS 6THS Uemp

abubH&mg?
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(A)Random error (Erbm Slemip)
(B) Systematic error (&emrésmeor Slemw)
(C) Parallax error (unreodeio Slemip)

(D) Environmental error (&hmtiym Semip)

Q238.Which measuring device is used in CMMs for non-contact inspection?
@sLiiy Sevoeormoed e @& CMM-sefled 61hs SiereSi_ () &med

uwesTU(HSSUU(HISIDEI?

(A) Contact stylus probe (@&rL_ii 6hoemL_eveio G&ms emeot)
(B) Pneumatic gauge (Oeoflujom”_1q.& @agd)
(C) Laser scanning probe (Goo&ii 6ro B eofliiu G&m s 6meor)

(D) Plug gauge (Ciond @ssn)

Q239.Which instrument is used to measure the taper angle of shaftsand
holes?
a9T-UL_&6T HmIb glemensefleor GLUiul Camenrsems SierellL 61ihg &HeN

uwesTU(HSSUU(HISIDEI?

(A) Sine bar (em&6dr UMY)
(B) Taper micrometer (GL_tiui emw&@rmiBL_Lif)
(C) Autocollimator (1" GLr@&m6SIGwL_Lif)

(D) Dial indicator (L_weo & edoriq @1 _Lif)

Q240.Which pressure measuring device is used in aircraft altimeters?

efloreor 2_wirblesnflsefleo 61ihg i(Rs5s Sereli”_(h &mel

uwesTU([HSSUUHSIDEI?
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(A) Manometer (ion@eormiBL"_L i)

(B) Bourdon tube (GumiL_csr @Lpmis)

(C) Dead-weight tester (@1 @euudl"_ @L_sioL_if)
(D)McLeod gauge (G &691@wm"_ Bsoh)

Q241 Which comparator uses a fluid medium to amplify displacement?

SL bOuWIT&FHemw OuIH&Hs Slreub uwesTuhHiSSHID OIS (H & 56 61817

(A) Pneumatic comparator (Ueoflyomt’ 198 GnSL_L_medr)
(B) Mechanical comparator (Swih&r eOSL L _medr)
(C) Electrical comparator (Blesr&mr 6pnSL_L_medr)

(D) Optical comparator (<iq &60 @S L_m6dr)

Q242Which lay direction is preferred for surfaces subjected to sliding
motion?

sfle) SwsHs55HE 2 1 uhHib CwHUTtysEHEE) 6THs Goo Slems
NpbUtUHISEIDSI?

(A) Parallel lay (& emeuor Gev)

(B) Perpendicular lay (G&mi@ 68 Govo)
(C) Cross lay (& mi&5@ Gov)

(D) Circular lay (en”_L_ Gev)

ufl@&anSl&SIma).
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(A) Minimum size, Maximum size (& 6eombsuL_& Deme), H&UL_& Sierey)
(B) Maximum size, Minimum size (Si$lasul”_& Sieirey, & mmibSUL_& Si6ITe))
(C) Tolerance, Deviation (&nhi@ @ oom, #miiey)

(D) Accuracy, Precision (gi606Shwibd, Gbiié &)

Q244.Which method is commonly used for force measurement in modern
transducers?
melicor 1q IesTevL_I Fisoifled Uens s DemellL CUTHIITS 6THS (Lp DM

uwesTU(HSSUU(HISIDEI?

(A) Strain gauge method (ehor”_@mruilesr Ga b (1p M)
(B) Pendulum method (1" 1_& Gared (1p smom)
(C)Lever balance method (&e6m1L_@aned FiiHlemeo (pomm)

(D) Spring deflection method (stoGfii euemerey (1 6mm)

Q245 Which is the main advantage of a laser interferometer in precision
measurement?

HlooeSlwioneor SiemefiL1q.60 GeodiF &edrLii~uGTmBL_L flest (1 & &I IH6sT ™I
618)?

(A) Compact size (8w Sierrey])

(B) High resolution (2_wii Siwneorib)

(C) Low cost (& comibg G&evey)

(D) Simple construction (erefl Siemioiny)
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Q246.Which instrument measures angular deflection by light beam
reflection?

ovaiflé s mbemm SlirSluediiumco Gamemr 65608 660 DieTell(HIb & (1565 6187

(A) Clinometer (&lemor@eormiBL_L_if)
(B) Autocollimator (@y"_GLr@&reSGwL"_L i)
(C) Sine bar (ewaedr umiy)

(D) Theodolite (51 GwnGLmemeol”)

Q247In mechanical measurements,damping is essential to:

SwibSlr Derefi”_1q 6b Lmblk @& ememeor &ITT6oorid:

(A) Increase sensitivity (2_eworiHlmeor il flée)

(B) Reduce overshoot and oscillations (Si£l& efMevs 6o wHmb iHie|scmer
GHOMES)

(C) Improve range (eumbemu Gwibu(HHs)

(D) Enhance magnification (Quflgnsecmeo DiHleMés)

Q248.Which device is used for high-accuracy linear measurement in tool
rooms?

(B 6o erpbsaifled WG HG GicoedSwonet CridsGam () SereliL g M@ 6THS &HIHeN
vwesTU(HSSUUHISIDEI?

(A) Vernier caliper (@Qeuissfwi &meSIOui)
(B) Slip gauges (6ho6Sl1 Bsgha6ir)

(C) Steel rule (sivre6b emed)

(D) Micrometer (emwd@omBL_L_if)
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Q249.Which type of fit ensures no clearance or interference?

6T1h8 aIcms Sl &6d SonL_ Glalefl Dicbeog SomL I mi 6THI|D SHHEHTSI?

(A) Clearance fit (& 6oL_©6uorfl -9 )
(B) Interference fit (SeoLuy my ~9)
(C) Transition fit (ombHmy ~9)
(D) Shrink fit (s@priu@b «9)

Q250.Which parameter is determined by Prony brake test in 1.C. engines?
2_oir erfleumy SwibSlrmisefleo G1@ameol N1Brd &g emeot eyoid 6THE DieTa|(MH
&eoorLMHIwu(HISImEI?

(A) Indicated power (@ D&&s0U"_L &68))

(B) Brake power (9@n & s65))

(C) Friction power (®1"_(HU &6 5))

(D)Mechanical efficiency (SwibSHr @ &weoSlmedr)
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UNIT X: METROLOGY AND MEASUREMENTS

ANSWER AND EXPLANATION

Q1In metrology, which one defines the closeness of agreement between a
measured value and the true value?
©@wL_gmreogdlulled, SereiL LUl L wSl0é @D 2 6oT 6o 6oT SIULE G LD

SoemL GUILIT6OT SI(HSTEMLD M 678 QIEHTIMISSIDG)I?

(A) Accuracy (gyeoeSiwib)
(B) Precision (sflwmreoremi)
(C) Tolerance (&&05 8 65T 6m1D)

(D) Sensitivity (2_eoorii &lmedr)
Answer: (A) Accuracy / gy6oeShwuib

Explanation:
Accuracy refers to closeness to the true value, while precision isabout
repeatability.

&1606SWIb 6T6TUG) 2_60oT mLTeoT SIS @ OIF(HEHSWTE SIHUUDS

& MBS G): Filwmeor oo 6165TUG) Bevor (HIb Bevor (Hib GUMID SieTeysatlest 6@

wrSlflé & 6o 6oL W @& Ml SIM&l.

Q2The permissible variation in a dimension is called

62 (15 Uiflomeor 5160 Dicn)nSHl&H&UUL_L T MU (h) 6T6UENT M) Biem&&UIU(HISIDS)?

(A) Limit (eumibyy)

(B) Fit (Qur(p&s1b)

(C) Tolerance (&5 8 65T6m1D)
(D) Accuracy (g1606Shwib)

Answer: (C) Tolerance / #8018 8 651 smin
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Explanation:

Tolerance is the allowable deviation from the nominal size.

F&UYS S 6STemL 6165TUG) GUWITeTR| Stomeiled(Hh 8 S Sl&aIUHID 65le0s 6o
BB

Q3. Which type of fit ensures a clearance between mating parts?
6TH 5 uemSILITeoT UM ([HS S &6HETLLD UN&hIS (61h & @ &emLOlauaflemw 2_misl

@&FsLSIDE?

(A) Interference fit (Bmeo @un(m&s1d)

(B) Clearance fit (§emL_@euefl @u(mss1d)
(C) Transition fit (onmum”_{H CurIHSHSb)
(D) Shrink fit (sqpé8 GUIEHSHSD)

Answer: (B) Clearance fit/ S omL@eveifl QU (p5 b

Explanation:

Clearance fit always provides a gap between the hole and shaft.

SooL_@evefl @QuTEpS 5D sTIBUNGID Gicmemb & 6o (heu_& S @G b &eoL_ulled
SooL_Ocusflomiu aulphiE Sng).

Q4. Which instrument is used for measuring small angular deviations with
high accuracy?

91518 HieoeSlws g6t HHlw Gamemor 61608 coa cmer SierellL 611hS &(H6N
uwWesTU([HSSUUHSIDEI?

(A) Autocollimator (1" GLr@&T6eSIGwL_Lif)

(B) Clinometer (Slemer@eormiBL™_L_if)
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(C) Bevel protractor (Gueueo yBonéL_mméLiT)

(D) Theodolite (51 GwnGLmemeol”)
Answer: (A) Autocollimator ; @1 GLr@&TeSNGwL_L i

Explanation:

Autocollimator is highly sensitive and used for angular measurement in
seconds.

Bl BLr@&TeSIGw0L_L i WG Hhs 2 cwriSlnesr @&meor_g) whmib efleormg
Sierelileomeor G&imemor e 63i(H& (61h & @ LWeTU(HSSUIL[HISIDS.

Q5.Which comparator works on the principle of balancing fluid pressure?
Slrey iS55 c0s Fiblemeoliu(hGgIb MU’ 1q 60 Swihi@b SburT_L
o1g)?

(A) Pneumatic comparator (eumuy &bumrt_L i)

(B) Mechanical comparator (SwihSlr ssibumrL_L_if)

(C)Optical comparator (<9 6860 SIDUNTL_LIT)

(D) Electrical comparator (iBlesra&ibunm_Lii)
Answer: (A) Pneumatic comparator , eumy sbumm’_Li

Explanation:
Pneumatic comparators compare dimensions using air pressure variations.
eum SUNTL_ L F&6iT STHm(RSHS Gou miun(hssoifledr eweotb Ul GooT RIS GH6IT

US| (HSledTmoor.

Qe.The surfaceirregularities with spacing less than 1mm are called:

110IB-5 @) @ comauner SeoL_GaleflyL_6sr 2_drer GubHuriil) 6o(1RrkIS6sT 6mLn & 6T

TGO M) BI6mLD & & LIU(HIEI6ST D GoT?
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(A) Waviness (i16m60@uimeo & 66T 6mip)
(B) Roughness (819 cor 8,8 661 6m1p)
(C) Lay (=iemi0011)

(D) Flatness (&19.6mw)
Answer: (B) Roughness, &9 60188 661 oo

Explanation:
Surface roughness represents micro irregularities due to machining.
@ hHuriiy &1q 6678 8 65T 6oL 6T6TUG SWiHSIT L& 6ITITed 2 60oTL_ITG)LD [Hl6voT cooflu

60 (1RRISIGT 6D & 6T & MISESIMSG).

Q7In linear measurement, which instrument provides the least count of 0.01
mm?

@miflwed SiomesiL_1q.60, 0.011OIB @ MBS 6T 6vor 6wt d & MUPHIEGD & (HEN 6T8)?

(A) Vernier caliper (@Qeuisstwit &meSlIOui)
(B) Micrometer (eow&@rmiBr_1_if)
(C) Steel rule (sivre 6o (H60)

(D) Dial gauge (Lweo G&en)
Answer: (B) Micrometer ; eow&GrmBr_Lit

Explanation:
Micrometer screw gauge hasleast count 0.01mm.

cow&BrmBL_L i ehodem Gaedleir @ emmibg 616voreldeme 0.0110IB ,@1b.

Qs8.Which gaugeis used to check the internal taper of a hole?

6 (15 Hlomomuilest 26t &iflemeuds & avor sTenfles 6T Gk LWeTU([HlSSUIU[HISIDE?
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(A) Ring gauge (fify Gsgb)
(B) Plug gauge (Sloré G&ghd)
(C) Taper plug gauge (GLvuir Qorss B gh)

(D) Snap gauge (eveormts Gasgn)
Answer: (C) Taper plug gauge ; GL_tiui Slerd G&Hgh

Explanation:
Taper plug gauge checks the accuracy of internal tapers.

GLuuif Glemd Baeb 2 it &floysaflest iooedlwsoms &flunidest) uwasTuHSEIDS).

Q9. Which parameter isdirectly measured in a heat balance test of an 1.C.
engine?
2 i1 o1ifley SwibHlrsSHlesr Geauiu Fwiblemeo @& s emeorulileo Gmbiiqwins

ool UuUHIb DieTeSHSTD 6T5)?

(A) Heat equivalent of fuel (erfl@unpeflesr @eutiu &weSlemeo)
(B) Heat lost to cooling water (&eflii&& B fleo Swibs @euriuib)
(C) Brake power (9@ ueuii)

(D) Indicated power (&6dor1q G111 u6uIT)
Answer: (C) Brake power ; S18n& ueui

Explanation:

Brake power is measured directly with a dynamometer; other quantitiesare
computed.

818 uour Gmmig WINs cmL_cT@LMBL_L i eeoib SierellL_Uu(H&ing): whHmeme

860018 SIL_UIU(H ST D 6oT.
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(Q10.Computer aided inspection in metrology primarily uses which
technology?

©@uwL"_greogdlulled &eanfleotl 2_& ey 6t e @& licus (W &SNS 6THS
@anleomi” usemsU LIWGTUHISSHISIDS)I?

(A) CMM - Coordinate Measuring Machine (@&m-<uiiig Geori”_ Siemesii”_(h)
SwibSb)

(B) Vernier caliper (@euieoflwii ssmeSloui)

(C) Profile projector (@mm-.cmued NIGIT@Ig2sL_iT)

(D) Optical flat (210119 860 Glemmi”)

Answer: (A) CMM - Coordinate Measuring Machine ; @&r-<21ii1q oot
Sierefi’_ () SwibS\rd

Explanation:

CMM with probesand computer integration ensures high-speed and accurate
3D inspection.

Gam-iiig Goorl” iemefiL () SwibSlmb UGTTIss EmHLD &oemfleotl 69 (THHISlemesoTULID
ewoold Si5lBeus i mb icoeSlwionesr 3D Siiiemen 2_mySHl G FLSDE).

QnWhich type of measurement uses a slip gauge?

6TIHS CUEDHEIWITEOT Di6eT6IIL_Lg.60 6iv6dll B& el UWETU[HSSUUHISIDEI?

(A) Linear measurement (B iflweo Siemesi(iy))
(B) Angular measurement (8amesor iemesi(fy))
(C) Surface finish (GwhHurtiy (piq o)

(D) Form measurement (eu1q.6u Sieresi(h)

Answer: (A) Linear measurement ; @piflwed Siemesi(p)
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Explanation:
Slip gauges are precision tools for obtaining standard lengths.

oi6Slt) Ba g & it Ihlemeowimeot B omrhis emert) GUM &16oeSu & (156N1& 6T G D.

(Q12.Which measuring instrument uses a sine principle for angle
measurement?

@ameoor Stermefil_1q.60 sm&6ST GaM_umL_6mL_U LWESTU(HSSID & (56N 6187

(A) Sine bar (ew& et L)

(B) Clinometer (SlemorGeormiBL_L_if)

(C) Theodolite ($IGwnGLmemevl”)

(D) Autocollimator (<" BLr@&T6eSIGwL_L i)

Answer: (A) Sine bar ; em& 66t UM

Explanation:
Sine bar works on trigonometric sine principle for precise angle measurement.
& 65T UMT, geoeSlwmeor Gsmeoor D6l 1q @ SliflGsmemor 6o & 6o

@am_um’_1q 60 Swiki@SD&.

Q13 Which one of the following is not a type of comparator?

65T 6u(HGUGHT UMD 16O 6T HOUMTL_L_IF 636m&SWe060?

(A) Mechanical comparator (SwibSlr ssibumrL_Lif)
(B) Pneumatic comparator (eumuy &ibumre_L_if)
(C) Vernier caliper (Qeuieofwni &meSloui)

(D) Electrical comparator (iBlesr&ibumm_L i)

Answer: (C) Vernier caliper s @euieoflwit ssmeSlout
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Explanation:

Comparators are used for comparing deviations; vernier caliper is a direct
measuring instrument.

SUMTL_L_F&6iT 651608 608 emerr UISIL uwesTu(HSlesTmeor: @euieotlwit smeSIaur

@miig StereiiL () &HeNwN G L.

(Q14.The main function of a gauge block is:

Bsgr Glen s Sledr (1 & &I G &weou (i) 6T65T 6oT?

(A) Angle measurement (@&mesor Sierefi(h))
(B) Standard length reference (flemeowneor Horé @ ML)
(C) Surface texture measurement (Gumuriiy Siemwliy Sieresi(j))

(D) Force measurement (eugy Sierresi(h))
Answer: (B) Standard length reference , Hlemeowneor Bors @ Moy

Explanation:

Gauge blocks (Johansson blocks) provide reference standards for precision
length measurement.

@& gr Glon & @ 61T (Bgemammedt &65T SleITTé: & &6iT) gleoeSlumeor Ber

Siorelil_(Hdsmeor [Hlemeowireor @ MIUT(Hs emerr QIphIE,SledTmeoT.

Q15.Which measuring device is used to check the roundness of a component?

6 (15 &6 MIGST 6uL”_L_Uuetor smu &Fflumise 618 & (e LWETU(HSSUUHISIDE?

(A) Roundness tester (eu1”_L_tiuedory @L_6ioL_if)
(B) Autocollimator (@y1"_GLm@&T6eSGw1"_L i)
(C) Profile projector (@mm-.cmucd IGITOIgR&L_IT)

(D) Height gauge (emami”_ Gasgh)
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Answer: (A) Roundness tester / eu”_1L_Ciuedory @GL_sfoL_if

Explanation:
Roundness testers measure the deviation from true circular form.
6uL_L_Uuetor GIL_6ivL_If 2_60oT soLowmeor 6L L alg.6us &l 6dl(Hibg) 6¥l6os 6meo

SiereSl(HEDG).

Q6. Theleast count of a vernier caliper commonly used in industries is:
@smdleogiemmuiled Gurgieuns LweTU(HSSUIUGHID GeuTeflwit smeSltuflest

& OMIHG 6T600T 600l 6028 6T60T 60T?

(A) 0.01mm (0.01OB)
(B) 0.02 mm (0.02 OIB)
(C)0.05 mm (0.05 1HIB)

(D) 04mm (0.1O1B)
Answer: (B)0.02 mm ,0.02 1518

Explanation:
Standard vernier caliper has 0.02 mm least count.

@euieothwuir &smedSluufledr Hlemeowimeot & emmibs 6T6vor amoflés 6t 0.02 HIB ,@ 1.

Q17.Which of the following isa non-contact type measuring instrument?

SledT 6u(HeuGHT QUMD M6 618 @STL[Tlcoeons DieTeliL (i &(Hodl?

(A) Optical flat (019 860 Glemrmi”)
(B) Vernier caliper (@Qeuieoflwit ssmeSiciuim)

(C)Micrometer (emd@rmiBL_Lif)

(D) Dial indicator (Lweb &6driq @& _L i)
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Answer: (A) Optical flat ; 019 &860 Slemm_

Explanation:

Optical flats use light interference patterns for surface flatness, no physical
contact required.

SpU1q &860 Yo cpaifl @ MIsE () culg euIkis emortl uweTU(HS Sl G hHumiiy

5lq emwenw SerellHl&SIng!: 2 L co@snL iy G5 emeuuileocmeo.

(Q18.In limit system, the difference between maximum and minimum size is
called:
euib (Y mmuiled, MiSlBUL_&b WHMID G mDHSUL_& Seraysoflesr 6MsSwm &b

STRIRIT M) SO &HSUIUHISIDSI?

(A) Allowance (Sigyos))
(B) Tolerance (&5 5 65T 6m1n)
(C) Deviation (6Sleo&60)

(D) Fit (Qurnapg s1b)
Answer: (B) Tolerance ; #8146 8661 omio

Explanation:

Tolerance isthe difference between upper and lower limits of a dimension.
F&IUUS & 65T oo 6T68TUSI 6 (15 Uiflmesor & Sleor Geos T b mb S&T eurbysoifleor
NS Sl &om@1b.

(Q19.Which measuring instrument is used in tool rooms for accurate angular
settings?
&(H6M Semmsatled gicoeSiuwmesr Gamemr SiembliLE61h &@LU UW6HTU(HISSUIU([HID

&N 618)?
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(A) Sine bar (e»&6br UM)
(B) Bevel protractor (Gueueo yBrmésL_nmméLiT)
(C) Clinometer (HlemorGeormiBL_L_if)

(D) Autocollimator (1" GLm@&TeSGL_L if)
Answer: (A) Sine bar ; e»& et Ui

Explanation:
Sinebar is standard in tool rooms for angle measurement using slip gauges.
6i6SIt) @& g8 (oTHL_ 60T & 6dT U & (16Xl Siemm&eifleo Gemesor SiemefiL Lq hHasmeor

iflemeowimeor & (HeSwTGb.

Q20.The instrument used for measuring surface roughness profile is:
Guhuriy &1q 6T 5 65T oL FWESEUTS 08 DieTellL LWESTU(HSSUU(HID &(mHeN
61g)I?

(A) Profilometer (0©@nm-9@eomBr_L if)

(B) Autocollimator (<" GLr@&TeSGwL"_L i)

(C)Optical flat (019 860 Glemrmi”)

(D) Sine bar (emw& 66t umiT)
Answer: (A) Profilometer ; @pm-9@eomiBL_L_it

Explanation:
Profilometer tracesand records surface roughness variations.
O@rm-91GeomBL L if GHuriy &19.6018 8 65T 610 Geumui (ha oI & 6ot &6l S &)

uSle @FaLSIDE).

Q21 Which type of fit ensures interference between shaft and hole?

& 6001 (h) H MID Flemer SemL_Bw Bmed arhuL_& GFb QUT(HSSLD 6T8)?
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(A) Clearance fit (SomL_@euefl QUTIHSHSID)
(B) Transition fit (ormyum’_(H Gur S SD)
(C) Interference fit (Bmeo @Qun(mEsib)

(D) Shrink fit (s:qp & & @QuI(HESD)

Answer: (C) Interference fit / Bpeo @un(pssd

Explanation:

In interference fit, shaft size is always larger than hole size, creating tight fit.
Bmeo @UT(IH5 S S60, &6 (h sTIGUNGID &lemeremw 6l GUIFwsTes &IHdHE D,
SDIB6OTTEO Wl@GHG OB (IH&&WTeT CUT(HSSID 2 60T TSI ).

Q22Which of the following gaugesis used for checking external diameter of
shafts?

601 (hauL_rhiseflest Geuafliym 6l L §ems & sflunisast uwesTu(Hib Gasel 61g)?

(A) Plug gauge (Glord @asn)
(B) Snap gauge (eivoeormi) @& eh)
(O)Ring gauge (flib Gas)

(D) Feeler gauge (~Seoif @& od)

Answer: (B) Snap gauge / sioeornts @a g

Explanation:
Snap gauges are designed for quick checking of external diameters.
eveorl) @& ga& 6t Gleuefliym 6N rhisemoer 6Xlemreuns & & 6oor & eofld &

AIlq QIO HHUIUL_L_606).
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Q23.Which principle does an optical flat use for flatness measurement?
B1q.6DLD Di6M6IIL_19 60 DbUIq &860 SlemmL_ 6Tihs G&m_um’_emL_U
DueEUSEEIDE?

(A) Sine principle (em&eor @am_un(h)

(B) Interference of light (pefl @ &S H)

(C)Refraction (6fevss6o)

(D) Reflection (Qr&lueSliy)

Answer: (B) Interference of light, ®@efl @ md&H

Explanation:

Optical flats use interference fringes produced by monochromatic light.

s emm iHlm epeflwmed 2 6ot @b & M1sE([H Cam(Hacmer g &&cd Glerm
uweTUHISHISIDG).

Q24.Whatis the standard length of a sine bar generally available?

OQungiaus SlemL&@ELb emaedt un Hlemeowrreor b eTeiaieTey?

(A)100 mm (100 OIB)
(B)200 mm (200 OIB)
(C)300 mm (300 OIB)

(D)500 mm (500 HIB)
Answer: (B) 200 mm ;200 51

Explanation:
Most commonly used sine barsare 200 mm long.

S15ls sl UWETUHSSUU(HID emaest umisefles Herb 200 WID @ b.
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Q25In metrology, which term denotes the reference line for surface finish
measurement?
©@wL"_greogdlulled, G Hurtiy (WLg.6 Siemesi”1q Ha&meor @& MUy Gam (i eTeueum my

S &&UIU[HSIDEI?

(A) Datum line (516 @&n(h)
(B) Lay (1emio0iL)
(C) Roughness (819 6015 8 65T 6510

(D) Waviness (ieme0@uited 8 65T 6m1p)
Answer: (A) Datum line; srey @& (h)

Explanation:

Datum line is the reference line against which surface irregularitiesare
measured.

51| G&(h sTedrug GuHurtiSlest 6(phiSlesT emibseT GUSILUu(Hib @& MHIoy

GasmLn@b.

Q26.Which device is used to measure flow rate in a pipeline?

GLmuiled UL NS5 s 08 DerellL 61hs & (He uWesTU([HS SUUHISIDE?

(A) Venturimeter (@eu@harflBL_L i)
(B) Bourdon gauge (BuniiL_csr @agn)
(C) Dynamometer (emL_cor@omBL_L i)

(D) Tachometer (Ln@smiBL"_L i)
Answer: (A) Venturimeter ; @eu@harflBr_L_i

Explanation:

Venturimeter measures fluid flow based on Bernoulli's principle.
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@oueh & fIBLI_Lif, OuFeneS] Gam_um1q 651 SigliuemL_uiled Slrey L L &ems
SiereSl(HEDG).

Q27.Which law is fundamental to the measurement of force using a spring
balance?

e Slifliki UTeV65T EMEL LIWETU(HS S ueYl DiemesiL” 1q.65T ilg UuemL_& GamL_um(h)
org)?

(A) Boyle'slaw (umiieSiesr &1°_L_1b)

(B)Hooke'slaw (98 &1"_L_1b)

(C) Newton'slaw (1Bl 1" 66t &1°_1_1b)

(D) Pascal's law (ureiosseo &1°_L1b)
Answer: (B) Hooke'slaw ; om98 &1"_L1b

Explanation:
Spring balance works on Hooke's law of elasticity: force < extension.
e Sliflik UTEVE5T6IL AMOS &L LS ST g iuemL_uSled Swibi@ Sl &l: 6uey X

HL_1q 0.

Q28 Which measuring system uses Laser interferometry?

6TH S o6l (h) (P oo Boo&r & msbSHL 6oL U uw6eTU([HS HISIDE)I?

(A) Linear displacement measurement (@piflwed &L_wnhHmid Sieresi(h)
(B) Pressure measurement (1135 51b Siomssi(h)
(C) Flow measurement (@ L Sierefi(h)

(D) Torque measurement (s1phH & eueyl Sieresi(i)

Answer: (A) Linear displacement measurement ; @pflweo SL_omhHmid

Siomefi(p
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Explanation:

Laser interferometer measures displacement with nanometer accuracy.
Covsit G MISEL_(h) & 5o BrGeormBL_L i §l60eSws gL 66T SL_MHnS s
oSl (HEDG).

Q29.Whatdoes LVDT stand for in displacement measurement?

SLrhm Seresii”_1g60 LVDT eretrug ot 6lifleunseib 616616012

(A) Linear Variable Differential Transducer
(Bpiflwed wrmum’_ ) g rresTevr wy &i)

(B) Linear Voltage Direct Transmitter
(@miflwed WledTeor (1958 CbiTLg. g9l
(C)Low Voltage Differential Transformer
(& mib Bl6dT 60T (PSS LomMIUTL (H) LMD H])
(D) Linear Variable Digital Transmitter
(Gmiflwed wmmurL () 19 gl L_6d Sisoynil)
Answer: (A) Linear Variable Differential Transducer ; @miflwed wmmum” ()
g ITetToROL Uy &

Explanation:

LVDT convertslinear displacement into proportional electrical signal.

LVDT, @miflweo &1_wribms ems Wledrcoremy &é coreons wimh miSms.

Q30.In a coordinate measuring machine (CMM), which probe is commonly
used?

Baim-piilg Beorl” Siemefi” () SwibSlrs Hleo (CMM) GQungieuns erbs GITO

uWeSTU([HSSUUHSIDEI?
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(A) Optical probe (@019 &8 60 11IGTML)
(B) Touch trigger probe (L& _M&i 1Gom))
(C) Pneumatic probe (eumy 0@mc)

(D) Magnetic probe (&rbs 1@om)
Answer: (B) Touch trigger probe ;L& "_fl&i 1@

Explanation:
CMM mostly uses touch trigger probes to sense contact points.
CMM G@ungieuns L& _flai 0@rmiisemer Q&ML i LeTeifls cmer & 6torlwits

uweTUHS SIS G

Q31.Which instrument measures torque transmitted by a rotating shaft?

&LPEVID &600T () HL_SGID &pMHE U6 SiereSl(Hib & (56l 618)?

(A) Dynamometer (6oL_cor@umBr_L_if)
(B) Strain gauge (eio1”_@mqullesr G&on)
(C) Torque meter (Lmid BL_Lif)

(D) Tachometer (Lr@a&smiBL_Li})
Answer: (C) Torque meter /Lmiié B _Lit

Explanation:
Torque meters measure twisting moment of rotating shafts.

Lmid BL_L T s1pepib & oot (Hlasafledt &ipmh&l aigniemne Sorelil(HiSImsg).

Q32.Which type of comparator is most suitable for high magnification and
accuracy?

2 wif Quilsnésbd whHmb gieoeSliwsSlh@E Wsa|b CuN(HS&LomeoT SUMTL_L

618)?
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(A)Mechanical comparator (SwibS\r sbumm_LiF)
(B) Pneumatic comparator (eumy &bumre_Lif)
(C) Electrical comparator (ler&bumm’_L i)

(D) Optical comparator (<Uiq &8 60 SDUNTL_L[F)
Answer: (D) Optical comparator ; @iq 8860 &bumrL_Lif

Explanation:
Optical comparators achieve very high magnification with light optics.
WU1q.85860 SDUNTL_L F&H6T 66ifl Dpiiig &emerots uweiTu(HiS S IEHS

OuUilEsT&SS ™8 QIDIHIE) ST M6OT.

Q33.Which element of surface texture represents the predominant direction
of tool marks?

G Huriiy Siemwilled &6l HLkisefleT (&S Slemaemiw & HlsHE D Fo m)
o1g)I?

(A) Lay (Siemiotiy)

(B) Roughness (s19 60188 661 65o10)

(C) Waviness (<160:60@urm6v 8 65T 6mLp)

(D) Flatness (19 6mp)
Answer: (A) Lay s Siemotiy

Explanation:
Lay indicates direction of machining marks.

Sl 6TTUS SWHSIT HL_hisefler Slem&emw & HlsSIng).

Q34.Which device measures pressure by balancing an elastic element against

applied pressure?
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UWSTURISSUIUL L DN(R555516E TSNS R(IH S60@E) Fo.6mm Finiblomeotiu(his Sl
DRSS Semell(Hlib & (568 615)?

(A) Bourdon tube gauge (BuniiL_or @pmis Bag)
(B) Thermocouple (0&iGwnaiSler)

(C) Pitot tube (N@L"_ @omiy)

(D) Orifice meter (6 Seto BI"_L)

Answer: (A) Bourdon tube gauge ; GuiiL_e6r @mi G@sgd

Explanation:
Bourdon gauge is most common elastic pressure gauge.

GunmiL_er B& 22 hlEH e GUNGIRITET E60@E) (RS DoT6lil”(h &HeTNITEb.

Q35.Which type of tolerance is specified to control roundness?
QL $56Temwenw SL_(HUuhSS 6T aucns FSIUILS S 65T 6mLD

SOOI UUHSIDG?

(A) Dimensional tolerance (uflwresor & &l 5 8 66T 6mID)
(B) Geometrical tolerance (2_peu &84 & 65T 6m10)
(C) Angular tolerance (@a&meor &85 8 66T 6mD)

(D) Positional tolerance (flemeotiu(hé & 60 &SI 8 60T 6mLn)
Answer: (B) Geometrical tolerance ; 2_mey #8514 & 66T 6m10

Explanation:
Roundness comes under geometrical tolerances.

QUL L& 56T em 2_(1H6Y &&EINLS S 65T LD & (61h & @ 6T U SIDE)I.
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Q36.The process of comparing an instrument with a standard is called:
6 (15 & (HeNlemiu (1 ihlemedwim ot &(HeNL65T RUISI[HID @& GHM GTEIGIT M)
S &&IU[HSIDE?

(A) Testing (B&ns emeor)

(B) Calibration (Sierey 681556 51D)
(C) Verification (#fluniigg60)

(D) Adjustment (6@ &1i1560)

Answer: (B) Calibration ; ®iere) 6856 8D

Explanation:

Calibration ensuresinstrument readings conform to standard reference.
D165 S (1HHSD 6T65TUG) &(1H6% o6l (Ha 6T Hlemeowim ot @& MIuTL (H_ ot
055(H&&E OFUSID).

Q37.Which instrument directly measures rotational speed of a shaft?

& 6ot (HouL_& Sleor &iph & Cous s ems Gmiigwns Derell(Hib &Hel 615)?

(A) Dynamometer (6oL_cor@umBr_L_if)
(B) Tachometer (Lr@s&smBL_L i)
(C) Torque meter (Lmiid BL_LiT)

(D) Stroboscope (eio1”_BrmBumsiv Gasmi)
Answer: (B) Tachometer ,Ln@&smB1_L i

Explanation:
Tachometer directly measures RPM of rotating shafts.

Lm@smBL L if &1pepib &6vor (heuussaflesr RPM g2 Gmwirig winss Sieref(H&ms.
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Q38.Which comparator uses electric induction principle?
WlT&MHS S HTevorL_co Gam_um’_emL U uWETUHSSID SDUTTL_L T 6T8)?
(A) Pneumatic comparator (eumy sbummr_L i)

(B) Mechanical comparator (SwibSlr sbumm’_Lif)

(C) Electrical comparator (ler&bumm’_L i)

(D) Optical comparator (<Uiq &8 60 SDUNTL_L[F)
Answer: (C) Electrical comparator ; iblesr&bummt_Li

Explanation:
Inductive comparators convert displacement into electrical signals.

WlesTsMbs SHUNTL L F&6iT SL LT hHmE s LHI6T &8 60T 60861 ss b M) Sl6dT M eoT.

Q39.Which method is most accurate for absolute measurement of length?

b & &lesT (1 (LR emipwITesT emelil’ g M) & GIcoeSILbmeoT (L 6O 6T8)?

(A) End standards ((p1q. 6 Hlemeosseir)
(B) Line standards (@sn () Hlemevsseir)
(C) Vernier scale (@euisofwi iorey@simev)

(D) Micrometer (6ow&GomBL_L i)
Answer: (A) End standards, (piq &) Hlemeoseir

Explanation:
End standardslike slip gauges give high accuracy compared to line standards.

oedl Bas g eir BuedTD (W96 Hlemevsseir, s (k) Hlemoos smor ol isles

&16065ILID GLPTHIE) Hl65T M 6OT.
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Q40.Which device measures power output of an engine directly?

(5 SWibSIrs Slest uaui GeefluTi”_emL Crrigwnss Serell({Hib &(HeS 618)?

(A) Tachometer (LT@a&smiBL_L i)
(B) Dynamometer (6mL_eor@omiBi™_L_if)
(C) Torque wrench (_nié Gurehé&)

(D) Indicator diagram (& esoriq @& _Lif L wiSliymib)
Answer: (B) Dynamometer ; eoL_cor@GuomBi_L_it

Explanation:
Dynamometersdirectly measure brake power of engines.
omL_cor@umBL_L_i&seir SwibSlrmiserflesr 916rs uaemr Gmbiiq wirs

ool (H&ledTmeoT.

Q41 Which instrument is used to measure very small displacementsin the
order of microns?

OWSITET Soreiled Wlasd AmMiw SL_mHmhisemer SierTedlL U uwesTu(HIb &IHeN
618)?

(A) Vernier caliper (Qeuissfiwrit &meSIOui)

(B) Dial gauge (Lweo Gsgb)

(C)Micrometer (6ow&GrmiBL_Lf)

(D) Feeler gauge (+~Seoif Gsg)
Answer: (B) Dial gauge /L weo Ga e

Explanation:
Dial gauges can detect small displacements up to microns.
L weo @& g8 61T e dImedT Siemefleomeor Flw &L omH ks o6l

& 600TL_ M &l 60T M 6oT.
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Q42 Which method is used for non-contact measurement of temperature?

@ L Sléoeomoed Gautiublemeoemi SierTeilL U LWSTU(HSSUIU(HID (WM 6T8I?

(A) Resistance thermometer (e1&lity @eutiuwmeofl)
(B) Mercury thermometer (Ungr& @euiuwmeotl)
(C)Infrared thermometer (86sr-Uirm@nL”_ @eutiumeofl)

(D) Thermocouple (Q&i@wrsiGeir)
Answer: (C) Infrared thermometer ; &e66r-Uimn@m’_ @eutiuwmeotl

Explanation:
Infrared thermometers sense emitted radiation without contact.

Seor-Orm@r”_ Geniuwneoflser G&TLiiSleocomned &&liiesieema 2 _eoori &leoT meor.

Q43.Which measurement principle doesa thermocouple use?

@5 FGworasuller 61hs SiereSiL(h Gsm_um’_eoL U uweTu([HS SISIDE)I?

(A) Seebeck effect (8@uUS oflomarey)
(B) Joule effect (23960 6Memoney)
(C)Doppler effect (Lmtieoi efemerey)

(D) Piezoelectric effect (Sw@sn 6re0s1"_flé 6eflemoney)
Answer: (A) Seebeck effect ; §@us eflemeroy

Explanation:
Thermocouple works on Seebeck effect: voltage produced when two
dissimilar metals are heated.

@5 iGwrsuller FGUE aflemereller iqUuemLulled SwihiESing): CeuciGoumy)

2_BoonsIhig el gL Teor@uig) LDl6ST 6oT (10 & 51D 2_6toTL_TSIM G,
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Q44.Which measuring instrument is best for measuring thread pitch
diameter?

SHUGIeT Q& & AL §ema el Amibhs &Hedl 618)?

(A) Thread micrometer (g(pUY eowsGumiBL_L i)
(B) Vernier caliper (Qeuieoflwit ssmeSiciui)
(C)Optical flat (<0119 860 Glemme’)

(D) Plug gauge (Slens @asn)

Answer: (A) Thread micrometer , g0y eowé@rmBL_L i

Explanation:

Thread micrometersare designed with special anvils for pitch diameter
measurement.

SIBUY oo &HGrmBL_L [f&s6T 915 & efl”_L iereliL1q hesmeor FmUiy (L &ULss (orhL 65T

aIlg QIO SHSIUL_L_606).

Q45.Which gauge is used to measure gap between mating surfaces?
Somawryb GuhHuriiysonsSHlenL_ulleoneor &emL_Gousflemu Serel_

uwedTu(Hib &g 6187

(A) Plug gauge (Gleré & on)
(B) Ring gauge (fliu G&od)
(C)Feeler gauge (-Seoif @&on)

(D) Snap gauge (eiveorns @agh)
Answer: (C) Feeler gauge / ~Seoif Gsgh

Explanation:

Feeler gauge consists of thin blades for measuring clearance gaps.
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~Sooif &b GI6SliHs &6m60scmoTd & 6T () & oL ©eueilscmer
SiereSl(HEDG).

Qa6.What is the purpose of a profile projector?

U@ .cmued LIOITOlesL_flesr GrHmd &b 61651 60T?

(A)Magnify and inspect profile (swefeursems GQufsns S e O\&F11860)
(B) Measure torque (&ph & cugpicmey Sierref(h&60)
(C) Measure temperature (@Qeutiublemeoemi Sierel (& 60)

(D) Measure pressure (113555 608 Siom6fl(Hs60)

Answer: (A) Magnify and inspect profile ; swedenrsens GQUflgnssH oy

@ &8 60

Explanation:
Profile projector magnifies component profile on a screen for measurement.
UOnm-.emued LIEITEIeRsLIT 6. MleoT swelleursomns SHlemmuileo @uflsmé &

s_[HSng).

Q47.Which instrument measures the straightness of a machine bed?

SwihSIr u{Hlsemsulilesr Gbiis Hlemw Sieredl(HIb &(mHedl 6T8)?

(A) Straight edge (@mii@an(h)
(B) Sine bar (em& 65t umiT)
(C) Vernier caliper (@Qeuiesfwii &meSloui)

(D) Slip gauge (6068t @& gd)

Answer: (A) Straight edge / @miGa (k)
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Explanation:
Straight edges are reference tools to check straightness.

CriGan(h &meilser CnisSHlemws sflunibsses @ MY & peNleommEb.

Qas8In surface texture, long wavelength errors are termed as:
Guhurty Siemwti§led ff 6torL Dicmeoiherib Ylem&6iT 6T M)

1oL & &UIU(H Sl 60T 6oT?

(A) Roughness (819 60188 661 610)

(B) Waviness (i6me0@uired & 66T 6min)
(C) Flatness (819 6mw)

(D) Lay (Siemioiiy)

Answer: (B) Waviness ; Stemeo@uired 661 6mio

Explanation:
Waviness refers to surface irregularities with longer spacing than roughness.
SD165760BUIT6D & 65T LD 6TEOTUS) &19.60T &8 6T oL ool 651 [ 6oorL

oo GleveflyL_esr 2_eirer GohHuriiy 6(1RMhISIET 6oL & emerTd @& Hl&SIm ).

Q49.Which device measures liquid flow velocity in open channels?

Soibs sreoaumiiseflco Slreu i L Gous s oms Sierel({Hib &5 o18)?

(A) Orifice meter (6ifl-Sleio (Br™_L_if)
(B) Venturimeter (@exep srifliBL_Lif)
(C) Pitot tube (MGL " @pmiy)

(D) Anemometer (16t GomBr"_1L_if)

Answer: (C) Pitot tube ; 1@ @omis
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Explanation:
Pitot tube measures velocity head of flowing liquids.

GIGL " @mi @[HIDb Slrcus St Gouss &omeoaudlemw SierTell(HEmg).

Qs50.Whatis the least count of a standard metric micrometer?

@ungicureor G flé emwéGrmBL_Lflesr & emmibs 616vor cuflé 68 6T65T 6oT?

(A) 01mm (0.104B)
(B) 0.01mm (0.01515)
(C)0.02 mm (0.02 1O1B)

(D)0.05 mm (0.05 1H1B)
Answer: (B)0.01mm ;0.01018

Explanation:
Metric micrometer hasleast count of 0.01mm.

@w1”_fl& emwdCrmBL_Lfledr @ emmibhs 61600T60fld e 0.011DID <,@E1b.

Q51 Which comparator uses air flow restriction principle?

STHGOML_L & &L (Houm’_(H Gasm_um’_emL U LWETU(HSSID SDUTTL LT 6T8)?

(A) Pneumatic comparator (eumuy s&bummr_Lif)
(B) Optical comparator (<119 &8 60 &SbummL_L i)
(C)Mechanical comparator (SwhSlr sbumrL_Lif)

(D) Electrical comparator (iBlesr&ibumm_Lii)

Answer: (A) Pneumatic comparator ; eumuy sibumm_Lit
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Explanation:

Air pressure variation is used to compare dimensions.

uflioresorbis smer GeUISIL &MHM(IR5S Gaumiun(h wesTU[HISSUIUHIGIDSI.

Q52 Which device measures vibration amplitude of machines?

SwhSlrhiseflesr iSliey uriueremey Semell(Hib &(mH el 618)?

(A) Vibrometer (coauti@GumiBL_L i)
(B) Tachometer (Lr@smiBL_L i)
(C) Torque meter (Lnifd BL_Lif)

(D) Dynamometer (6mL_eor GomBr_L_if)
Answer: (A) Vibrometer ; smeuti@rmBr_L_i

Explanation:
Vibrometer measures vibration amplitude and frequency.

cmauIBrmBL_L i SiSliellesr untiuemey WHMID DS euessTemeor Siermell(HSIDE.

Q53.Which oneisa line standard of measurement?

SlormeiiL_1q 651 @& (h) hlemeowineor gy 615)?

(A) Slip gauge (6o 6Sl) Gagh)
(B) End bar (eregorc”_ umi)
(C)Ruler (oieray@ssmeo)

(D) Measuring tape (iemeSic_ () GL_u1)
Answer: (C) Ruler ; Sierey@ameo

Explanation:

Line standards are based on distance between engraved lines.
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@& (p) Hlemevssair eT6sTUS BaT(HE (61H & SlemL_ GWILTeoT HITTSH s

SiqUUemHL W& 18T GBoTL_g).

Q54.Which method measures pressure in aeroplanes at high altitude?
2 wif 2_wrsSleo efloneorbismefled Di(1RS55H5H608 Demell U LWESTU(HSSUU(HID

(W 6181?

(A) Bourdon gauge (GuniiL_e5tr @&gh)
(B) Aneroid barometer (< eormmiyfp) uGrmBL_L i)
(C) Pitot tube (NG @omiy)

(D)Mercury manometer (ungr& 1oGeormiBL_L_if)
Answer: (B) Aneroid barometer ; @yeorpmisf) uGumBL_L i

Explanation:

Aneroid barometer measures atmospheric pressure without liquid.
Speorrmiih uBIMBL_L i Slreud &eveomned aelflinetor_6o (16858
el (HEmG).

Qs55.Which gauge checks external taper of a shaft?

Heoor (hlau g Sleor Geuafliym sflemey flunids s uwesTu(Hib Cael 618)?

(A) Plug gauge (Gleré & o)
(B) Taper ring gauge (GL_tiui fliy @)
(C) Snap gauge (eiveorns Gagh)

(D) Thread gauge (g@p0y G&eh)

Answer: (B) Taper ring gauge ; GL_tiuif fli @& g
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Explanation:
Taper ring gauges are used for checking external tapers.

GLuuii Mkl Ba g6 @euaflliym &fleysemeréd sflumidsl uwestu(HSledTM6oT.

Qs56.Which instrument is used to measure very high temperature like in
furnaces?

2_emevseifleo Gumeo & 2 _wiihg @eutiublemevemiu SiereiLt1 uwesTU(HID &(HeN
org)?

(A) Resistance thermometer (er&litiy Geutiuwmeotl)

(B) Mercury thermometer (Ungr& @euliuwmeotl)

(C) Pyrometer (eou@nmiBr_L_i)

(D) Thermocouple (@&i@wmrstiSleir)
Answer: (C) Pyrometer ; eou@umiBr_L_if

Explanation:
Pyrometersare suitable for high temperature measurements.

eouBrmBL_L &6 SiSle Geutiubleneo SiereiL g MH@ @UT(THSSLOT6EoT 6.

Qs57.In surface finish, which parameter is commonly specified in industries?
Guhurty (wig 6iled GG MdlevgIemMUSIcd GUgIeUTs @ MIGILUU{HID BieT6YS ST
618)?

(A)Ra value (&pi-6r &)

(B) Rz value (@i-@eror”_ 0 S)0)

(C) Waviness index (SiemeoBumed @& mIuT(h)

(D) Flatness deviation (819 6mw 6Slevss6o)

Answer: (A)Ra value ; sii-ar &0y
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Explanation:
Ra (arithmetic mean roughness)is standard parameter for roughness.
Ra (seoo1é&Hlweo Fnm &l &1q. 60168 661 mLo) eT6dTUSI U GIGUTET @S THIOSI6MM

SIOTRYSHHTD.

Q58 Which device is used to measure mechanical strain?

SwbSlr S(gcmey erefl(Hib &6l 615)?

(A) Torque meter (Lrié Br_Li)
(B) Strain gauge (eio1”_@mqullesr G&on)
(C) Vibrometer (coeuti@umiBL_L i)

(D) Dynamometer (6mL_eor GomBrL_L_if)
Answer: (B) Strain gauge , eio1”_©@rudlesr Gagn

Explanation:
Strain gauges convert strain into resistance change.

ool @nuSlesr G g2, & (1 smaiemiw hlesteoflied eTSITiL M bHmTE W hHnISDS).

Q59.Which measuring instrument is used to measure angles up to 5 minutes
accuracy?

5 KBl gieoeSws gL 6ot G&memrihis emerm Dot uwesTU(HIb &(H6S 618)?

(A) Bevel protractor (@ueueo yBrmésL_mmaLiT)
(B) Vernier protractor (Qeuieoflwii yGumas_mmésL_ii)
(C) Sine bar (em&6dr UMY)

(D) Autocollimator (@p1"_GLr@&T6eSIGwL_Lif)

Answer: (B) Vernier protractor ; @euit ol yGrmé L _oméLii
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Explanation:
Vernier protractor providesaccuracy of 5 minutes.

@euieflwi y@mméL_ L i 5 HIOIL gi606Slws s upHIESIDS.

Q60.Which oneisnota form measurement?

91657 62 (1H 60T D M6 6T 8 Bl B Di6iT6Si () Di6d6D?

(A) Flatness (819 6mw)
(B) Roundness (eu”_L_tiuesoryy)
(C) Parallelism (& ememorun (i)

(D) Roughness (819 6018 8661 65010
Answer: (D) Roughness / 819 6018 8 661 65010

Explanation:
Roughnessis surface texture, not form.

819 60T & 5 65T 6oL 6TGTUG) B HUTTIL SiEHUIL: QLG 6 Di6T6S(h) Di606V.

Q61 Which instrument is most suitable for measuring taper angle precisely?

&sfley Gsneordoms gicoeSlwiwns SeTeil HAmibs & Hed 618)?

(A) Vernier bevel protractor (@Qeuiesfiui Gueusd yBTT&L_TTaLIT)
(B) Autocollimator (@y"_GLr@&T6eSGw1"_L 1)
(C) Combination set (smb9Beorx9.651 @ &L )

(D) Sine bar with slip gauges (em&66r umii LHMID 6LESIT B& g 6iT)
Answer: (D) Sine bar with slip gauges ; em&esr umii hHmib etveSls @& g6

Explanation:

Sine bar and slip gauges provide high accuracy for taper angle measurement.
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& 65T Ui HmID 6vedl Casgaser &ifley Gasmesr SiomefiL 1 6 WIEHS

81606515 608 GULPIHIE) 60T D 6OT.

Q62.Which comparator gives the highest magnification?

S15lstugwineor GUTIETE & 660 ULPIRIEG) D &IHUMTL_L T 6187

(A)Mechanical comparator (SwibSlr sbumm_LiF)
(B) Electrical comparator (Slestsbumm_Lif)
(C)Optical comparator (<Uiq &8 60 SDUNTL_L[F)

(D) Pneumatic comparator (eumuj &bummL_Lif)
Answer: (C) Optical comparator ; Dpli1q 8860 &bumm_L i

Explanation:
Optical comparators use light beams for high magnification and accuracy.
U1q 85860 SDUNTL_L [&H6iT 6oiflé & emmaemerts weTU[HISS] Sils

@ufl&T& 860 WHMID §icv6SIIE S AIPMHIE, ST M6OT.

Q63.Which of the following isa type of clearance fit?

SledT (R A6 UMD 16D 6718 SleflwresToiv 91" @& b?

(A) Shaft size < Hole size (& 6601 (i) Sterey < g1omerr Sierey)
(B) Shaft size = Hole size (& 6601 (i) Sterrey = g1omerr Sierey)
(C) Shaft size > Hole size (& 6dor (i) ooy > giemer Siemery)
(D) Shaft size = Hole size with interference (&6tor(h) Sierey = giomer Sieroy,

SoL Y| 1L S 6or)

Answer: (A) Shaft size < Hole size ; g ot (i) Sterey < giemer Sieroy
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Explanation:
In clearance fit, hole isalwayslarger than shaft.
Sloflwiresr oo ~SI°_- &6, Hiemer 6TlIGUTGID & 6007 (i) DieTemoud &L oitd GuflETs

SH&HGD.

Qs64.Whatis the function of a slip gauge?

665 & shledT Lietoll 6165T 60T?

(A) To measure angles (Bameorhgs smer Stemed (Hia6o)

(B) To provide reference standard length (gnetr my om0 eu101bIE, & 60)
(C) To measure surface roughness (G hHumtiy &1q 60T &8 65T GO DI
S1i6m6li(H&60)

(D) To measure thread pitch (gpoy G1&eme Sierel(H&60)

Answer: (B) To provide reference standard length ; #resr oy B ené e08
QULDIBIE) 86D
Explanation:

Slip gauges provide highly accurate length standards.

o6Sl & g &6l W@ HG HicoeSliuwmeot Har Hlemeoss emerr aulpThIE) HeoTm6oT.

Q65 Which instrument is used for calibration of angle measuring devices?

@amemor el (h) &pedlsemer &fl@ & LweTUHID &(HeN 618)?

(A) Autocollimator (1" GLr@&TeSIGwL_Lif)
(B) Protractor (yGmméL_oméLiT)
(C)Bevel gauge (Glueuco Bagn)

(D) Clinometer (Slemer@eormBr™_L_ii)

Answer: (A) Autocollimator ; @,1"_GLm@&meSIGw1"_L i
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Explanation:
Autocollimator provides very high accuracy in angular calibration.
B BLT@&T6eSIGwL L i @smesor SerefiL (i) &0 &5 65160 D& HS

8160655 608 QUPIHIESIDSI.

Qse6.In metrology, which error occurs due to imperfect calibration of
instruments?
©wL”_greogdlulled, &(mellsaflesr Fil@ &S 60 &MU (h SMTEOTLONES 6 HU(HID

Sleowp 6181?

(A) Systematic error (Siemwiy&inHa Glemip)
(B)Random error (ErpHm Gemip)
(C) Personal error (e0fliu_L Glemip)

(D) Environmental error (&b miiym Slemip)
Answer: (A) Systematic error ; Siemwiysmibhs Slemwp

Explanation:
Systematic errors are consistent and repeatable due to calibration issues.
iU ETHS Slempsser @& TLii& S coremoy: FflO&11860 @& emmun (Hl&erTeo

aru(hH\&ledTmcor

Q67.Which device is used to measure torque in rotating shafts?

&LOEVID & 60T (Hlaa6ifled Lmideme Demeil U uwestu(hib &8 618)?

(A) Dynamometer (emL_eor@uomiBr_L_if)
(B) Torque meter (Lmié B _Lif)
(C) Vibrometer (coeuti@omiBL_L_if)

(D) Load cell (siomwo @&60)
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Answer: (B) Torque meter /L_mié B1_Li

Explanation:
Torque meters measure twisting moment on shafts.

Lmié BI_L Faei 5 6tor (hisaifled Hle b siph &l augpiomen Siem el (Hi&lesTmeor.

Q68.Which instrument isbased on the principle of interferometry?

Seo1Li-uGrmEnL_fl Gam_um’_ 19 6T Sig LuemL_ulléd @&weou(HID &H6N 6T8I?

(A) Optical flat (<019 &8 60 Glemme)
(B) Slip gauge (6h06Sl1 Baeh)
(C) Vernier caliper (@euieoflwii &meSlou)

(D) Dial indicator (L_wieb & 66119 Bss1"_L_IF)
Answer: (A) Optical flat ; @119 860 Slemmi_

Explanation:
Optical flats use light interference to measure flatness.

SWUq &860 Yo spafl SemLuTi"_emL uwesTUHSS] Hlg o emiw SieTed(HSIDG).

Qs9.In limit gauges, "No-Go" gauge checks for:

Sl Bagrsatled, "Crm-Ban" @& eh 616 H&NsS LWETUHISSUIUHISIDS)?

(A) Maximum material condition (Silasul”_& @ui e Hlemeo)
(B) Minimum material condition (@eombgsul_& Gunpeir Hlemeo)
(C) Surface roughness (G hHumiiy &1q 60T 8 8 65T 6mLD)

(D) Angular deviation (Gsmesor 69608 60)

Answer: (A) Maximum material condition ; @i$lsul_& @unpeir Hlemeo
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Explanation:
No-Go gauge ensures that part does not exceed maximum limit.

Crm-Bam Based, uTs ASlHUL_& DeTemes BoITEHms 2 miS CEwSIns.

Q70.Which instrument is used for measurement of gear tooth profile?

Slwii ued sweleursems SierellL U1 weTU(HID &(HeN 6T8)?

(A) Profile projector (0@nm..cousco @ITGIERsL_IT)
(B) Gear tooth vernier caliper (Slwii ueo @euisoflwit &mreSIULT)
(C)Optical flat (=,0119 860 Qo)

(D) Bevel protractor (Queuso yBrmésL_mmésLii)
Answer: (A) Profile projector ; @nm..cmou6d @ITOIe2&L_it

Explanation:

Profile projector magnifies and compares gear tooth profiles.

UO@IT-.cmucd L@ITOIgR&L 1T Slwi ucd sweleurhisemner GUflsTeS UGIHSIDS.

Q71 The sensitivity of a spirit level depends on:

o Ulifl_ Gleoeuedlest 2_cwriSIM6dT 618 cmeoTts GIUN MG & &7

(A) Length of bubble tube (&wWlp @wruilesr Berib)
(B) Diameter of bubble (@ wWldleor 691°_L_1b)
(C) Thickness of glass (& 6dor ssormiq uSledr &1q.1065T)

(D) Temperature (@eutiublemeo)

Answer: (A) Length of bubble tube / @l @wruiesr Bomb
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Explanation:
Longer tube increases sensitivity of spirit levels.

Bemwmeor @Gmi sivllfll @eoeuedicsr 2_cwriSlmemneor DiS5)sfléSns.

Q72.Which property is measured using a planimeter?

SlermeoflBL"_Lif 6T1h& Letor smu et uwesTU([HISID&I?

(A) Surface roughness (GwhHumtiy &1q.601 58 65T 6GMID)
(B) Area measurement (uTiueTe)y Sieresi(h))
(C) Angle measurement (@&nesor erefi(h))

(D) Torque measurement (Lmié Sieresi(p)
Answer: (B) Area measurement / urtuere) Siemesi ()

Explanation:
Planimeters are used for measuring area of irregular figures.
SlerreoflBL_Lfseir 6(1prhisHm alg eurbiseflesr uTliueTeme Sieredl_

uwesTU(Hl&l6dT M 6oT.

Q73.Which type of error is unavoidable in measurement?

SiomeSi”_1q 60 HMiT&HE (WIg WS Slemw 618)?

(A) Systematic error (Siemwiy&mihs Slemip)
(B)Random error (FrhHm Semip)

(C) Gross error (Quifiw Slemip)

(D) Personal error (e0fliu_L Sleowp)

Answer: (B) Random error, &b Slemp
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Explanation:
Random errors occur due to uncontrollable causes like vibration, noise.
Ermo Yemser s (HUuhSS (PG WNS STEOIhIS6T (iSli6), &551D)

SNIETLONS of (HU(H&Sl6STm6oT.

Q74.Which device is used to measure small thickness of sheet metals?

& @QuwL_L cosaiflesT M &Lq 106518 6meT SemesLt1 LWeSTU(HID &(HEN 6T8I?

(A) Micrometer (eow&GrmiBL_L i)

(B) Vernier caliper (Qeuieoflwit ssmeSlitiui)
(C) Slip gauge (6iv6Sl) G od)

(D) Feeler gauge (-Sooif @&gb)

Answer: (A) Micrometer ; eowé@rmiBL_Lit

Explanation:
Micrometers provide high precision thickness measurement.

oW &CrmBL_Li&6T D@ Hs G606 gL 65T Flq emeot e 68 (h&ledTmeor

Q75.In metrology, which method is used for measuring roundness?

@wL_greogdlulled, aul” L Uuesor 6emu o6l 6Tih& (Y 6mm UWETU([HSSUUHISIDS)?

(A) Talyrond machine (@Liieonmedor” SwibSlrib)
(B) Slip gauge (60651 G gh)
(C) Vernier caliper (@Qeuiesfwii &meSloui)

(D) Dial gauge (L_weo Gagn)

Answer: (A) Talyrond machine ; QL eonmesor” SwibSlrb
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Explanation:

Talyrond machine provides roundness measurement with high accuracy.
OL weormesor” SwibSlTb eyl L iuesoremu WG Hs §l606SIws I 6ot

oSl (HEDG).

Q76.The primary function of adynamometer is to measure:

ooL_cor GomBL_L_fledr (L& 65T 6mio Uewtl 6187

(A) Power (568))

(B) Pressure (2105 51b)
(C) Strain (&g emen)
(D) Flow (gL _Lib)

Answer: (A)Power ; 568)

Explanation:
Dynamometer measures force and torque to calculate power.

6oL_coTGmBL_L if 6uepIemeulLd L& emaib o6l &8 Slemw &eoré Sl(HSIms).

Q77.Which instrument is used for alignment of machine tools?

SwihSr &peilsaflesr Fremwiiyd @ UweTU[HID & (56X 6T8)?

(A) Autocollimator (1" GLr@&TeSIGwL_Lif)
(B) Dial indicator (Lweo &6or1q @&1"_L1f)
(C) Vernier caliper (@Qeuiesfwii &meSloui)

(D) Protractor (UGuméL _gméL_if)

Answer: (A) Autocollimator ; D,1"_GLm@&meSIGw1_L i
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Explanation:
Autocollimator checks and aligns machine tool axes precisely.
B BLT@&TSIGWLL LT SwihSHIr D& &8 emer gieoeSlwionsss sflumisg)

FreowsSlns).

Q78.Which flow measurement device works on Bernoulli's principle?
@uir@eormeSludlesr GamL_umL_1q 6T ilg LuemL_ulléd @&FWedU(HID UL DieTeSiL(h)

&(H6N 6187

(A) Venturimeter (@eu@parflBL_L i)

(B) Orifice meter (6ifl-Sleto B"_L_1f)

(C) Pitot tube (Q@Lm_ @pmi)

(D) All of the above (B h&6sorL Diemeor & GIb)

Answer: (D) All of the above / G & etorL_ Sievreor & gD

Explanation:
Venturimeter, orifice meter and Pitot tube all operate on Bernoulli's principle.
@oueh & FIBL_L i, spifl-Gleiv B i, NIGLM @pmi <, &lwemen Gui@eormeS]

Gam_um’_1q 651 g LiuemL_ulled Swrki@)Sl6dTmeor.

Q79.Which type of tolerance specifies maximum permissible variation in a
part?
6 (15 s Mo ASlHUL_&F i) Sles0ul_ L Gaumun’_ coL_& @& HIuUl([Hib

L_IT60IT60T 610 618))7

(A) Dimensional tolerance (ufimesor L_meoredr o)

(B) Geometrical tolerance (yeSu§lweo L_meom6dT6iv)
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(C) Surface tolerance (G hHuntiy Lmeoresren)

(D) Angular tolerance (@& 6ot L_meoredreiv)
Answer: (A) Dimensional tolerance ; uflioresor L_meoresrero

Explanation:
Dimensional tolerance limits variation in size of a part.

uflmesor LTeomedT 6o FaMledT Stemelled arbupHib Geumiun’ emL cuemTumIsSnE).

Q80.Which property of a surface isdefined by "Lay"?

"@ov" 6TEOTUSHGOT eLpedLD BEOTIMIS&SIL(HID G hHuriiy uessry 6187

(A) Direction of surface pattern (Guwhurii aigq 6us St Hloms)
(B) Depth of roughness (&1q 60188 661 cm1oUS165T pIOID)
(C) Waviness height (=16me0@umed 2 wirid)

(D) Flatness deviation (519 6o 696v&60)
Answer: (A) Direction of surface pattern ; GumhHuriiy eig eusSl6or Hlona

Explanation:
Layisthedirection of predominant surface pattern.

@ov er68TUS G HUTIY Qg GHSI6T (P &SI Slem&emw @& Ml&SIm ).

Q81 Which comparator provides the highest magnification among the
following?

Sledt (M Gu6oT QD MHl6d DiSlBUL_& EUIHTE S S QIPHIED SIHOUTTL LI 6T8)?

(A) Mechanical comparator (SwibSlr ssbumrL_Lif)

(B) Pneumatic comparator (eumuy &ibumrt_L_if)
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(C) Electrical comparator (ibledr&bumm_Lif)

(D) Optical comparator (<Uiq &8 60 SDUNTL_L[F)
Answer: (D) Optical comparator ; @iq 8860 &bumrL_Lif

Explanation:

Optical comparators can achieve magnification up to 5000:1, higher than
other types.

SpUIq &8 60 SOUMTL_L_[f&H6IT 5000:16u6mT Guflenés (piq.ujb, 83

DD EUE DO HITL_Lq.GID DiS|&HLD.

Q82.Which instrument is commonly used for concentricity measurement?
speit Mlememrey (Concentricity) SierefiLLq hH @0 @ungieuns uwesTu(HiSSUIU(HID

&(H6N 6187

(A) Tool maker’s microscope (&6 gwirflumeni mietor @eoormds &)
(B) Profile projector (1@uqm..cmoucd (@TT©@ 8L [})
(C) Autocollimator (21" GLr@&TeSGwL_Lif)

(D) Dial test indicator (Lweo @L e’ S6driq GasL”_L i)
Answer: (A) Tool maker's microscope ; &meS) wnfliumeni miecor Gevorm & &)

Explanation:

Tool maker’s microscope allows precise checking of concentricity and small
profiles.

&6l swirfloureni miesor Gevorés &) HlHw srweHlourrbisofledr 6965t 16w 6ot 63l 6o 6o

sieoeSlwions ufl@enSlés 2 5o Slng).

Q83 Whatis the basic principle of pneumatic comparators?

Ueofliy 1om”_1q & sbunr_ L fseflesr Dig liusmL Gsm_un (k) 6T6orcor?
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(A) Pressure drop due to restriction (&6mLwmed ahHu@Ibd D(R558 & Dm6y)
(B) Change in resistance (er&lit19l66t omhHmib)

(C) Deflection of pointer (&g uSlesr 691608 60)

(D) Reflection of light (spefluSiesr Sir&luediviy)

Answer: (A) Pressure drop due to restriction ; semLwired aruBiid i858
&ODe)

Explanation:

Pneumatic comparators use variation in air pressure when air escapes
through small gaps.

oumy sUTTL_L fs&eir, Al oo Oeueflsatlesr eudlwns smbm

@eueflGwmbGugy) abuHlid 1(RS5s Geumu oL UWETU(HS SISl meoT.

Q84.Which type of fit ensures no clearance and no interference?

6TH S aUems QUT(HS S SooL GleueaflGwr & misEGmm &eocomocd &H G b?

(A) Clearance fit (S ooL_@evefl QU HES1D)

(B) Interference fit (&m&& [H @QuIHSHSD)

(C) Transition fit (ormub @ur(HSsId)

(D) Shrink fit (&@priu@ b GOuTIHSHSD)

Answer: (C) Transition fit/ mmub Gurps b

Explanation:

Transition fit may result in either a small clearance or a small interference,

ensuring tight control.

wrmib QurIrS b HHlu SooL_Gcucll Sicoeos &MISEL_ oL Hrdse (HID,

Slvedlw &1°_[HIUUM_6mL QIRHIG SIDE).
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Qss.Surface lay refers to:

Guhurtiy “Gev " er6dTUG) & MG EIMS!:

(A) Geometrical form (auig 6u69lwed cLg 6MID)

(B) Predominant direction of surface pattern (Gwhuntiy eig 6us Slesr Gysmeor
Slons)

(C) Surface waviness (Gwmhuniiy Sieweo@u & @)

(D) Tolerance band (&&l1y% 8 65T 6mb 6UI"_L_ID)

Answer: (B) Predominant direction of surface pattern ; Guwmburiiy

aulg 6us Slest Slrsmeor Hlom s

Explanation:

Surface lay indicates the general direction of tool marks or machining pattern.
Guhurtiy Gev eresTug &(HEN @& MIUT([HIGET Dicocog SWiHSIT Grlg 61 S)6oT
Oung5 Slevgemw &MISSIng).

Qs6.Which gauge is used to check the pitch of screw threads?

S sMpoysatlest Y1&eme siluniéss oTibgs G LWGTU[HISSUUHISIDS?

(A) Thread pitch gauge (Hip@ G1& & Gsgn)
(B)Ring gauge (fiib Gas)

(C)Snap gauge (eiveorns Gagh)

(D) Plug gauge (Qleré @an)

Answer: (A) Thread pitch gauge ; Sigp@ G&a Cagn

Explanation:

Thread pitch gauge has a series of blades with different pitches for checking

threads.
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@ Y& Caghloo ucbBaum) Y& &8 emond GaTatorL Ued SifleumeiTaer 2_6Terreor,

Diem6 S(15G Homer &flumis e uwesTu(H&ledTmeoT.

Q87.Which one measures the straightness of a surface?

615 GuhHurtitlcsr Gris Slemwé &1 Sl (Houg) 618)?

(A) Straight edge (Gmii & 5] Doy &ibA)
(B) Sine bar (em& 66t umi)
(C)Bevel protractor (@ueued yBmmésL_TmésL i)

(D) Vernier height gauge (Qeuisoflui 2 _wir @ssn)
Answer: (A) Straight edge ; Gmii &5 ey &b

Explanation:

Straight edgesare used asa reference line to test straightness.
GriisH S &b (15 & MUY CamLnsl LWETUHISSUUL () CHisHS
ufl@enSléauuHiSIns.

Qs8.The most suitable instrument for flatness measurement is:

1 LD6OT SiemeSiL_Lq (@ W& 6D GUN(THS SHLOMeoT &(H6X 6T8)?

(A) Optical flat (019 860 Slemrmi”)
(B) Slip gauge (60651 G gh)
(C)Micrometer (6ow&GrmiBL_Lf)

(D) Vernier caliper (@Qeuiesfurt smeSlui)
Answer: (A) Optical flat ; D019 &860 Slommi_

Explanation:

Optical flats use interference fringes to check flatness.
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WUIg&5&60 Yo" & mis & (h) Ca(Hlesemert) uweTu(hHS S &Lq b6t &

Hco1SH Sl(HSIDE).

Q89.Which of the following isa direct measuring instrument?

SledT (1 6u6oT UMD MHl6D 6T GCBImg. D6l () &(mHe?

(A) Micrometer (eow&@rmiBL_L i)
(B) Slip gauge (6065l B gh)
(C) Dial comparator (Lweéb sbumrL_L i)

(D) Pneumatic comparator (eumuj &bummL_Lif)
Answer: (A) Micrometer ; eowéGomBr_L i

Explanation:
Micrometer givesdirect reading of dimension, while comparators are indirect.
cow&@rmbL_L i uflioresors ems GCmrig wins SietldsSmg), <,6eoTITed SIUMTL L F&6iT

LD 6O (P SHLDITGOT 60)6).

Q90.The ratio of output to input of a measuring system is termed as:
6(15 DioTeSiL () SiemwUilledr Gleuaflium’_Lg HEGD 2_6ToiTL " 1q HEmeor 6&lsh

GTGUGIT M) DI &HHUIU(HSIDE)?

(A) Accuracy (geoeShwib)
(B) Sensitivity (2_eoorii Slmeor)
(C) Precision (mi_uib)

(D) Calibration (sieefii”_(i) &fl@&11560)

Answer: (B) Sensitivity / 2_eoorii Slmeor
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Explanation:
Sensitivity represents the smallest change a device can detect.
2 e SImedT 6T6dTUS) & (H6N &6vorLHlwd e 19 W 1bls &S THmH S s

&M&EHDS).

Qo1In metrology, hysteresis error is mainly due to:

©@wL"_greogdlulledp anlev @LflerSleiv Slemip 618 6oTT60 arbHuHSHImE?

(A) Friction (2_rmiiey)
(B) Backlash (965t §ocmL_@6uef)
(C) Elastic deformation (8weoumeor 69608 60)

(D) Temperature variation (@eutiuBlemeo wmmum(h))
Answer: (C) Elastic deformation ; &weouneor 65leos 60

Explanation:

Hysteresis error occurs due to material'sinability to return exactly to original
shape.

@UITIHOIT DiGH6OT 1T aIlguSSDES GlcoeSms S(HDU SO SHST6O

anleiv GIL_flerSleiv Slemip arbuBSms.

Q92.Which type of tolerance isapplied to surface roughness?
G hHurtiy &1q 66158 ST &) 6THS cUemE &F&INILG S GOT 6L

vwesTU(HSSUUHISIDEI?

(A) Geometrical tolerance (au1q eueSliuco &S5 8 65T 6mID)
(B) Dimensional tolerance (uflwresor &8I0 5 8 65T 6mID)
(C)Form tolerance (619 63 #5018 8 65T 6m1D)

(D) Surface finish tolerance (GwmHurtiy (wiq 6 &&H 0SS 65T6mID)
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Answer: (D) Surface finish tolerance ; Guhurntiy (piq &) &1 & 65T 6miD

Explanation:

Surface finish tolerance specifies the permissible deviation in surface
roughness.

Guhuriiy 9.6 FSINILS 8 66T 6oL, B HUNTIL &1q 60T 8 8 66T MLDUII60

S S1&850UL_L 65l6085 60608 & DIUS(HSIDS).

Q93 Which flow measuring device works on Bernoulli's principle?

OUFs)I6065] &MU 1g.60 SWhiGD QL L D66l () &M 6187

(A) Orifice meter (<960 B1"_L_f)
(B) Turbine meter (Liremuedr B1°_L i)
(C) Electromagnetic flow meter (Blesranbs epr_L B i)

(D) Ultrasonic flow meter (ico”_nm@&meofld gpr_ L (BL_L i)
Answer: (A) Orifice meter ; &, fl-Gevo B _Lif

Explanation:

Orifice meter measures flow using pressure difference based on Bernoulli's
theorem.

S fl-aSleio BL_L 1T, GUFenicd 68l s um’_1q 65T g LiuemL_ulled Di(IRS55

Caumum_eoL_ U uwesTU([HSS] PL_L&ems Somrell(Hi&SImg).

Q94.The power of an engine is measured by:

(15 SWihSITS Sl &&5] 618565T epoold SoreilUu{HISIS)?

(A) Tachometer (GL@a&smBI"_L 1)

(B) Dynamometer (6omL_eor@omiBi™_Lif)
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(C)Manometer (ion@eormBL™_L_if)

(D) Anemometer (<160t GomBL_L_if)
Answer: (B) Dynamometer ; eoL_cor@GuomBi_L_it

Explanation:
Dynamometers measure torque and speed to calculate power output.
ooL_cor GombL L [f&6T Lmid whmib Goussoms onbg) 565 Gauatlufi’_ emL

& 60015 5\ (h Sl6dT M 6oT.

Q95 Which instrument is used for angular measurement in precision optical
work?
&16065IDT 60T WUILq 88560 uenflsafleo G&mesor DiemefiL 1q HE& 6TiHG &(IHeN

uwesTU(HSSUU(HISIDEI?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)
(B) Clinometer (Slemor@eormiBL_L_if)
(C) Sine bar (ew& 66t UmH)

(D) Bevel protractor (Gueueo yGrmésL_mmésLii)
Answer: (A) Autocollimator ; D" GLm@&meSIGw1"_L_if

Explanation:

Autocollimator gives high-precision angular measurement using reflected
light beams.

1" BCLr@&T6eSIGwLLif SirSlusdisasiiul_L opatldsshommaeemort uwesTu(hs S
BI&H5 GlcoeSlwiomeor G&mesor ioTei_ 6oL auLpIhIE S G).

Qo96.Which comparator uses light interference fringes for measurement?

Sier6fil1q HaTs opatl @ misE (H G (hisemort LGTUHISSID SHUTTL_L T 6T8)?
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(A) Optical comparator (<=pUiq &8 60 SbUMTL_L 1)
(B) Pneumatic comparator (eumy &bumre_Lif)
(C) Electrical comparator (ler&bumm’_L i)

(D) Mechanical comparator (SwhSr ssbummr_Li)
Answer: (A) Optical comparator ; Dyl1q 8860 &bumT_L i

Explanation:

Optical comparators use light beam magnification and fringes to detect
deviations.

U1q.85860 HDUNTL_L F8&6iT oifléssmhemm Guflsmésid whHmib @& miés(h)

@sn(hlasemerts LwesTU(HS S 651608 608 6T & 6voTL_MHI&6ST M GoT.

Q97.Which device measures torque directly?

Lmid-e2 Gmmigwns Sierell(Hib & 56l 618)?

(A) Prony brake dynamometer (1@rmeoll 918ré omL_cor@omiBr_L i)
(B) Orifice meter (<, fl-Gleio Br_L_if)

(C) Venturimeter (@euh &, fl BL_L i)

(D) Tachometer (GL_@&smBL_L if)

Answer: (A) Prony brake dynamometer ; 18rmeoll 918r& smL_cor@uomBL_L_i

Explanation:

Prony brake measures torque by frictional resistance applied to rotating shaft.
UGrmeofl S8 & eYId &6vor (h B 2 Tmile] eTSHlitcmul LweTUHISS] LTid-en
SiorN(HEDG).

Qo8 Which error is eliminated in differential measurement method?

Coumum”_ (i) Siemefi”_ () (W emmudled 618 HEH&SIUHISIDG?
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(A) Systematic error (Siemwuiy Slemip)

(B) Instrumental error (&5 65 Glemip)

(C) Environmental error (&Hmiégp60 Slemip)
(D) Zero error (y,g2w Slemip)

Answer: (D) Zero error /1 gdw Slemip

Explanation:

Differential method cancels out zero error since only change in reading is
considered.

Gaumum’”_(h (p smm L, sow Blemipsow 8@ Slm g, or Gleorsotled aumSilled ermbu(bHid

wrHmEw L HIb HIHSUIUHSIDS).

Q99.Which device is used for measuring very small displacements?

lesd FlHwu S1L_rbHmrbisemer el 61h & & (Hel LWesTU(HSSUIUHISIDG)I?

(A) Linear Variable Differential Transformer - LVDT
(Gmpiflwed wrmub Geumyun (R wrhHidl - LVDT)

(B) Vernier caliper (@Qeuieoflwii ssmeSiciuim)
(C)Micrometer (6ow&GrmiBL_L_f)

(D) Slip gauge (6oeSlt) @agh)
Answer:(A)LVDT,LVDT

Explanation:
LVDT convertslinear displacement into proportional electrical output.

LVDT, @mflweo S1_onbHmsems Wleir 6ot (195 Lo b miSims!.

Q100.Which system of fitsis commonly adopted in India?

SpSlwunelleo Gungieuns SlestubHDUIU(HID CUT(HSS (W HDHOIWE)?
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(A) Hole basis system (gemer igiueoL (pemm)
(B) Shaft basis system (&egor (i) ig LiuemL (L 6OMD)
(C) Interference system (& midb&H) (P oom)
(D) Clearance system (&6oL_@6uafl (pomm)

Answer: (A) Hole basis system ; giomerr Siq liusoL (peom

Explanation:

In India, hole basis system is adopted as holes are harder to machine compared
to shafts.

SpSlwnelleo giemersemer SWibSITUIU(HS SI6u8) & 60T (ha& e 6Nl &Lq.6oTD

6TEOTUSITEO HIGMOI ilq UUGOL (P M SleTUDHDUILHISIDS.

Q101.Which type of fitis obtained when the largest shaft is smaller than the
smallest hole?

6(15 Hlemomudlest hls & Ml Sieremen el &evor (i sTuGUTGID HAHlwsTs
SH&GDEUTE SlemL&@Eb QUTIHSSD 618)?

(A) Clearance fit (SooL_@euefl QU IHSSD)
(B) Interference fit (&m&& [H @QurmSH D)
(C) Transition fit (ommub @ur(HSH D)
(D) Shrink fit (@@ b GuUIEHE&Lb)

Answer: (A) Clearance fit ; §omL_G@euefl QU (Hs &b

Explanation:

Clearance fit always ensures some space between hole and shaft.
SooL_Oeuafl QuUITIHS D Glcmer WhHMID &6or(h oo Bw etTiBungib Fblserey
S ooL_Oleuoflomu ki@ Sng).
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Q102 Which instrument is used for measuring gear tooth thickness?

Slwii ub&6fledT HLqemeoTd HeTHEIL 6THS &(HeM LWETU(HSSUIU(HISIDG?

(A) Gear tooth vernier caliper (Swif ued G euieoRlwit &meSICUT)
(B) Bevel protractor (@ueueo yGomésL_mmésLii)
(C) Micrometer (emw&GomiBL_Lif)

(D) Sine bar (ew& 6ot umi)
Answer: (A) Gear tooth vernier caliper ; & ueo @eauieoflwiF smeSltuF

Explanation:
Gear tooth vernier measures chordal thickness of gear teeth accurately.

Slwii ued GeuTeflwii ubHseflesr HmiL 60 &HlqemeoTd FledeSlwibnes DeTesl(HSInE).

(Q103.Which type of error occurs due to parallax in reading?

o E0Sl6d UMTEV&6id STTGITLNS 6T HU(HID BlemLp 6187

(A) Observational error (&euessfliys Sleow)
(B) Environmental error (&b gyé gp60 Sleowp)
(C) Instrumental error (&@eSlt Glemip)

(D)Random error (Erhm Slewip)
Answer: (A) Observational error ; seuesfliyts Slemw

Explanation:
Parallax error arises when eye is not aligned properly with the scale.
UNTe&6iv lemLp 6TEETUG) &600T Do BasToyIL 65T GBI FremwssluLTsGuns)

THuUOHEDS).
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(Q104.Which comparator uses amplification by mechanical linkages?
6Tihs SUMT_L if SwibSHlr Sememriiyseir eyeold GQuUflsnéssemnsls

uWesTU(HS SIS SI?

(A)Mechanical comparator (SwibSlr sbumm_LiT)
(B) Electrical comparator (iblesr&ibumm_Lif)
(C) Pneumatic comparator (eumuy &bummL_L i)

(D) Optical comparator (<Uiq &8 60 SDUNTL_L[F)
Answer: (A) Mechanical comparator ; SwibSir sbumm”_Li

Explanation:
Mechanical comparators rely on gears, levers, and linkages for magnification.
SwihSIr HUMTL_L F&6T SwiseTr, Sauisserr hmib &6memriiL&e6T ey eold

OuUlET&ESS ™8 QULDIHIE) ST M6OT.

Q105 The instrument used for flatness testing in high precision laboratories is:
2 _wif HieoeSIiu IesHIS6iT60 Hlq 10660t & 60T HSIL_ U UW6STU([HSSUU(HID

&HoN 618)?

(A) Optical flat (@019 860 Slermi”)
(B) Vernier height gauge (@Qeuisohwii 2 _wir @sgb)
(C) Slip gauge (6w 68l B&gd)

(D) Dial indicator (Lweo &6driq Gss1™_L i)
Answer: (A) Optical flat ; D019 &860 Slemmi

Explanation:
Optical flats are standard tools for laboratory flatness testing.
SpU1q & 60 Gleml_ Dpieusmiselfled &lq Lbemeoré & 6o Sl 1hlemeowt cor

&(HeNIWTG)LD.
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(Q106.Which measuring system directly converts physical quantity into digital
form?
2 | 60 DioT6)&H 606 GbIig WiTs 1g.89° L 60 GIlg QIS MHMID SiemeSi ()

Dol 6T8)?

(A) Analog system (Dicor60md DicmioliL)
(B) Digital system (1g.201"_L_60 Sicmioliy)
(C) Hybrid system (& ememorey] SieminliLy)

(D) Mechanical system (SwihSr Siemiorin))
Answer: (B) Digital system /19 g8l1"_L_6b Dicmiotiy

Explanation:

Digital systemsavoid parallax and observational errors by showing direct
digital output.

19 891L°_L_60 Siemtiysser Gmimiq 19 88l 1_6b @eueflium’_emL_ Sieflliugmeo umrevd e

whHMIb seuefliyt) Glemp s emer &6l s &HledTmeor.

(Q107.Which of the following gaugesisa limit gauge?

65T 6u(IHGUGHT UMD 16 615 GUIbL B&H D @& D?

(A) Snap gauge (eiveorms @aHgh)
(B) Vernier caliper (@Qeuieoflwii ssmeSiciuim)
(C)Micrometer (emwd@rmiBL_Lif)

(D) Dial indicator (Lweo &6driq Gas1”_L i)
Answer: (A) Snap gauge / siocormts Gagn

Explanation:

Limit gauges such as snap gauges provide GO/,NO-GO checking.
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eveort Gag Gunesrm eumiby Gasgpaer “GO/NO-GO ufl@ & s emeot & emert

GULDTEIE S6OT M 6OT.

Q108 The instrument used to measure taper angle of a shaftis:

6 (15 H6vorlq .61 BGLUIuT G&memrsems SerelilL U uwesTu[HISSUIU(HID &(HeN 6T8)?

(A) Sine bar (ew& et uMY)

(B) Bevel protractor (@ueuco yGomssL_mmésLii)
(C) Autocollimator (1" BLr@&m6eSIGwL_Lif)
(D) Slip gauge (6o 68l & o)

Answer: (B) Bevel protractor ; @ueueo yBrméL_nméL_ii

Explanation:
Bevel protractor is widely used for measuring tapers and angles in workshops.
@ueuco yBrméL oL i UL emmaafleo GLtiu b mub Gamesorhie emer Sieme

15181 LWETU(HSSUUHISIDG).

Q1o9.The process of comparing an instrument with a standard reference is
called:

6 (15 & (HeNlem thlemeowmest @& MIUTE_ (HIL65T eUISI(HID @ &FIW6Dd (L MM GTEIGUT M)
1o &H&HUIU[HISIDE)I?

(A) Precision (mi”_utb)

(B) Calibration (otemefii”_() &fl@ &5 60)

(C) Sensitivity (2_eoori &lmedr)

(D) Repeatability (Besor (it @ &iws Smeor)

Answer: (B) Calibration ; Siemefii”_ () #fl@& 11560
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Explanation:

Calibration ensures accuracy by matching with standard reference.
Sierefil’ () Ffl0&F1LS 60 6165TUS) Hlemeowimeor @ MU (HI6dT UISI_(h)
Hlooodlwsms 2 MmiS CFELSDS).

Q1o.Which instrument is used to measure small angular tilt of a surface?

6015 GuhHurtGicsr FlMlw Gamesor 6Xlevs emeo SierediL U UwTU[HISSUIUHID &(H6s
e18)?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)

(B) Vernier bevel protractor (Qeuieofliui @Queco yBrmé L _mmaLiT)
(C)Clinometer (Slemer@oormBL"_L i)

(D) Optical flat (=109 8860 Slemme”)
Answer: (A) Autocollimator ; @1 GLm@&TeSIGw1L"_L it

Explanation:

Autocollimator provides high accuracy angular tilt measurement using optics.
1" BCLr@&T6eSIGWLL L i 6p6ifl eudlwns Wl@bHs HicoeSus g6t @& evor

6%l608 60760 e S (HSID &I

Q. The term -allowance"in fits refers to:

OUNT(HSSHIG6TI “DisB)DS) " GTBTUSI @& M @D @UIT(IHOIT 6T65T 6oT?

(A) Difference between maximum material limits (Silasur”_& @Qunmeir
b eifledt 65915 SHlwm&ib)
(B) Intentional difference between hole and shaft (giemerr wbH mub &edor (i)

SomL_Guiureor S bl L eN& S &)
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(C) Error due to machining (Swib Sy @&weount’_L_med eru(hlid Glemip)

(D) Deviation from nominal size (Quwrer ey SiereMNeSahibg) 65608 60)

Answer: (B) Intentional difference between hole and shaft , gyemer g b

86001 (h) oL Cuiwmest SO L 691§ Shwm &b

Explanation:
Allowance isdesigned difference between mating parts to ensure function.
i) S| 6165TUG SemeoTild UG Sl&6T Fflns @ &FWwWeoUL §I6marT WhH mID & 60or (h)

SooL Guwmeot Sl O L 6&Shwm&Fwn@ib.

Qn2The stylus type instrument is used for measuring:

61D GOL_GV6ID UEE & (IH6N 6TEm S & &H6ooTSIL_ U LIWESTU(HSSUUHISIDE?

(A) Surface roughness (GwhHuniiy &1q 6015 8 66T 6ID)
(B) Angle (@smemorib)

(C) Flow (gpU"_Lib)

(D) Force (6uoy)

Answer: (A) Surface roughness ; G humiy &lq 6015 8 65T 6mLD

Explanation:
Stylus type profilometers trace surface irregularities to measure roughness.
610 6mL_60610 6U6m& LI ..18eombBL"_L_f&er Gumhurtiy Frbm & 65T 6mLD& o6l

& 6001 STe00ll 5 8 8519.60T § 8 60T LD I DioiT 65 (Hl Sl 6dT M 6oT.

Qn3.Which principle isused in LVDT?
LVDT-&6o uweitupldsuiupin Gam™_um(j) 618)?
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(A) Electromagnetic induction (blesr&nibg gimetorL_eo)
(B) Capacitance change (§ime6br iomhHmib)
(C) Strain gauge resistance (Qp&HIpery Cagh erHliiiy)

(D) Piezoelectric effect (smuBuwimstovsL”_flé eflemerey)
Answer: (A) Electromagnetic induction / blesrambs gmesorL_co

Explanation:
LVDT works on mutual induction principle to measure displacement.
LVDT ureour gresor_co @am_um’_1g.651 g tiuemL_udled SL_wrhms ensé

&1 55| (H SIS

Q14 Which method is used for measuring large flow in pipelines?

GLMisefled DHe L1 §ms SerellL_U wesTU([HSSUU(HID (Y DM 6TE)?

(A) Venturi meter (@6u@p g fl Br_Lif)
(B) Rotameter (Ggm_L_mBL_L_if)

(C) Orifice meter (<=1, fl-96iv BL"_L_1T)
(D) Pitot tube (Y@L’ @pmis)

Answer: (A) Venturi meter ; @eu@p g fl (5L i

Explanation:

Venturimeter is suitable for large flow due to low energy loss.
@euEh g, il BL_L i @ oomibhs orfles s Spullermeo Guithu gL L ks enh e
QU HS BTG ID.

Qns.Which instrument measures force using elastic deformation?

Sweouneor 6608 emeols LIWESTU(HS S cueYlcme Diemell(Hib &(H6sl 6187
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(A) Proving ring (yem Sl i)

(B) Dynamometer (6omL_eor@omiBL™_L_if)
(C) Load cell (Beon () @&6v)

(D) Strain gauge (Op&lipey Gaed)

Answer: (A) Proving ring s yemeSliu ks

Explanation:
Proving ring measures force based on its elastic deformation under load.
yerp il flik, sremioudlest &1 Swieoumeot 6608656t Dilg LuemL_ulléd RIEYIEmH6

SiereSl(HEDG).

Qne.Which surface texture parameter represents the arithmetic average of
deviations?

s &ifl efleos 6Sledr Hewflg samaflemw @ mMlé @b GohHuriiy Siemliy DieTe) 6157

(A)Ra (<pii-an)

(B) Rz (<pii-@eroL”)
(C) Rt (i)
(D)Rq (-8,

Answer:(A) Ra ; swii-ar
Explanation:

Ra = Arithmetic average of absolute values of deviations.

Ra = eflevss cosaflest (p g smwwneot nliysseficst sewfls amma .

Qn7.Which system of tolerances and fits is recommended by ISO?

ISO ufibgemréEGb FSIILE S 6TemW WH MID CUTHEHS (PO 6T8)?
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(A) Hole basis system (gemer igiueoL (pemm)
(B) Shaft basis system (&egor (i) ig LiuemL (L 6OMD)
(C) Both (&resor (hib)

(D) None (wngitb &6ocmov)

Answer: (A) Hole basis system ; giemerr Siq liueoL (peom

Explanation:
ISO prefers hole basis system as machining holes accurately is difficult.
ISO giomerms emer gieoeSwions SwibSTCU([HS G168 &H19.60TLD 6TEOTUSTE0 &IGD6T

SiqUueoL (P emmemwl uflbglcnTd Simg).

Qn8.Which device measures power output of an engine in actual running
condition?

SwihSIrb SwhiGb Hlemeoulleo &8 Gevetlui’ emL Sierefl(Hib &Hes 618)?

(A) Brake dynamometer (9@ emL_eor@omiBr_L_if)
(B) Indicator diagram (& esoriq G&s51"_L_ii 6oL wWi&HITmib)
(C) Tachometer (L @a&smBI_L1i)

(D) Strain gauge (Qp&lpoy Gaed)

Answer: (A) Brake dynamometer , 918r& 6mL_ocor GomBL_L_ii

Explanation:

Brake dynamometer measures brake power by absorbing engine output.
91@r& emL_cr@umBL L if, SwibSlr Geuefluii”_emL 2 mlep & G18ré usuemr
SiorN(HEDG).

Qno.Which error arises due to worn out screws in measuring instruments?

Sterefi’_ () speflsafleo kulanththa Sip@senmed erbHuhlid Slemw 61817
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(A) Backlash error (961 SomL_Geuefl Slemip)
(B)Zero error (y,g2w Slem1p)
(C)Random error (ErhHm Gemip)

(D) Observational error (&euesfuys Slemp)
Answer: (A) Backlash error / Sleor &omL_@everfl Slomip

Explanation:
Backlash error occurs due to looseness between screw and nut.

S[HG WwhHMID B oL SeoL Guuwneor sermiey smreorons et SemLGlaafl

Sleowp arbubHl g

(Q120.Which instrument uses piezoelectric crystals for force measurement?

oueYl terefil”_1q (H@& emuBwimereos L ifld HleoL 6o uwTUHSSID &(TH6N 6187

(A) Load cell (Beon(h) @&6v)

(B) Proving ring (yemeSiti fliki)
(C) Strain gauge (Qp&lipoy Caed)
(D)LVDT (erév.68l1q.1q)

Answer: (A) Load cell  Goon (i) @&60

Explanation:
Piezoelectric load cells generate voltage proportional to force applied.
couBwmereod L fle Goom (i G1&cds6iT, LIWGETU([HISSUIL(HID ueYICNIH G

G eomIITeoT OI65T 60T (1955 5 608 2_60oTL_ITd (&) Hl6ST M 6oT.

Q121.Which principle is used in pneumatic comparator?

cumy sbumr’_ L fléd uwesTuHiSSUU[HID Gam_um(h) 6T8)?
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(A) Variation in air pressure (&mbmpés Goumiun(y)

(B) Variation in electrical resistance (Blesr er&liitiy Geumyun(h))
(C)Magnetic induction (&b iresor_eo)

(D) Optical reflection (el Sir&lueSioiy)

Answer: (A) Variation in air pressure ; &smbm 358 Goumiun(p

Explanation:

Pneumatic comparators work on the principle of air pressure change due to
dimensional variation.

uflioresor GaumIum”_i1q 6oTTed arHUHID HTHM(RSS WTHMEHSH 6T Digq (ILemL_uIled

oumY SUTTL_L F&6iT @& Wweou(h&ledTmeor.

Q122 Which type of error occurs when an instrument does not start from
zero?

(b &(H6N | S2wiS Sled QBML_hisTed_Lmed arbu(hlid Glemip 6187

(A)Zero error (2w Glemip)

(B) Calibration error (#fl@&1i15 60 Sleow)

(C) Random error (FrhHm Gemip)

(D) Backlash error (Sssr SomL_@euafl Giomip)

Answer: (A) Zero error /1, g2w Slemip

Explanation:
If the pointer doesn 't start from zero, all readings are shifted, causing zero
error.

(WLPMISTED L) gD 1SSl6d @FHML_bisTeSI L T6d Dicmeot 81 eum S8 o 1b Lom miu(hii,

g eorov LY sow Glemip arbhu(hli.
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Q123 Which gauge is used for checking the straightness of shafts?

et (haoflesr GbiisSlemw ufl@anslés o1hs Gaeh uwesTU[HSSUUHISIDE?

(A) Straight edge (GmiGan ()
(B) Snap gauge (eivoeormi) Gaeh)
(C)Ring gauge (it G&gp)

(D) Plug gauge (Cions @asn)

Answer: (A) Straight edge / @piGa (k)

Explanation:

Straight edge is placed against the surface to check straightness by light gap
method.

CrirGam(h Gumurtibled cmeussuuL (i) 6ol SemL_©evafl (i emmuiled Cmiis S
ufl@enSléauuhHiSIns.

Q124.What does Taylor's principle state for gauges?

@L oo Gsm_un(h) &8 6H&&TS 6Toms s MISIDS)?

(A) GO gauge checks maximum material, NO-GO checks minimum material.
(GO Bagr Mlsur_& Gunaper, NO-GO Bagr @ omibsuLl_& Gun(pemerd
BU_HOUESSID.)

(B) GO and NO-GO gauges must be identical.

(GO vHmid NO-GO Bagrseir spBrr wnSlflwnes S(mHé e Geuesor (Hib.)

(C) Gauges should alwaysbe adjustable.

(Bagasr sriGUTHID &NEFLILSSe 9 WSTES E(MHdk® Geaucttr (b,

(D)Only GO gaugesare used in industries.

(@smBleosafies GO Bagasmer o1 [(HIGI LILETURISSILESSTHEDT)

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Answer: (A) GO gauge checks maximum material, NO-GO checks
minimum material GO &g iSlasur’_& Gunaper, NO-GO Gagn

G ODHHUL_& @UT(HOT &L (Huum (b

Explanation:

According to Taylors principle, GO gauge ensures assembly, NO-GO ensures
nointerference.

@Leorr @am_um”_1g eirulg, GO @& gh Sememriiy &méSwinn 6TdTUmS 2 M)

@sLSDg, NO-GO Casgh @ mis&HL oL &HiéE!D.

Q125.Which method is used for non-contact measurement of surface
roughness?
Guhuriy &1q 616 5 ST mwemWs CIGTLToG6d el uweTUHSSUIU(HID

(poeom 6181?

(A) Interferometry (&6o1L f-@uBTTGIoL_ifl)
(B) Stylus method (6o emL_sv6io (1p6mOM)
(C)Replica method (@rtiefsm (p smm)

(D) Scratch test (6o sam”_& G&ng emeor)
Answer: (A) Interferometry ; &6orL_ii-@UGTT@UIOL_f)

Explanation:
Interferometry uses optical interference pattern to measure roughness
without contact.

Seo1Lii-uBrmelwL_ifl spatl SemLuii" emL_& G\&smesor () Gwmburtiy

&19.60T 5 & 6T O WS @S 6d DieTeSl(HEImG).
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Q126.Which device is used to measure torque of rotating shafts?

&LOEVID & 600T (H&6TIGT &p6d QUGG (LMTd) Stereil U1 uwesTU(HiEHSUIU[HID &(HeS
e18)?

(A) Dynamometer (6mL_cor@umBr_L i)

(B) Torque meter (Lmid B _Lif)

(C) Strain gauge (Op&Hlipey Caehd)

(D) Tachometer (BL@&smiBI"_L i)

Answer: (B) Torque meter ; Lmié B _Li

Explanation:
Torque meters measure twisting moment of rotating shafts.

Lmiié B L [i&6iT &1pepIb 8600 (Ha6ifleT &Lp6d eI Diemell(HSlesTmeoT.

Q127.Which factor affects accuracy of slip gauges most?

oo 6dlt @& s arfledT &I6065S s DiSleIb uTSlé @b &Snremtl o187

(A) Temperature (@eutiublemeo)

(B) Material hardness (@Qunpeflest 19 60188 65T 60o10)
(C) Surface color (Gwmuriy Himib)

(D) Shape (euq 6uib)

Answer: (A) Temperature ; @autiublemeo

Explanation:
Slip gauges expand or contract with temperature, affecting accuracy.
o6dl Ba g e Goutiublemeowimed afliflaicmL b8 Bicoeog) & (IHhIS §lcoeSlws emns

un &8 &ledT meor.
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Q128 Which measuring instrument is based on Bourdon tube?

GuniiL 65t G LmudesT Silgq UusmL udléd G&weou[HID o6l (b &(mHes] 618)?

(A) Pressure gauge (11955 Gsg2)
(B) Flow meter (gL B i)
(C) Tachometer (GL_BasmBr_L i)

(D) Dynamometer (emL_eor GomBr_L_if)
Answer: (A) Pressure gauge / 2119565 G2

Explanation:
Bourdon tube pressure gauges convert pressure into elastic deformation.
GumiL_6st GMi DRSS C&HgREH6T Di(1RS55H5H 0% Sweouneor 65levseons

Lo mI&6dT meoT.

(Q129.Which of the following is a secondary transducer?

65T au(HAUGHT QUMD M6 618 &IesorL_mib Hlemev b Ml <@ b?

(A)LVDT (e160.6M19.1q)
(B) Thermocouple (@&iGwrstSler)
(C) Strain gauge with Wheatstone bridge (Qp&Slipey @&eb - 651" &GL_medr umevd)

(D) Piezoelectric crystal (smu@wimereodi_flé HeroL_6o)

Answer: (C) Strain gauge with Wheatstone bridge ; @p$Slipey @seb -

681°_&@L_medT umevId

Explanation:

Strain gauge generates resistance change; Wheatstone bridge convertsitinto
voltage.

OB&SIpe| Cagh eTSlTUY LIHMHES s 2 (HouTdhESInsl: 651" &GL 6T uTeob S

1Bl65T 60T (19 & B LoN & LM h MISIM ).
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(Q130.Whatis the standard reference temperature for dimensional metrology?

uflresor SiemefiL”_Lq Hameor Hlemeowmeor @ ML (H Geutiublemeo 618?

(A)o «C (0 “@&)

(B) 20 «C (20 “@&)
(C) 25 C (25 “@&F)
(D) 30 *C (30 “@#)

Answer: (B) 20 ‘C, 20 ‘@&

Explanation:
ISO standard reference temperature for measurement is 20 °C.

Sierefi”_1q ha&meor [SO Hlemeowreor @ DT (H GeutiuBlemneo 20 @& @G .

Q131 Which device is used for measuring angular deflection in machine tools?
SwihSr &peilsafleo Gamemr 6flevsemed Sierail_ U UwesTU(HSSUIU[HID & (HeX
618)?

(A) Autocollimator (21" BLr@&TeSGwL_L[f)

(B) Bevel protractor (@ueueo yGomasL_mmésL_ii)

(C)Clinometer (Slemer@eormBL_L_if)

(D) Sine bar (e»& 6t umii)
Answer: (A) Autocollimator ; @,1"_GLm@&meSIGw1"_L_if

Explanation:

Autocollimator is widely used in machine tool alignment for angular
deflection.

1" BLTO&M6SIGWL_Lif SwibSlr & 156l FremotiGleo Gamesor 65608 660
SierellL_U uwesTUHSIDSI.
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Q132 Which type of dynamometer absorbs power during measurement?

Sierefi”_1q &1 Gug) E&Slemw 2 MlEh &b emLcorGmBLl L i 618)?

(A) Absorption dynamometer (2_il@h&ib emL_eor@mBL_L i)
(B) Transmission dynamometer (uflorihHm emL_corGomiBr_L i)
(C) Hydraulic dynamometer (SrSliweo emL_eorGuomBL_L_if)

(D) Electrical dynamometer (iBlesr&nr 6m1_cor GuomBr_L_if)
Answer: (A) Absorption dynamometer /2_il@hs&itb mL_cor GomBL_Li

Explanation:
Absorption dynamometers absorb and dissipate power to measure it.
2 _mleh&id emLeor@mbL L &6 &&Slemw 2 MlehS, Siems iHé @G 618 65T eyeold

Siemeli(H &ledTmeoT.

(Q133.Which property of a surface does "lay" represent?

&b Gumburtlles "lay” erems @& D&SmE?

(A) Direction of tool marks (&@pefd) sL_hkiseflesr Hleme)
(B) Height of irregularities (£rhm & 66t smwuliesr 2 _wirib)
(C) Waviness (16060@umedTm & 65T 6mid)

(D) Arithmetic mean roughness (&e0fls Frma s1q 6ot 88 66T 6OLWD)
Answer: (A) Direction of tool marks / &@pefil gL_misefleor Hlomea

Explanation:
Layindicates the predominant direction of surface irregularities.

Guhurtiy ETHm & 65T eMD&ET 6TiHG SHlomaulleo 2_eirereot eTeorucm lay

&GS
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Q134.Which comparator provides the highest magnification?

Slsul_g CUflsTHEsSoms Siefle@b sbumTl L i 618)?

(A)Mechanical comparator (SwibSlr sbumm_LiF)
(B) Optical comparator (<019 &8 60 &bummr_L i)
(C) Pneumatic comparator (eumuy &bummL_L i)

(D) Electrical comparator (iBledr&ibumm’_L i)
Answer: (B) Optical comparator ; liq 886 &bumm’_Li

Explanation:
Optical comparators give very high magnification without mechanical errors.
U9 &5&60 SDUNTL_L F&eT SwibSlr Glemw seiflesr Ml D@ Hs Guflensssons

ioifld Hledrmeor.

Q135.Which of the following isa displacement measuring device?

Sl6dT (R AUGHT UMD D16 6TFHI SL DM DieT6iL(H &HN UG D?

(A)LVDT (6160.6M19.1q)
(B) Thermocouple (@&iGwrsiSler)
(C) Hygrometer (rrrtiug (Br°_L_if)

(D) Barometer (211 g1oneotl)
Answer:(A) LVDT  er60.68l1q.1q

Explanation:
LVDT is widely used for linear displacement measurement.

oT60.68l1q 19 GBflwcd SLrHmD el 1Sl LWesTU[HSSUUHISIDSI.
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(Q136.Which tolerance system is most economical in manufacturing?

Swrfludleo s GunmenTTEHTIne 65lemhi@E b &&ULS S 60T O (WP 6Om 6187

(A) Hole basis system (gyemer iq luemL (wpemm)
(B) Shaft basis system (&egor (i) ig LueBL (1 6OM)
(C) Interference fit system (& m&SH OuI(HHS (WD)

(D) Transition fit system (om b QU558 (WD)
Answer: (A) Hole basis system ; g1emerr Siq liueoL (peom

Explanation:
Hole basis system allows use of standard tools for shafts, reducing cost.
HIGOOT g LIUEDL (L DM, & 60T (H& (6TH & &IT6oT [HlemedlmeoT & (156X18 comerll

LWESTU([HSS DD S1S &) 615 6066) & DD EHSIDSI.

Q137.Which device uses a float to measure fluid flow?

Slrey @11 §oms SemeSlL uminng ems (float) uwestuhHlS &b &Hes 618)?

(A) Rotameter (Gom_LmBr L)

(B) Venturimeter (@eu@p g, fl Br°_Lif)
(C) Orifice meter (<=1, fl-l6io BL_L_1T)
(D) Pitot tube (M@ @omiy)

Answer: (A) Rotameter ; Grm_LmBr_Lif

Explanation:
Rotameter uses a float rising in a tapered tube to indicate flow rate.

Gum_LmBL_Lf umiingems &6orig W @&Lmudledo GBoo mers &g gL L

NS5 5608 &M (HEDG).
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Q138 Which is the international standard for surface roughness measurement
symbols?

GobUIL S1q. 60T 5565 emL ieTeS_([H) & BSOSO dbHTerT &ieuGsa Hloneowter
o1gI?

(A) ISO (s.616h0.59)

(B) ANSI (a1.61667.6T610.83)

(C) BIS (Q.g3.6160)

(D) ASME (a.6T600.6TiD.FF)

Answer: (A)ISO ,/ e.eteiv.60

Explanation:
ISO definesinternational standard symbols for surface roughness.

GuhHuriiy &9 616G T oS ST FieuBsH & & MuThHiscmer ISO eu@ & gicTors:.

(Q139.What is hysteresis in measuring instruments?

o6l (h) Hapeilsatleo aflevL F&lev eredTug) 61651 GoT?

(A) Difference between upscale and downscale readings
(BLo6oBHa: &I HmIb SHGHIHSW eur Aiiymefler efbSumsib)
(B) Zero error shift (i, gow Semip wmmis ed)

(C)Random noise (Frhm &551D)

(D) Backlash error (Slesr &omL_@6ueifl Slomip)

Answer: (A) Difference between upscale and downscale readings/
Bueo@rra &S wHmib SGHTEHSIW eurfuyseflesr ailsSwmsb

Explanation:
Hysteresis occurs due to elastic lag in instrument components.

&(H6N Fa s 6ifled 2_eiTer Sweounest HMsHSsToo anlevL F&Hlev abubHSlns.
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(Q140.Which device is used for coordinate measurement in modern industries?
meficor @ mPleosafleo sal” () (coordinate) Semefit’ 19 H@ LWETU([HISSOIUHID

&(H6N 618)?

(A) CMM (ga.1"_() Stereli”_ () SwibSHlmid)
(B) Vernier caliper (Qeuieoflwit ssmeSiciui)
(C) Slip gauge (6iv6Sl) B& o)

(D) Bevel protractor (Queuso yGrmésL_rmésLii)
Answer:(A) CMM , g6 Siemefii”_ () SwibSlmbd

Explanation:

Coordinate Measuring Machine (CMM) measures 3D coordinates using probe
and computer.

go”_(H) Serefi”_(h) SwibSlrbd (CMM) B&ns emeor s &b b mutb &emfleof] ey eold

3D ga.”_(H) SterefiL’_1q 66T QUPIRIEGSIDG).

(Q141.Which instrument measures angular velocity of rotating shafts?

&LV & 60T (HasaflesT Gesmemor Gouss s oms Sierell(Hib &5 618)?

(A) Gyroscope (emea@rmeio@asit)
(B) Tachometer (GL@a&smB1"_L 1)
(C)Clinometer (Slemer@eormBL_L i)

(D) Dynamometer (emL_cor@omBL_L_if)
Answer: (A) Gyroscope ; emgz@rmeio st

Explanation:

Gyroscopes measure angular velocity using precession principle.
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cmeeBrmervBaml (psT@eTné&lE sph & Gasm_um’ g 651 g liuemL_ulleo G&mevor

Cous s oms Serell([HSIDs.

(Q142.Which is the main disadvantage of mechanical comparators?

SwibSlr sounr’ L Fseflesr (p&&hw @ ommurn(h) 61g)?

(A) Low magnification (@&emmihs Quilsnésid)
(B) High cost (=158 Gsoo6y))
(C) Requires power supply (1Blest &nrib @& 6m6u)

(D) Fragile construction (erefl&leb 2_6mL_wjib DicomioliL])
Answer: (A) Low magnification / @eomihg Quilsnssid

Explanation:

Mechanical comparators have limited amplification compared to optical or
electrical.

WU1q 85860 Dicvous) lesTaHbUMTL L [&6emHL 6T spUISI(HlIbGurg SwibSlr

sunr’_L fseflesr Quilsnésid & mmeur@.

(Q143.Which property of measuring instrumentsis tested by gauge R&R study?
Sierefi’_(h) spedlsaflesr erbhs uetory gauge R&R Suiieureo
ufl@anSléasuuhHi&Eme)?

(A) Repeatability & Reproducibility (Besor (i @& iinug Slmedr b mib wmiuig ujb
2 (Houn&sSSImebr)

(B) Accuracy (geoeSwid)

(C) Sensitivity (2_eoori &lmedr)

(D) Precision (mL_uib)
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Answer: (A) Repeatability & Reproducibility / Begor (Hib @& g Smedr
WHMID LMHIUG WD 2_(HEITEE S S 65T

Explanation:

Gauge R&R evaluates consistency of readings across operators and trials.
Gauge R&R @piiey, uwestiisseir wbH mub &g emeorsaifleo eunAiysefiesr 6@

& 601 o emw SIS (H C&FLISIDS.

Q144.Whatisthe function of an orifice meter?

ooifl-19leo B 1_flesr uemfl 6T65TGOT?

(A)Measure fluid flow rate (Hirew 1" L 6MN& &S cm8 Seref(Ha60)
(B) Measure pressure (2113555608 Siomefl(Hs60)
(C) Measure torque (Lmiié iomell(Hg6o)

(D) Measure displacement (S wnihmid Sieres(5&60)
Answer: (A) Measure fluid flow rate ; Sitey @L L 69856608 Dtemes(h& 60

Explanation:

Orifice meter creates differential pressure to calculate flow rate.
oofl-Sleio BL_Lif Gumiul L Si(1p555608 2_(Hhaumssl i L 6fl&lss5oms
&1 55 (H SIS

(Q145.Which material iscommonly used in slip gauges?

oivedlt @& s aifled GuTgIeuTE LWESTU(HSSVIU([HID CUT(HEIT 6T8)?

(A) High-grade steel (2_wii 1 o1:.@)
(B) Brass (915 8 omer)
(C) Aluminium (Siepidleoflib)

(D) Bronze (@6ustorseoib)
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Answer: (A) High-grade steel , 2 _wiisn or-.@

Explanation:
Slip gauges are made of hardened steel for wear resistance.

eoedl) Baga e kulaiyamal &@pée 2 wiisn er-.&leo swnflésiuhHSlesrmeor.

Q146.Which instrument measures vibrations of machines?

SwihSlrhisefler iSliesemer Sierell(Hib &(Hes 618)?

(A) Vibrometer (coauti@omiBL_L i)
(B) Tachometer (L @&mBL"_L i)

(C) Oscilloscope (<=2, 8Boomeiv Basmi)
(D) Strain gauge (Op&Slipoy Gaeh)

Answer: (A) Vibrometer ; smauiGrmiBL_L_it

Explanation:
Vibrometer measures amplitude and frequency of vibrationsin machines.
cooutCrmBL_Lif SwihSlnhiseflesr SiSlieysefler Siere| wbhmib

15T O\6160071 8 e DiemeSl(HSIm &I

Q147.Which system ensures uniformity in tolerances internationally?
&Fieu@sH & Siaraliloo &&IULS 86T emwuiled G 65T emwemil 2 MISINU([HISSHID

(poeom 6181?

(A) ISO system (g2.61610.69 (P ™M)
(B) BIS system ().e2.616/0 (1p 6om)
(C) ANSI system (er.6166T.6T610.82 (1p 6OM)

(D) ASME system (&1.6160.6T1D.FF (Lp 6M)
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Answer: (A)ISO system / g3.61610.6 (>

Explanation:
ISO tolerance system is accepted internationally for interchangeability.

FiewBs & uflorbmsSHhans ISO &&Hl0ysE S Temw (YoM aHBILHISIDE).

(Q1a8. Which factor defines the sensitivity of a measuring instrument?

6 (15 o6l (h) &mHeNudesT 2_6oorii Sl et UEHILMISELD STewil 6157

(A) Smallest value it can detect (igy) &etorL_ Dl &e 19 W 1Dl&E HHIW SO
(B) Maximum range (i$l&ul_& euribly)

(C) Material used (uwesTURIGSILL_L GUN(H6IT)

(D) Operator skill (Swé@mfesr Himedr)

Answer: (A) Smallest value it can detect ; =18 & stor_dHlwé s 19w 1Dl&E
SAdlw Sy

Explanation:
Sensitivity =ability to detect smallest input change.

2 et Slmedr = lasd Al 2_oiTeTL_(H) ThHMDS &8 &vor_ HD Slm6bdT.

Q149.Which instrument is used for precision measurement of angles up to
seconds?

oNleoTiTLg 8 (6Th & @ Hicoedlwmeor Gamemr Siemefil Lq.hHE UWETUHISSUU(HID &pe
618)?

(A) Optical dividing head (<119 &860 9115 860 & cmeowienil)

(B) Bevel protractor (@ueueo yGomésL"_mmésLii)

(C) Vernier protractor (@euieoflwii yGrméL_omasLi)

(D) Clinometer (Slemer@eormBr™_L_if)

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: ® © © |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Answer: (A) Optical dividing head ; 9119 &8 60 Gfl$860 &omeowesf

Explanation:

Optical dividing head provides high precision angular measurement in
metrology labs.

BU19.85860 UIflH 560 &omeowenil Siereiluco Splieusshisafleo 2 wi &i6oeShwumeor

@ameoor Sierefil”_emL aUPHIESIDSI.

(Q150.Which gauge is used to check thread pitch diameter?

@aeor(h) Yf6sT AL H6ms uflBGenSlés 61ihs G eh UweTU(HSSUIL[HISIDE?

(A) Thread micrometer (@& mesor (i) soodbGrmBL_L i)
(B) Plug gauge (liond @& sn)
(C)Ring gauge (fii Ga2d)

(D) Snap gauge (6hoeormts @ o)
Answer: (A) Thread micrometer ; @& egor () cowsd@umBL L i

Explanation:
Thread micrometer with V.anvil is used for measuring pitch diameter.
V.sp,616fl60 2 16t @gmesor(h) eowd@umBr_L i G&feor 68L& 608 SierefilL_v)

vwesTU(HSID .

Q151.Which type of fit ensures a shaft will always have clearance with the
hole?

62 (15 & 6007 () sTUGUTGID Ficwom|L 65T SoemL_Glauat] @& T 6oL (1HE G D CIEHEWIT 6T
@Qun S5 618)?

(A) Interference fit (Semevoriiy Gu(HS S1b)

(B) Transition fit (ormur () @un(HSSD)
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(C) Clearance fit (S emL_@6uafl QU HSSIb)
(D) Shrink fit (s:qp &8 @QuI(HESD)

Answer: (C) Clearance fit @ oo @evefl QU H&H 5D

Explanation:

In clearance fit, the shaft size isalways smaller than hole size, ensuring free
movement.

SooL_Oeuefl QuITIHS S Sl60 &6tor () sTLIBUMGID FlomeTemwedlL Adlwsns

& H& @D, GO &iHHSITDNeoT SWHsD 2600t ().

Q152.Which instrument is most suitable for flatness measurement?

BL_6OL_ 58601 oL oW el DiSle @uT(hSGLomeot &(He8 6T8)?

(A) Optical flat (<0119 &8 60 Slemmi)
(B) Vernier caliper (@Qeuieoflwii s&smeSiciurm)
(C)Micrometer (emw&GamBr_Lit)

(D) Comparator (&b@uGr_L i)
Answer: (A) Optical flat ; @119 860 Slemmi

Explanation:

Optical flat with monochromatic light is used to check flatness using
interference fringes.

6o HIm epeifliyL_6dr o191 SpUilg &860 Slomml_, @& MISEL_(H Gs(HlasaT eyeold

SL_6oL 55601 o eniw UFI@&nSlés uwesTuhHSIng).

Q153 Which method is used for non-contact surface roughness measurement?

@srLify &eveomocd GuhHuriy &T[Hi(wr([HS & 65T oo emiu Seresl_Uu{Hib (W e

618)?
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(A) Stylus method (6o em1_sveiv (W emm)

(B) Pneumatic method (Bl w19 & (pomm)
(C)Optical method (2019 &&60 (Womm)

(D) Replica method (m&60 (p smm)

Answer: (C) Optical method ; ©btiq &8&60 (1p >

Explanation:

Laser or light reflection techniques are used in optical method for non-contact
roughness measurement.

Boo&ir Sicvevgy oparfl SirSluedltiy (i emm & 6T, ST &odoonped Guhurtiy
SIHIWPT[HS & 65T W Dol Uil &8 60 (Y mmuiled

uwesTU(HlSSUIU(HEIST M 6oT.

Q154.Which comparator works on the principle of balanced lever system?
61h8 HBUGTL LI Foiblemeo G(eme (1 somuilest iq liusmL_udled

@sweou[HSIng)?

(A) Mechanical comparator (Swih&lr sbGuBTL_Lif)
(B) Electrical comparator (blesr&nr sibGuBrL_Lif)
(C)Optical comparator (U9 &860 &DGUGTL_LIT)

(D) Pneumatic comparator (il om’_1q.6 &bGuGTL_L i)
Answer: (A) Mechanical comparator ; SwibSlr sbGuGTL_Lii

Explanation:
Mechanical comparators use a system of levers and gears to magnify
displacement.

SwihSlr sbGUBTL_L f&eT SLonbhmsemns GUflsTes &(1pemals6i hmib

Slwii& emerm LWEHTU(HS 1S5l 60T D 6oT.
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Q155.Which instrument is used for torque measurement in rotating shafts?

&LOEVID & 60T (Hl&aifled LMid Diemell 618 & (Hed uwesTu(HSSUUHISIDE?

(A) Dynamometer (6mL_eor@uomiBr_L_if)
(B) Strain gauge torsion meter (OB Slpory &gl L miergedr 1BL_L i)
(C) Tachometer (GL_BasmBr_L i)

(D) Manometer (0@eormiBr_L if)
Answer: (B) Strain gauge torsion meter ; Qp&lipery Gagh Lmiergesr BL_L i

Explanation:

Torque is measured using strain gauge-based torsion meters mounted on
shafts.

Lmi&, &e6oor(hiseifled @ummssiul_L GpSlipe| Gash g iiuemL_ulleomest

LMi6g6sT B L f&emmed SerellLUuhSlms.

Q156.Which is the primary standard of length maintained internationally?

FiauBs& Serafleo urmofléstuhHid (W& sTemw Her Hlemeo 618)?

(A) Platinum-iridium bar (Qlermt’_1q corib-Sfliq wib &b19))

(B) Wavelength of krypton-8eé radiation (Sfl_reor-86 &Siesi& leor
SI6m60IH6ITID)

(C) Distance travelled by light in vacuum (@euh L& Sleo spefl @&esrm gmmid)

(D) Silicon crystal lattice constant (feSl&medr SlifletoL_cb &1°_L_emipliL Hlemev)

Answer: (C) Distance travelled by light in vacuum ; @euib & Sleo sperfl
©\&6oTm HMID

Explanation:

Since 1983, 1meter isdefined asdistance travelled by light in vacuum in
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1/299,792,458 seconds.
1983 (P& 6o, 1BL_L I 61651UG) 66ifl Glauh L& Sl6d 1/299,792,458 efleorimig.ulled

@ &6oeID HTILD 6T60T QUIEHTWMISSIU(HISIDS.

(Q157.In pneumatic gauges, measurement is based on:

Bl o198 Gagrsoifled, Dierefi(h) 61ihs g UuemL_ulled 2_siTomg)?

(A) Air flow rate (&riHGmm_L eN&&ID)

(B) Air velocity (snhmlesr Geussib)

(C) Back pressure (Sler Di(1p651b)

(D) Pressure difference (119568 Goumiun(p)

Answer: (C) Back pressure ; Sleor 119550

Explanation:

In pneumatic gauges, variation in back pressure is used to indicate size
differences.

bl 1o’ 19 & Gag2s6ifled, Sledt Di(1pS 86 Sl6oT mmium(h) Stere| Geumun (hssmer

&ML U uwesTu(HSlms.

Q158 Which law forms the basis of strain gauge working principle?

&SP Bsgdlest GF WO (LW HDUINGT SilqUUHL 6187

(A) Hooke's law (eamy©& 6915))
(B) Pascal'slaw (ureivsseo 6515))
(C) Boyle's law (umiieo e91&))

(D) Faraday'slaw (~unrGL e0&))

Answer: (A) Hookeslaw ; o948 68)
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Explanation:
Strain gauges work on Hooke's law, relating stress and strain.
Op&Slpe| BHg2s 6T, (1RSI WHmID B 1q (1L @OFHTL_FuresT Q& 6NSludleor

Siq UuemL_ullédo @&weou(HSl6dTMm6oT.

Q159 Which system is adopted for interchangeable manufacturing of parts?

unsibiser uflbrbHm 2 _HusSlesns abmsbsreTeriul_L (Y e»m 6187

(A) Limit system (eumiby (L 6mm)
(B) Selective assembly (&b @& (Hlé&s0UL L 66sT HlomesoriiL)
(C) Taylor's system (@160 (o 6m>M)

(D) Full interchangeability (@ g ufliombmib)
Answer: (A) Limit system / eumiby (1 smm

Explanation:

Limit system ensures parts fit within specified tolerance for
interchangeability.

GUITDY (Lp 6D, UTSHHIGAT F&IULS & T om&@E 6T Gunhibs) ufliombmb Hlspocns

2_miSliu{HiSSHEImE).

(Q160.Which device is used for measuring high rotational speeds up to 100,000
rpm?

100,000 rpm aIeor 1518 &b S Goushis cmor DorellL 61hs &(mHedl
uwWesTU([HSSUUHSIDEI?

(A) Mechanical tachometer (SwhSlr GL_GasmBr_L i)

(B) Digital tachometer (1q g8I"_1_6o GL_B@a&mBL_Lif)
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(C) Stroboscope (6o1”_BrmBumeiv Bssmi)

(D) Optical tachometer (@19 &860 GL_GasmBL_L i)
Answer: (C) Stroboscope ; shor”_@rm@Gumeio @it

Explanation:

Stroboscope measures high speed rotations using flashing light
synchronization.

ool BrmBumeiv sy, 6paifl WlesT 6o 65165T 605 Slom&cmends s asor () 1518 &ipH S

Cousihis emer e ell(HSIm&I.

Q161.Which instrument is used for the accurate measurement of screw thread
flank angle?

@aneor(h) Sl(p&lesT udseuTL(H C&T 0TS mG GleoeSITE emellL 6Ths &(mHed
uwesTU(HSSUU(HISIDEI?

(A) Tool maker’s microscope (&@p6M gwirflumeri mietor @evormds &)
(B) Thread micrometer (@& mesor (i) 6o GrmBL_L i)
(C) Profile projector (srweSeur @mmGiees L)

(D) Pitch gauge (96 @aon)
Answer: (A) Tool maker's microscope ; &meS) wnfliumen miecor Gevormé &)

Explanation:

Tool maker’s microscope measures thread flank angle precisely under
magnification.

&6l swirfliureni micsor Geoorés &), GUflHT&H8 S Sled Sl(1HE LUsbs UL (h)
Bsnemrs oms HicoeSuwns SerTeil(H&Smg).
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Q162 Which tolerance isapplied when only one side of the nominal
dimension is permitted to vary?
@ungieuneor uflomer&Sleor 6(H USSID WL (HIGW WITM s Sl&&EIUHID Gung)

615 &&IILS S 60T ool UGsTU(HS SUU(HISIDEI?

(A) Bilateral tolerance (8@mum &&lus 8 66T omib)
(B) Unilateral tolerance (s emm ym &&H0L S & 65T emio)
(C) Compound tolerance (&eot1y &858 65T 6mD)

(D) Geometric tolerance (6uq 65w6o &85 8 65T 6mID)
Answer: (B) Unilateral tolerance s @hemm ym &85 8 661 6oo10

Explanation:

In unilateral tolerance, dimension varies only in one direction from the basic
size.

b emm Ym &FSIULS S 65T sowulled, ufliomesrid g UusmL SieredeS(ibhs 6o G
Slemaulleo ' (HGw wmrmib.

(Q163.Whatis the least count of a vernier bevel protractor?

@euieoflwi @uencd YBIm& L &L fl6dT & mmbSUL_&F & 6001 &) 6T6)I6U6T6?

(A) 5 minutes (5 BHIO_rbigeir)
(B)10 minutes (10 HIdl_rbisse6ir)
(C)1degree (119 &)

(D)2 minutes (2 HLbI_rhisseir)
Answer: (A)5 minutes, 5 HIOIL_hiseir

Explanation:

Vernier bevel protractors have least count of 5 minutes for angle

measurement.

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @ |



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

@eaieotlwi Gueued UBITEHL_TnéL s erfleo Gamesor DieresiL”_1q hH&imeor

& ODHHUL_& &6018H@E 5 HIDIL_hIS6T h@ELb.

Q164 Which type of lay pattern is produced by grinding operation?

SO &G @&FWed (W mmuiled ereiauens Gumuriy euflems 2_mHeunSling)?

(A) Irregular lay (@giusbm euflons)
(B) Multidirectional lay (uebBeugy Hlowa euflem &)
(C)Circular lay (eu”_L_ euflom &)

(D) Radial lay (&8)i6fi§ & oufloms)
Answer: (B) Multidirectional lay ; usoBeoumy Howa cufleme

Explanation:
Grinding producesfine surface with random, multidirectional lay patterns.
SiOTHE D @O FW6eSl6d FTHM, Ued Slems AUl HEFL_6T &611q. 1L [ 650T GHLOWITGOT

GuhHuriiy2_mHeunSmg!.

Q165 Which instrument is used for precise alignment of machine tools?
SwihSlr &apeisaflesr gieoeSlwwneor &wiblencod @) 61hs &(HeN

uwesTU(HSSUU(HISIDEI?

(A) Autocollimator (1" GLr@&TeSIGwL_Lif)
(B) Surface plate (GupHurty sL°_(H)

(C)Dial gauge (Lweo @& o)

(D) Spirit level (6ol Gleoeusd)

Answer: (A) Autocollimator ; D,1"_GLm@&meSIGw1_L i
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Explanation:

Autocollimator provides accurate angular measurement for machine tool
alignment.

Bl BLr@&TeSIGwL_LiT, SwihSlr &pellseflesr wiblemevssme gicoeSlwiomeor

@ameoor Sierefil”_emL aUPHIESIDSI.

(Q166.Which measurement system is employed in coordinate measuring
machines (CMM)?

Gam-iig Beorl” Sierefi” () SwibSlriisefleo (CMM) uwestuhldstu{HIb
Storefil”_(h W oom o15H1?

(A) Polar coordinate system (g)(meu &emeoordBaieir (1 6mm)
(B) Cartesian coordinate system (&nile a8t &oemeorésBGamer (1p emm)
(C) Cylindrical coordinate system (2_pomer &emeoords@aei (1 6mm)

(D) Spherical coordinate system (B&smomb & 6mevordGameir (Lp 6mM)

Answer: (B) Cartesian coordinate system ; &sniile §lwicr & emeorésGasimeir
poom

Explanation:

CMM measures part geometry using X, Y, Z axes of Cartesian system.
CMM, siiteadlwest (pemmullesr X, Y, Z Sig & & emerm uwesTu(hdS) uns

6L GBS 6T Di6Tell (NS G).

Q167.Which device measures small pressure differences with high sensitivity?

3i5ls 2_cworiSlmsoi_esr Al (1S5 s Caumium(hleemer ieredl(Hib &(mHeil 61517

(A)Manometer (10@eormiBL_L_if)

(B) Micromanometer (emw&@rmoBeormiBr_L_f)
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(C) Bourdon gauge (GuniiL_eir Gagd)

(D) Barometer (u@mmBL_L i)
Answer: (B) Micromanometer ; eow&@rmoGeormiBr_Li

Explanation:

Micromanometer is a sensitive instrument to measure very small pressure
differences.

oo & GrmoBGeormBL_L i lesd Sl Dipss Ceumiun (Hiaemer Dieresl(Hib

2 oot Slmeoreor & (HeSIUT@ELD.

Q168.Which factor determines the accuracy of an interferometer?

(15 STLi-@uGTmBL_L fledT 1606w em s Hlif cooruslés @b smmesfl 6187

(A) Light source wavelength (6eifl eypovd Slesr Siemeoibermid)
(B) Size of mirrors (& esor sooriig &6fledr Diem6y)
(C) Distance of screen (SlemmuSlesr gmmib)

(D) Power supply (blesr&mmib euipriigsco)
Answer: (A) Light source wavelength ; @efl eyeos Sletr DemevBermid

Explanation:

Accuracy of interferometer depends on stability and wavelength of
monochromatic light source.

Seo1Li-@uGrmBL_Lflesr gi606Shub e emm Him seflullesr Diemooormibd wH mitb

iBlemovd & 651 s 6o EMITTHS G).

(Q169.Which gauge is used for checking taper of a hole?
6 (15 Hlemomuilest miicmon uflG&nSl&s 61Hs G gk LWETU([HSSUUHISIDE?
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(A) Plug gauge (Ciors Gagn)
(B) Taper plug gauge (GL_tiur Cerss B oh)
(C) Snap gauge (eiveormts Gagd)

(D) Feeler gauge (-Seoif @&gb)
Answer: (B) Taper plug gauge ; GL_tiuii tions @& g

Explanation:
Taper plug gauge checks taper angle and fit of internal holes.
GLuui tierd Bagh 2_ofT Fiemonsaifledr &miliey @&memrsmsW|b UM (IHSH S S mSILD

ufl@&snSl&Simg)

Q170.In tool wear measurement, which parameter is most commonly
observed?

&@pefl kulai SierefiL’_1q9.60 GUNgIeuTEH 8 &6tor&BMEBidSILHID DieTe)H 6T8)?

(A) Crater wear (S1@m_Li kulai)
(B) Flank wear (usaseum”_ () kulai)
(C)Notch wear (@mpm_& kulai)
(D) Thermal wear (@eutiu kulai)

Answer: (B) Flank wear ;ugseum” () kulai

Explanation:
Flank wear is the most common parameter to evaluate tool life in machining.
SwibSIr uesoruML_1q.60, &(HEN piemer WSO udseur(h kulai sresr

U gHIUTE S & 6801 HITEoH&HHIL(HSIDS).
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Q171.Which method is used for measuring the roundness of cylindrical parts?
2 _(IH6MEIT 6)lq 6 UNS&HIGETIET QI _L &8 65T oo emiu SiemellL 6Tih& (L 6mm
uwesTU(HSSUU(HISIDEI?

(A) V-block method (ef-tienmés (ip 6mm)

(B) Coordinate method (&emesoré@asmeir (1p omm)

(C) Circumference tape (&hmere) GL1))

(D) Height gauge (2_wimb @ssh)

Answer: (A) V-block method ; efl-tiernd (peom

Explanation:

Roundnessis checked by rotating the partin a V-block and measuring
deviations.

efl-tiemmé (W emmudled UTs S ems &b MIbGUNE arbHu{HID 651608608 e o6l

oIl _L 58 65T emw uflG&nSlésluHSIng).

Q172 Which instrument is used to measure the straightness of a machine bed?
R SWHSHT uhHléemsullesr BGhidSlemw lerefil ebs &mei
uwesTU(HSSUU(HISIDEI?

(A) Spirit level (ero9fl"_ Gleoeusd)

(B) Straight edge with dial gauge (@miriq efMefliby L_weo Gaeg=L_cdr)

(C) Autocollimator (1" GLr@&m6SIGwL_Lif)

(D) Surface plate (Gwhuriy s H)

Answer: (C) Autocollimator ; @y1" GLmT@&T6eSGw1"_L it

Explanation:

Autocollimator is used for precision straightness testing by angular

measurement.
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B BLr@&T6eSIGwL L i, Bamer StereiiL_Lq.65T eypoold glcoedlwnmeor GhiisH S

@&y omeor & @ LWETU[HISIDG).

(Q173.Which measuring technique uses coordinate points and best fit
algorithms to analyze complex surfaces?

& soomeor GHurtiysemer uGUUTLE @&FWW 6ThS SemeliL(h HI_Ub
SomeoordsBa e Leiteflaemeriib Hmibs QuUT(HEH & &T60@)E6061965T & 6me6r LD

uWesTU(HSSISIDSI?

(A) Profile projector (srweSleur (@nm@eesL i)
(B) CMM inspection (CMM <uiiey)
(C) Interferometry (&6o1L_fi-@uBTTGUoL_ifl)

(D) Tool maker’s microscope (&6 swirfliumeri mietor @evormds &)
Answer: (B)CMM inspection , CMM Suiiiey

Explanation:

CMM captures 3D coordinate points and applies best-fit to check complex
geometries.

CMM, 3D Somaorés@aerr Leiteflaomer uSle) @ &g &lda60meT 6ilq )b o6

sflumiss Hobs CUTIHSS (P O WL LWGTU(HSSHSID ).

Q174.Whatis the function of Johansson slip gauges?

Bermremim 6ot &6t 6106011 B8 s eifledT Lewfl 6t 66T 60T?

(A) For direct dimension measurement (@mpirq ufliomesor DiereSiL’_1q HE&TE)
(B) For setting and calibration (Siemwiy wHmib @USL 19 Ha&Ts)
(C) For measuring angles (8snesorihigssmer iemedlL )

(D) For roundness checking (eu1”_1L_& &6t smio @& s emeot &)
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Answer: (B) For setting and calibration ; Siemwiy wHmib OIS 1q Hars

Explanation:
Slip gauges are reference standards used for calibration and dimension setting.
665l B g2 eiT, spUIS(h) Wb M uflmesor St E&T6oT @ MHIUTL ()

iflemevasomme uwesTu(H&ledTm6oT.

Q175]In surface roughness measurement, the parameter Ra represents:

GuhHuriiy srHwr[HS s6sremwuileo, Ra Siereym @& Ml&Smns:

(A) Root mean square roughness (@eui snnefl &g Hr[HI(WPI[HS &65T6OLWD)
(B) Arithmetic mean roughness (sewfls srraf] sr[H\(WI[HS &60T6OW0)
(C) Maximum peak height (@i$lasur”_s Slesmbd 2 wimb)

(D) Total roughness depth (Qoné s srHiwnrHld bob)

Answer: (B) Arithmetic mean roughness ; el snraf s1(HWIHS

& 60T 60D

Explanation:
Rais the arithmetic average of absolute values of surface deviations.

Ra ererugy GuhurtnSeir eflevsscossaflesr (g wHliLseflcsr saxfls ammaifl @n@b.

Q176.Which type of fitis suitable for permanent fastening without relative
motion?

UL () &wé s dlest Ml HlinbsT SememrulbH@ arbm @uTIHSSD 6T8)?

(A) Clearance fit (SooL_@euefl QUTIHSSID)
(B) Interference fit (emesoriiy QU (HSG1b)
(C) Transition fit (o gur i) GQuITEHSSD)
(D) Push fit (geireréo @Qun s sib)
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Answer: (B) Interference fit ; Semevortiy @un s s

Explanation:

In interference fit, shaftislarger than hole, ensuring no relative motion after
assembly.

Someoriy OUNHE 85 Sled &6 (h glomeremw 6dlL Quilwsnses &HéE D,

60601 HlemesoTISIeoT Sl6dT S &L EoeoMDed &(1H&ELD.

Q177.Which method is most suitable for measuring large gear tooth profiles?

@uiflw Swif ubHseir swelleurmhisemer DemellL ile CUIT(IHSSLDTEOT (L DM 6TSI?

(A) Optical comparator (=pUiq &8 6o SDGUGTL_L i)
(B) Gear tooth vernier caliper (Slwii ueo @eusofwit &mreSIIULT)
(C) Coordinate measuring machine (8&m-iiiq Geori’_ Seresi_ () SwibSHlribd)

(D) Tool maker’s microscope (&6 swirfliumeni mietor @eoormds &)

Answer: (C) Coordinate measuring machine ; @&m-biiiq @eori” iemesi’ (i)

SwibSlrb

Explanation:
CMM can scan large gear tooth profiles with high accuracy.
CMM, Quiflw Slwii ubseir sweSleunmhis et Sifla GieoeSlwud gL ot oo Gs eor

@&Ww (WLguib.

Q178 Which error is eliminated in differential measurement methods?

Coumun”_ (i) Sterefii” () (Y som&eifled 61 Klemw BaH&UUHISIDE?

(A)Random error (Frbm Slemip)

(B) Systematic error (&1L emwuiyt Slemwp)
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(C) Parallax error (unreodeio Slemip)

(D) Environmental error (&b mtiym Semip)
Answer: (B) Systematic error / &1_L_emwiiyts Glemwp

Explanation:

Differential methods cancel systematic errorsby comparing with a reference.
Goumiun”_ (i) (W OM&6IT, 6 (H G MIUT_(HIL_6dT UG () &1L 6ol Sl6mLp & 6merT
i5 6@ Sledrmeor.

Q179.Which instrument uses laser Doppler principle to measure velocity?

Cous s 0 SerellL BGeo&ir Lmiiemi GamL_um’_emLU UWesTU[HISSHID &(H6S 6T8I?

(A) Laser vibrometer (Govo&it smeauti@rmiBL_Lif)
(B) Laser Doppler anemometer (Gooai Lmtioni 1@6or GuomiBL_Lif)
(C) Interferometer (S 6rL_i+~@OUGIMBL_L IT)

(D) Tachometer (GL_@&smBL_L 1)
Answer: (B) Laser Doppler anemometer ; Goo&ii Lrtionii 1@eor GomiBL_Lii

Explanation:

Laser Doppler anemometer measures fluid velocity using Doppler shift
principle.

Booaii Lo SiBeorGomBL_L i, Lmdemi wmibhmé Gam_um’_eoL U uwesTuhs Sl

Sirey Gous 08 Siarell(HSImG).

(Q180.Which gauge is used for checking the effective diameter of a screw
thread?
@anevor(h) Sl SHlesT GFweSImesT L §oms uflGenSlés orhs Gaed

uwesTU([HSSUUHSIDEI?
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(A) Three-wire method (eyetr my-&H 9 (W eom)
(B) Plug gauge (lions @& sn)

(C) Ring gauge (fiiu G&gp)

(D) Pitch gauge (9 Gaed)

Answer: (A) Three-wire method / ey 6o my-&106) (p 6>

Explanation:

Three wire method providesaccurate measurement of effective diameter of
screw threads.

ey 6t mI-&1 8 (W eom, SlHE Csmesor(Hsoiflesr W SIm6T 69l L5608
SlooedSlwions Sierell 2_56)&Img).

Q181.Which principle is used in pneumatic gauges for dimensional
measurement?
uflioresor el 1q H@ Lot 1986 Cagrsafled eThgHé GasmL_um(h

uwesTU(HSSUU(HISIDEI?

(A)Change in flow rate (@1 L 6f1$8 wrHmib)
(B) Change in pressure (11948 wmibmib)
(C)Change in temperature (@eutiublemeo oMHMID)

(D) Change in density (S5 8 ombHmib)
Answer: (B) Change in pressure ; 11968 wnbHmib

Explanation:

Pneumatic gauges measure dimension based on pressure variations due to
restriction.

Ueofluyom’_1q & G&ga6ir, & emL_uSleormed arbuhid (RS s M bHmrbhisetleor

Siq UuemL_ulled uflonesors emg o6l &ledTmeor.
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Q182.Which comparator uses the principle of electromagnetic induction?

615 &DGUGTL_L I ledTsmbs gmesorL_co @sm_um’_emL U uwedstu(HS SISIns)?

(A)Mechanical comparator (SwibSlr sbGuGTL_LiT)
(B) Optical comparator (cpeifl &bBuUGTL_L i)
(C) Electrical comparator (1blersibGuBmL_L i)

(D) Pneumatic comparator (Ueoflyom’_i1q & &bGuGTL_L i)
Answer: (C) Electrical comparator / 15l65rsbGuBm_L_if

Explanation:

Electrical comparators work on electromagnetic induction for high
sensitivity.

DlesT&HbBUBTL_L_[856iT, 1518 2600t Sl 60)18 88 LOIGOT &S SITG0TL 60

@am_um’_emL_U uwedTu(HS 81T 6oT.

Q183 Theleast count of a vernier bevel protractor is generally:

@euieoflwir @uenecd BT &L fledT & mMHSHUL_ & 6T 60T alld 6ma Clumgieuns:
(A)1 (1 BIOI_1b)

(B)5' (5 HidIL_rhisseir)

(C)10' (10 HUOIL_russ6ir)

(D)1°(19. &1

Answer: (B)5'/ 5 BIOIL_isseir

Explanation:

Vernier bevel protractors usually have 5'least count for angular

measurements.
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@ouicoilwii Gueucd UGTTL_nméL F&eT Gungieuns Gamesor Siemesi(H&EHeE 5’

& ODHBUL_& 6T 6001 600fl 8 6008 6mIds ©\&51T 60T Lq (1T & S 65T D 6T

Q184.Which method is used for precise flatness measurement of surface
plates?

Guhuriy &1 [Hisaeflest gieoeSwioneor &wiblemeo Sierefii” 1 HE 6THS (Y M
uwesTU(HSSUU(HISIDEI?

(A) Spirit level method (ero9)fl” Gieveucd (1 sm>m)

(B) Autocollimator method (@41" GLT@&T6SIGwI"_Lif (p6mm)

(C) Dial gauge method (L_weo G&gh (ip smom)

(D) Micrometer method (emw&GrmiBL_Lii (ip 6mm)
Answer: (B) Autocollimator method / @1" @LT@&T6eS@w1"_Lii (1p oM

Explanation:

Autocollimator provides high precision flatness measurement by detecting
angular deviations.

Bl BLT@&T6SIBGwL L i, Bameor 65608 608 6mar & 6oorLMlihg) &)6o6SwuLiT 6ot

&iblemeo SioTeliL_ 6oL aILpIhIE S G).

Q185.Which of the following is not a type of limit gauge?

S s evorL_cub Ml6d 618 by GHl QIEHSWTEHSTE)?

(A) Plug gauge (Cioré Baon)
(B) Snap gauge (ehocormi) @& gn)
(C)Ring gauge (s Gagd)

(D) Vernier caliper (@euiesfur smeSlui)

Answer: (D) Vernier caliper ; @euieoflwit ssmeSiCurf
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Explanation:

Limit gauges are fixed-type gauges (Go/No-Go), whereas vernier caliper is a
linear measuring instrument.

cuby G& g6l Hlemevwimeor aucms G gas 6T, ,6ormed G oot &meSlIiul 6o(rm

@riflwedo SiemeSiL () & Hedl.

(Q186.In metrology, which term describes the closeness of a measured value to
the true value?
©wo1”_rmeogdlulled, 63 (15 Siem6liL(h S 2 6vor smILT 6ot SIS E) 6TCICIGT6)

SDI(HSl60 2_6iTer g 6TEHTUDS & D& @D O&FT6d 6T8)?

(A) Accuracy (gyeoeShuib)
(B) Precision (@&nL_ii& 66T 6min)
(C) Repeatability (Besor (Hiib Steref(Hitd Hlmedr)

(D) Sensitivity (2_eoori&lmeor)
Answer: (A) Accuracy / gi606Shuib

Explanation:

Accuracy means closeness to the true value, while precision indicates
repeatability.

&leoeShwib 6T6dTUG) 2 _6soT mwwimeot SIUYHE OIbH&H &S SIHUIUDSHE

G MBS G, OB 785 65T6mL 6165TUG) B6vor (Hib Siemelil(Hitb Slmemeor @& MIdSIDG).

Q187.Which method is commonly used for measuring surface roughnessin
industries?

@smlevsafleo Guhurty sThHi(Pr([HS &65Temwemiu Sereil @UTSIeUTs 6THS

(P 6o LWGTU(HSSUUHISIDEI?
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(A) Stylus method (6o emL_sveio (1p 6DM)
(B) Optical method (spefl (pswm)
(C) Interference method (§emesortiy (wemm)

(D) Pneumatic method (Gi6ofluyiom”_1q9.& (ip som)
Answer: (A) Stylus method / o emL_eveiv (M

Explanation:

Stylus profilometer is widely used for measuring Ra and Rz surface roughness
values.

Rawhmib Rz Guhurty srhHipr(Hlé &6t eowemiu SierefiL 6o emL_co6io

O@Im-91GeomBL L If uTeueoms LIWETU(HSSUUHISEIDG).

Q188.Which device is used for dynamic torque measurement?

SWibiE, sipHE ellemsemi Dol 61HS & (e LWTUHISSUUHISIDG?

(A) Strain gauge dynamometer (eto1”_@ullesr @ gh emL_corGuomBI™_Lif)
(B) Hydraulic gauge (smami"_rmeSlé Gagh)

(C) Spring balance (eu&iH8 swiblemev)

(D) Dead weight tester (QOL1"_ @euudl"_ @\L_6ioL_[f)

Answer: (A) Strain gauge dynamometer ; 6io1”_@ruSleor Gagh

ooL_cor GumBL_L_if

Explanation:
Strain gauge-based torque meters measure torque under dynamic conditions.
ool @muilesr Gsgh g liuemLulleoneor & hHE eflems B L [F&o6iT, SwibiE)

iblemeoulled siphH & elema smw el (Hi&lesTmeor.
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(Qm8aln fitsand tolerances, which system keeps the hole size constant and
varies the shaft size?
OuNpSSHIG6T HMID UM MIEHLE&E6TI, 6TIHE (Y GDM &IGHET SI6T N

iBlemoowineor S cmeus 8ié @8 6ot () & 600t () 16T 66 LI H MI&SID&I?

(A) Hole basis system (gyemer g iuemL_uSleomneot (W emm)
(B) Shaft basis system (&egor (i) ig iuemL_ufleomeot (L 6mM)
(C) Clearance fit system (&ooL_@euefl QUT 5SS (P ™M)

(D) Transition fit system (omrmuun(p) Qun(h&s (WY M)

Answer: (A) Hole basis system ; gemem iq tluemL_uSleomeot (pemm

Explanation:
Hole basis system is widely used because standard tools are made for hole sizes.
SOOI iq LIUemL_UIlevmeoT (W 6mm UTeueoT &L LWESTU([HSSUU(HSIm S, 6rGleor eofl6o

SOOI D668 (61H & &6oT [Hlemevwui eor & (IheMls 6T Swimiflés&Uiu(h&lesrmeor.

(Q190.Which instrument measures angular displacement using light
reflection?

ooaifl SirSlueSiiemut) uwesTUHS S Gasmesor SL_bEUWITE Flemw Sier el (Hib & (He
618)?

(A) Sine bar (ew»& 65t UMT)

(B) Autocollimator (@y"_GLm@&T6eSGw1"_L 1)

(C)Optical flat (<019 860 Glemrme”)

(D) Spirit level (6ro@fl”_ Gleoeusd)

Answer: (B) Autocollimator ; 1" GLT@&meSIGw1L_L i

Explanation:

Autocollimator measures angular displacement through reflected light beam
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deviation.
" BLT@&TeSIGWL_L i, SirdlueSisastiul_L cpaflé &henmullesr eleos edleor
ewoolb Bamevor SL_bEUWITE Hlemw Siemell(HEIDG).

Q191 Which parameter is not considered in surface texture evaluation?

Guhuriy Siemwlienu wSILSH C&FIW 6THE DieTeY(H &(HSHUIUL 6l606m60?

(A) Roughness (&1(hwprhHs &6oremio)
(B) Waviness (166088 65T 6m1D)
(C)Lay (Gev)

(D) Hardness (819.601 5 8 65T 6m10 )
Answer: (D) Hardness / 819 6015 8 661 610

Explanation:

Surface texture includes roughness, waviness, and lay, but hardnessisa
material property.

Guhurty Siemwii§led sI[HIWT(HS & 6T ML, DIEH60E S 60T ML W H MID Gov

OILhIG D, ,60TT6D &1q 60T 5 8 60T 6mLo GIUN (HeifledT & 65T emLD.

Q192.Which flow measurement device works on Bernoulli's principle?

@uirGeormeSlullesr GasmL_um_1q 60 G&FWeOU(HID gL L Siem6SiL (b &(mH6s) 6187

(A) Venturi meter (@eu@h gy fl Br_L i)
(B) Hot wire anemometer (emm"_ ewuni i@ eorGuomBr_L_if)
(C) Electromagnetic flowmeter (Dlesrambs gL L B L i)

(D) Ultrasonic flowmeter (<1601 _nmn@&mneofld gpi” L 1BL L if)

Answer: (A) Venturi meter ; @eu@h&fl BL_Lif
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Explanation:

Venturi meter measures flow rate using pressure difference as per Bernoulli's
principle.

@aieh g, B_L i, OuiFGeormedlulesr Gam”_um_iq 65TUg. Di(RSHS Geumium’_eomL_U)

vwesTuHS S I L &5 08 Sierell(HSImg).

(Q193.Which instrument is used to check taper in machine tool spindles?
SwihSlr &Hed & 6ot (Haoifled GLtiuemrd sfluniss 6Ths & el

uwesTU(HSSUU(HISIDEI?

(A) Dial test indicator (Lweo @Lsiol” Sevoriq Ba1™_L i)
(B) Plug gauge (lions @& sn)

(C) Taper plug with blueing (oo &&1_cr GLtiuNf Uioré)
(D) Straight edge (GmiiGan(h)

Answer: (C) Taper plug with blueing / oo y, &&1_cr GL_ LI} UoTds

Explanation:

Blueing isapplied on taper plug to check contact accuracy with spindle taper.
GLuur hemé&led fHov Ly &8 1Y &, & 6001 (h GLULHL 6T OB TL L Ficv6SIus 688
&6ooTLMISIDG)

Q194.Which type of error occurs due to hysteresis in instruments?

&(moelsatleo afleoGILflflornmed 61hs aems Slemw abuBHlSns?

(A) Static error (Hlemeo Slemip)
(B) Dynamic error (Switi@, Slemwp)

(C) Reversible error (onhmé e 1q w Glemip)

(D) Drift error (#fley Slemp)
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Answer: (C)Reversible error / wnihmé &e 19w Gemip

Explanation:

Hysteresis causes instruments to give different readings during loading and
unloading.

anle @Lflfleromed, sremio e mib Gung) b mib Smé @b Curs) & pellsor

Coumiul’ L eum &0 & cmem QI ST D 6oT.

Qo5 Whatisthe accuracy level of a grade o slip gauge?

& Grr(h) 0 6v6SIt BagdledT Ficoedlw Hlemev 6r66T60T?

(A)=01,m
(B)-05:m
(C) 1 um

(D) +2 ym
Answer: (B)+0.5 xm /+0.5 6o &ImedT

Explanation:
Grade oslip gauges are laboratory standards with accuracy 0.5 ,m.
&G (h) 0 6065l B8 6T IS [HlEMEL&HOITTELD, 0.5 GHLD SITITEOT

516065 608 & ©\&IT 6ot (H6IToIT 60T

(Q196.Which instrument is used for non-contact measurement of surface
roughness?

Guhurty srHrHS &Temwemiu QST TemL DiereiiLLq HE) 6THS &HHeN
uWesTU([HSSUUHSIDEI?

(A) Stylus profilometer (6o 6mL_6v6io O NBGeomBL_L i)

(B) Laser scanning device (Gov&ii 6io@acoflihn & (Hef)
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(C) Talysurf (L_meS\&i-L1)

(D) Comparator (&b GuGm_Lif)
Answer: (B) Laser scanning device ; @eo&ii 6o @& 6ofiib & (6

Explanation:
Laser scanners measure roughness optically without physical contact.
Bov&if 6B eTI&H6T, 2 L 60 GSITL[FiGléoeomoed safludlied (p smmuiled sTHIWT[HS

& 65T Lo 6o e 68l (Hl&l6dT m6or.

(Q197.Which method isbest suited for high-precision angular measurement
below 1second?

168l60TITLg. &) (& M6 &Ieo6eSl Gamer DiereiiL g M@ DM (W eOM 6T8I?

(A) Optical flat (=119 8860 Slemmi”_)
(B) Sine bar (s»&6br umi)
(C) Interferometry (&eorL_i-~@uBrmGIoL”_f)

(D) Autocollimator (21" GLT@&T6eSIGL_L i)
Answer: (C) Interferometry s &eorL_ii-@QUGIT@WOL_f)

Explanation:

Interferometry can measure extremely small angular deviations with
accuracy better than 1second.

&L i~EuBIm@IL_if], 165601 & @ Go6d Hico6eSIws L 6ot lesd FliHlw Gameoor

M6v& 608 6merr SlermeflL (LpLg b

Q198 Which type of error in measurement is caused by environmental
temperature changes?

&Hmiym Geutublemned IHMSE ST arbU(Hib SemeSiL () Ylemw 618)?
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(A) Systematic error (&1L eowiiyd Slemwp)
(B)Random error (ErpHm Gemip)
(C) Environmental error (&mhmtiym Semip)

(D) Instrumental error (&HeS Glemip)
Answer: (C) Environmental error / &b myoiym Seowp

Explanation:

Temperature variation affects expansion of instruments, leading to
environmental error.

@eautublemeo wrHMID &(mHedlsaflest elliflemes Ul @b, S&oorTed &b mItLm
Sleow abhuHiSns.

(Q199.Which method is used to measure the pitch diameter of a thread plug
gauge?

5@ Vond Cagdledr 915 & 6l _L & 6ma DiemellL 61HS (Lp 6HM
uwesTU(HSSUU(HISIDEI?

(A) Three-wire method (eyedr my-&5H G (W o)
(B) Balland micrometer method (ubg) wHmID eowWEGITBL_L i (Y som)
(C)Optical comparator method (<119 &8 6o &DGUGTL"_L1f (1p ™M)

(D) Pitch gauge method (9& & Gsgh (1p omm)

Answer: (B) Balland micrometer method ; ubg) wHmIbd eow&@rmBL_L i
poom

Explanation:

Ball and micrometer method is commonly used for measuring pitch diameter

of plug gauges.
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ubg! HMID w&HGITBL_L T (pemm, erd Casgsafleor N&s 6l L5608

SierTeflL Gungiaunsl LweTU[HISSUIUHISIDS.

Q200.Which computer-aided inspection method reconstructs 3D models
from scanned point clouds?
eivBa 601 @EwwiuL_L yeirefl GuaiisefleSipibg 3D wrSliflsemer Bedor (Hib

2 (Hound@ELb senfleotl 2 &6l 61 ey (oM 6T8I?

(A) Reverse engineering (fleuiieio 61661 leoRwiflrh)

(B) Finite element analysis ((piq subm se my u@Liumiiey)
(C) CNC machining (CNC SwibSlir @euemeotiun(h)

(D) CAD drafting (CAD suemruL_ib)

Answer: (A) Reverse engineering / fleuisiv ereor gfleofwflib

Explanation:

Reverse engineering uses scanned data to reconstruct 3D models for
inspection and manufacturing.

fleuieiv 61651 gleoflwifliy, 6o @& 661 GFWIWNUL_L HT6|& 66U LIETU(HISHS] bilie)

wHmIbd 2_HusSHésns 3D wrdiflesemer Besor(Hib 2 1Heurd @& Sms!.

Q201.Which method is most suitable for calibrating precision slip gauges?

8160651 610 651 B&H g8 cmoT 6UISL_Lq D& D1S&1D CIUN(THSSLDITGOT (L DM 6TH)?

(A) Interferometry (&6o1L - @uBTm@IoL_ifl)
(B) Vernier caliper (@Qeuieoflwit ssmeSiciuim)
(C)Micrometer method (emwéGrmiBL_L i (1 emm)

(D) Dial indicator method (Lweo &edoriq @& _L_if (1p 6mm)

Answer: (A) Interferometry ; S e @uBom@ioL”_f
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Explanation:
Slip gauges are calibrated using interferometry for sub-micron accuracy.
oi6dlt) Ba & oir S6iTL i~ EUGTTGIL flufl6sT e edib o &ImesT S

8looeSlwS g6t UISIL_Uu(HSlesTmeoT.

Q202 Which measuring device isbased on Moirefringe principle?

@wmiGr efefliby Gam_um_emL DigUiuemL WT&HE @&TeiorL DemeiiL (i & Hed
e18)?

(A) Laser interferometer (Boo&i SeorLii-@uUBTmBL_L i)

(B) Optical comparator (<4019 &8 60 &DGUGTL_L 1)

(C) Moirefringe projector (@wmiBr efefliby 1@QTT©@e2&L 1)

(D) Tool maker’s microscope (&6 swirfliumeri mietor @evormds &)
Answer: (C) Moirefringe projector ; @uwmii@r eflefliby @I ©@e2éL it

Explanation:

Moirefringe technique is used for accurate displacement and surface
deformation measurements.

@wmi@r eMerfliby M ub gieveSu b uwiréS wbH mib GuwhHuriiy efleossco
1668 (H & (61H & & UIWESTU(HSIm ).

Q203 Which method is used to measure very high fluid flow in pipelines?
GLmisolfleo ls 2_wihs Slreu LI L &6m8 Dol 6TiHs (L
uwWesTU([HSSUUHSIDEI?

(A) Venturi meter (@eu@h gy fl Br_L i)

(B) Orifice meter (6ifl-Sleiv Br™_Lif)
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(C) Ultrasonic flowmeter (ieor_gn@ameoils gi™ L BL L if)

(D) Turbine flowmeter (Liiemuedr g L B1" L)
Answer: (A) Venturi meter ; @eu@h&fl Br_Lii

Explanation:

Venturi meter isideal for measuring high flow rates with low pressure loss.
@aiEhH g, fl BI_L 1T, @& ombs i(1p55 Sl 6T iS5l L L eN&lghisemer
el oibs g).

Q204.Which gauge is used to measure the effective diameter of internal
threads?
2 6T Sl G Hoifledr GFweSHmesT 65" L_&ems el 61ihs G&Hed

uwesTU(HSSUU(HISIDEI?

(A) Plug gauge (Liomd @& o)

(B)Ring gauge (fiib Gas)

(C) Thread caliper gauge (§lap@ &meSliiui Gagd)
(D) Pitch gauge (96 & Gson)

Answer: (A) Plug gauge ; e Ga g

Explanation:

Thread plug gaugesare used for Go/No-Go inspection of internal threads.
S Uord B@agaseir 2_dr Hlap@soflesr Go/No-Go e é@,

UWESTU(HS SUU(HEIGOT D 6OT.

Q205.Which property is measured by a dead-weight tester?

OLL_-@auil’ GlILsvL_[Imed 611HS & 65T Serell_Uu(H&Slmg)?
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(A) Pressure (21195 51b)

(B) Flow rate (UL e9&l51b)
(C) Torque (H1pbH & 6Hlems)
(D) Power (568))

Answer: (A) Pressure ; 11965

Explanation:
Dead-weight tester isa primary standard for pressure calibration.

OL"_-@endl’_ GILsoL i, DRSS RUITL_1q HET6OT (1 5 65T 6oLD Hl6m eI &) 1D.

Q206.In angular measurement, which device uses sine principle?

@ameoor Semefii”_1q.60, 6T1HS & (H6N &6t GaHTL_UM_emL_ U LWETU(HS &SI &I?

(A) Autocollimator (1" BLr@&TeSIGwL_L i)
(B) Sine bar (em&66t umit)
(C)Bevel protractor (@ueuso BT _omésLIT)

(D) Clinometer (&omerGoormiBL_L_if)
Answer: (B) Sine bar ; em&6st umii

Explanation:
Sine bar uses sine principle with slip gauges to measure angles.
& GST UMY, 610651 G828 (61HL_65T 6mv& 6T Gasm_uml_emL_U LW6STU(HS S

@amemrhigs et Siorell(Hi&Smg).

Q207.Which type of error isreduced by frequent calibration of measuring
instruments?
Siorefil_(h) &IHN& 6T Dig &&1lq RUIN([HEUS GST CLPOOLD 6TIHE CUEHE SlemLD

&ODESEUUHSIDEI?

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

(A) Instrumental error (&mHeS Gemip)
(B)Random error (ErpHm Gemip)
(C) Parallax error (unreodeio Slemip)

(D) Environmental error (&hmtiym Semip)
Answer: (A) Instrumental error ; &@ef) Slemw

Explanation:
Calibration reducesinstrumental errors due to wear and drift.
Stemefi”_(h) &pedlsefleo kulirvu whmib &fley snrewrons erbHupib &mes)

Slemp s cmer LIS () @& D& SEIDS).

Q208.Which comparator uses optical lever principle?

618 HDGUGTL_L T SU1q &860 deult GamL_um’_emL_ U LWesTU(HSHSIDEI?

(A) Mechanical comparator (Swih&lr s1bG@uBTL_LiF)
(B) Optical comparator (<019 &8 60 &bGUGTL_LIT)
(C) Pneumatic comparator (Ueofluyom’_1q & &bGuGTL_L i)

(D) Electrical comparator (iBlesr&ibGuGmi_L_if)
Answer: (B) Optical comparator ; U9 6860 &bGUGTL_Lit

Explanation:
Optical comparators amplify small displacements using optical lever

principle.

U1q. 85860 HDECUGTL_L [F8H6T, DU1q &860 dSaui Gam_um’_emL U uweTu(His S

dlw 1L bW &Hscmer GUlEN & @, SHledrmeor.

Q209.Which flow measurement device has no obstruction in the flow path?

LU L uremsulled 61hs gL L B1” L fl6d & 6mL 86T 618i6)b &606560?
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(A) Orifice meter (gifl-Sleio BI"_L )
(B) Venturi meter (@6u@h & fl BL"_L i)
(C) Electromagnetic flowmeter (Blesrambs gL L B1" L if)

(D) Pitot tube (@i @pmiy)
Answer: (C) Electromagnetic flowmeter ; Dlesr&nibg g1 L B L i

Explanation:

Electromagnetic flowmeter measures flow without obstruction, based on
Faradayslaw.

WlssTaMbs LI LB LT, @I L $60868 &([HlEamoed, unrGL eflSlullesr

Siq UuemL_ulléd Sierel(HSIM&.

Q210.Which measuring technique is used in coordinate measuring machines
for probing?
@am-iig oot Sierefii”(h) SwibSlnhiseflco G&ns cmerd @) 6THG DiemefiL (h

HIL_Ub LWETUHSSUIUHISEDSI?

(A) Contact stylus probing (@& eivemi_sveiv @& g 6meor)
(B) Pneumatic gauging (eofljwomt’_1q & @& ghirbi)
(C) Ultrasonic scanning (Sieor”_gn@&meoflss oo Gsscofirii)

(D) X-ray tomography (eréeio-Gr GL_r@uor&lami9l)
Answer: (A) Contact stylus probing ; @smnL_iiy sioemL_cosio &g cmeot

Explanation:

CMMs generally use contact stylus probes to capture 3D coordinates of
surfaces.

CMMseir GQungieuns 3D SemeordBainer sreysements @um GGy

6 GL_6061D B&IT S 657601 & MG LILIGHT U(HS &1 51 60T 6T
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Q2nWhich method is used to check roundness error of a cylindrical
component?

R(H 2_(HemeT o HIEST aul' L 56T emio Slempemws sfluniée eTibs (1 oom
uwesTU(HSSUU(HISIDEI?

(A) V-block method (ef-tienmés (ip 6mm)

(B) Autocollimator method (@1" GLT@&T6SIGw1I"_L i (p6mm)

(C) Talyrond machine (@QLi16Srmesor_ SwibSlirib)

(D) Interferometer method (86srL_f-@uBImBL_L i (1p 6om)
Answer: (C) Talyrond machine ; @ ieSipmesor” SwibSlirb

Explanation:

Talyrond machineis highly accurate for measuring roundness, cylindricity,
and concentricity.

QUL L& &GO 6mID, 2_(IHGMOITS & 65T 6mLD LDHMILD 69 (1hENLD OIS & 60oTL_HILLI

O eSliTmesor” Swib ST Wlsa|b &1606ShuLmeoT g).

Q212 Which surface finish parameter represents the average of absolute
deviations from mean line?
srnafl Gsm’_1q SHHSI (W (R sowwNeoT 6fleoscoasaflesr Frmeflem @ Ml @b

Guhuriy Hlewmey| SieTe) 618)?

(A) Rz (@121 )
(B) Ra (<witer)

(C) Rt (=iq)
(D)Rq (piidsuy,)

Answer: (B)Ra,; oiiar
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Explanation:

Rais the arithmetic average of surface roughness deviations from the mean
line.

Ra eredrugy snnefl Gami_1q 6SHH & Guburtiy Sifliy eflevscoseiflesr

&1 & SIWweo FTnEfl @ b.

Q213 Which device is most suitable for angular alignment of machine tool
spindles?
SwibSr & Hed eivYleoriq cosaflet Gameoor & Fremoliyd @ iH&Ib

@unHSsLomeot &(HeS 6T8)?

(A) Bevel protractor (@ueued @mm_mméLiT)
(B) Autocollimator (@, GLr@&TeSGwL"_L i)
(C)Clinometer (& emor@oormBL_L_if)

(D) Vernier protractor (Qeuieoflwi 0@ome_oméLif)
Answer: (B) Autocollimator ; &1 GLT@&meSIGwL L i

Explanation:

Autocollimator measures minute angular misalignments with very high
accuracy.

1" BLTO@&M6eSIGwL_L i hlesd Al Caimerd Frhmmisemer W& He
&l0eSWwS G656t Sterell(HSImSI.

Q214.In computer-aided inspection, which technique is used for reverse
engineering?

senfleotl 2_ge6SluL_6sr 116860, fleuieiv o165t ghleofwiflitiSlb @ 61HS M UD

uWeSTU([HSSUUHSIDEI?
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(A) CMM probing (CMM @& s emeor)
(B) Laser scanning (Beo&ii 6o @& eoflibi)
(C) Pneumatic gauging (Oeoflywom”_1q & G&edlih)

(D) Slip gauge wringing (6ro6Sl0 @& gh 631firbighlh)
Answer: (B) Laser scanning ; Geo&ii 6io @& eoflii

Explanation:

Laser scanning captures 3D geometry quickly for reverse engineering
applications.

Bove&ii 6o Baeoflii, fleuiisiv eresr sleoflwifliy uwssTum(HasEH&H&TES 3D aulg 6us s

eNlemreunst @uMISID .

Q215.Which law is used in electromagnetic flowmeters?

lesranbs g LB L isafled 61hs S uwesTu([HSSUUHISIDE?

(A) Ohm's law (@blesr 6515))

(B) Faraday'slaw of electromagnetic induction (iblesranhg s giresor_eo umrGL
oS5

(C) Ampere's law (@b Gwit 6N &)

(D) Lenz's law (@evo6sreiv 65915))

Answer: (B) Faraday'slaw ;urr@GL eN&)

Explanation:
Electromagnetic flowmeter works on Faraday'slaw of induction where
voltage is proportional to flow velocity.

Wlestambhs gl LB L i unr@L gimesor_co 6flSlemiu Siq uemL winssd O1&mesorL_g),

8&lov bleTeoT(1p5 51D I L Caus s Sl @) Hlasnmeors).
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Q216.Which gauge is used to measure clearance between mating parts?

BHiis o8 s6 MIGOHEHE oL Wileoner SeoL Oeusflemw Sierell 61ihs Gaeh
uwesTU(HSSUU(HISIDEI?

(A) Feeler gauge (-Seoif &)
(B) Ring gauge (fiiu G&on)
(C) Plug gauge (Ciors B eh)

(D) Snap gauge (6oeorms Gssgn)
Answer: (A) Feeler gauge / «Sooir @b

Explanation:

Feeler gauge measures small clearances or gaps by inserting thin blades.
~Seoir @& gb GI6v6dIL 58 (Hiscmer 2_cT@er Gl&IsH S Hdu SemLGleueflacmer
oSl (HEG).

Q217.Which of the following is NOT a form error in metrology?

©@w”_greogdlulled 16T (M Gu6oT RIH MH6D 678 GLg Gl GlEDPWITSTS)?

(A) Roundness error (61”886t emio Glemip)
(B) Flatness error (sl eme0s & o1 6o Slemip)
(C) Parallelism error (Sememrun(p) Sleomw)

(D) Resolution error (Siwmeordp Slemip)
Answer: (D) Resolution error ; Siiwneorid Slemwp

Explanation:
Resolution error is an instrumental limitation, not a form error.

Siimreor Ylemlp 6165TUS) &(H6N QUTDUNE D, Big) Alg.6) Sl6mLp Di6d6D.
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Q218 Which instrument is used for high-accuracy measurement of gear tooth
profile?
Slwii ued swENlTS s SiHs HIo6SISEIL 65T SieTellL 6TiHs & (HeS

uwesTU(HSSUUHISIDEI?

(A) Tool maker’s microscope (&6 swirfliumeri mietor @evormds &)
(B) Gear tester (Slwii @L_6ioLT)
(C) Profile projector (@mm-.cmuedo LIGITOIgR&L_IT)

(D) Autocollimator (1" GLr@&TeSIGwL_L i)
Answer: (B) Gear tester ; &lwif @QL_eioL_it

Explanation:
Gear testers measure profile, pitch, and composite errors of gearsaccurately.
Slwif @LevLiseir, Swiiseflest swellour, G1& & whHmIb 63 (Hiki&lemewoTihs

Slemp & 66 §16o6SuTe el (H &6 meor.

Q219]n linear measurement, which instrument eliminates cosine error?

@miflwed SomesiL_1q 60, 611H5 & (HeN Gamem & oot lemp ool b8 @ &l g)?

(A) Dial indicator (Lweo &evoriq Gss1"_Lif)
(B) Autocollimator (=, GLr@&TeSGwL_Lif)
(C) Laser interferometer (Boo&i S6o1Lii-@UGTMBL_LIT)

(D) Vernier caliper (@Qeuiesfurt smeSlui)
Answer: (C) Laser interferometer ; Goo&it 66T f-@uUBImBL_L i

Explanation:
Laser interferometer aligns measurement path precisely, thus eliminating

cosine errot.

RLA ACADEMY ME (DIPLOMA):441 Click here to Join Group: @ © @



https://whatsapp.com/channel/0029Va9vxooFi8xasVgfCr3O
https://youtube.com/@readylearnachieve8491?si=JdfrtMrAESEttLKI
https://t.me/readylearnachieve
https://www.instagram.com/rlaacademy?igsh=MW0xb3Jyd2lidG9ydQ==

Bovsif SeSTL F+~OUGITBL_L T Siemefii” (1) uems 6ol Gl6oeSliwonss FTemos s

Csnemeedt Ylemwemw §6 @& SHmg).

Q220.Which comparator is most suitable for mass production inspection?

@upere] 2 _Hudsdl e &G 61 HDGUGTL LT lsa|b Gum(IhS 8 LomeoT g)?

(A) Pneumatic comparator (lieoflujom_1q & &ibGuGTL_L i)
(B) Optical comparator (<019 &8 60 &DGUGTL_L i)
(C)Mechanical comparator (SwhSlr sbGuBr_L i)

(D) Electrical comparator (1Dlesr&1bBuGm”_L i)
Answer: (A) Pneumatic comparator ; ieofluywom’_1q. & &bGUGTL_L i

Explanation:

Pneumatic comparators are robust, fast, and ideal for shop-floor mass
inspections.

Ueoflom’_1q.& &b@UBTL_L If&6T 6ue)IaIIT6oT 606, GaIsLDIT60T 66 Lo H MID

@&MYlHFTem6d @UIHLOTE| 16 &HE HMiHs 6.

Q221 Which method is most suitable to measure flatness of a precision surface
plate?
gieoeSlwioreor &FGueiv NBeri”_Lg 651 &FLoiblem 608 & 60T LD W DieTellL DiFl&1D

OUNHSSHLTET (L DM 6TH?

(A) Straight edge and feeler gauge (@b @& () o mub +Seoii GaoHg)
(B) Autocollimator (1" GLm@&T6eSGw1"_L 1)
(C)Height gauge (2_wmb Gagh)

(D) Bevel protractor (Gueuso OGTmL_nméLiT)

Answer: (B) Autocollimator ; 1" GLT@&meSIGw1_L i
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Explanation:
Autocollimator is used with optical flats for precise flatness measurement.
Bl BLT@&TSIGWLL_LiT, SpUig &&6d Glemm_orveL_ 65T G&ii s g) &160eShuimeor

&iHlem6evs & 60T D D66l (Hé@E LW6TU(HSIDG).

Q222.Which type of fitis used in assembly where no relative movement is
desired?
RUUBSHHS60 6THG @UIT(HS S LIWGTU(HSSUUHISIDSI, DibIE 2_MH6) & Feo6oTID

@5 cmeuufleo6men?

(A) Clearance fit (oo @evefl QU EHE D)
(B) Transition fit (ormyun () @un(HSSD)
(C) Interference fit (Bwngeo QUK SHD)

(D) Loose fit (s emieuneor @Qunpésb)
Answer: (C) Interference fit ; Gongeo Gunhs &b

Explanation:

Interference fit ensures no movement between mating parts due to negative
clearance.

Bwrg 6o CUTHESD, sTHlifemm SenL_ieuefl HTTesTONs &65600TW|D

UG58 ©OHHE SomLulled 61hs SWwss (b SooconsauTm 2 MISICFEUSIDS).

Q223 Which comparator isbased on the principle of air pressure difference?

&THMRSHS Caumium’ 6oL iq UueoL Wi OsTetor &bGUGTL_LIf 6187

(A) Pneumatic comparator (esflyom”_1q & &bGuGTL_L i)

(B) Mechanical comparator (Swih&lir &bGuGm_Lii)
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(C) Electrical comparator (ibledr &bGuGmi_Lif)

(D) Optical comparator (<019 8860 &DGUGTL_LiF)
Answer: (A) Pneumatic comparator ; ety 19 & &bGUGTL_L i

Explanation:

It uses variationsin back pressure of air jets to indicate dimensional
differences.

&g snbm Oigel” (PSS WM HMIEIS66TH LWSTU(HGSE! uflom esor
Caumiun (Hlaemer &ML (HSIm ).

Q224.In surface texture measurement, <lay - refers to:

GuhHuriiy Siemliy SiermresiL_Lg 60, “Gev " 6TETUS BT Dif & GID:

(A) Average roughness (grmaf ©ifloy)
(B) Direction of surface pattern (Gwhuriy Siemwiiy Slems)
(C) Depth of irregularities (@(gihishm o)

(D) Peak to valley height (2_&8 qpg6b usirenid 2_wimb)
Answer: (B) Direction of surface pattern ; GuhHuriy Siemwiiy Sleos

Explanation:
Lay represents the predominant direction of surface irregularities.

Guhuriiy g (RhiHlest sowullesr (1 &&Hlu Slomaemiud @ HldE b lFTed Geo @)Ib.

Q225Which instrument is used for accurate measurement of very small
angles?

lesd HldHw Camerihis emer gleoeSlwwnss el 61hs &(mHedl

uWesTU([HSSUUHSIDEI?
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(A) Bevel protractor (@ueued @um_mméLiT)
(B) Clinometer (&6momr@eormBL_L_if)
(C) Autocollimator (1" BLr@&m6eSIGwL_L i)

(D) Sine bar (e»& 6t umii)
Answer: (C) Autocollimator ; @y GLr@&meSGwr_Li

Explanation:

Autocollimator measures angular deviations of few arc-seconds with high
accuracy.

1" BLTO&HTeSBL_Lif Hloo s -Ol&as avort”_ Diemesileomeor Gaimeoor

6¥1608 608 oI Hleo6eSlTE Dem6ll(H&SInE).

Q226.Which parameter is measured using a torque wrench?

Lmid @r@eh& eLpoold 6T Diema|(H SierellL_UuHiSIms?

(A) Torque (sxph A oflewe)
(B) Force (eflem &)

(C) Pressure (i(1965b)
(D) Strain (Sley)

Answer: (A) Torque  sph & eSlem&

Explanation:

Torque wrench measures the twisting moment applied to fasteners.

Lmi& @I©h& UmeivL_6oTiiso1h 8@ UWeTU(HSSUUHID silph & 6llemscmw
SiorN(HEDG).
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Q227.Which type of limit gauges are used for checking holes?
316061 & 6D6IT & Fflunise 6Tihs auemaWITeor bl G g a6

uwesTU(HlS & UIU(H&l6dT D 6oT?

(A) Plug gauges (Ciors G ghs6iT)
(B) Snap gauges (6ioeormt) @& ghss6ir)
(C)Ring gauges (flis @& ghss6iT)

(D) Feeler gauges (-Seoif @& gh&s6ir)
Answer: (A) Plug gauges, tieré Gaghss6ir

Explanation:
Plug gauges are Go/No-Go type gauges used to inspect hole sizes.
teré Gagnaoir, Go/No-Go euenas Baeha 6T @b, &16m6Tudlesr i e & emerr

sflumis e vwedTu(HSleoTmGoT.

Q228 Which instrument measures vibration amplitude and frequencyin
machines?

SwihSlrhisefleo MSliellesr uriuerey Wb MID ST eesT 6T 6T1HS &(IHEN
Siorei([HSImg)?

(A) Vibrometer (coeuti@omiBL_L_if)
(B) Dynamometer (6omL_eor@omiBL_L_if)
(C) Tachometer (L @a&smBr_L1i)

(D)Manometer (on@eormiBrL_L_if)
Answer: (A) Vibrometer ; enouti@omiBr_L_i

Explanation:
Vibrometer is used for condition monitoring by measuring machine

vibrations.
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Swih ST 15li6ys emer Sienbg) 1Hlemeo & evor srenliug @ coeuGrmBL L i

uwesTU(HSID&I.

Q229.Which method is used for non-contact temperature measurement?
@&Liiy Seveonneo Geuliublemeoemiu SiemeslL 61ih& (L 6mm
uwesTU(HSSUU(HISIDEI?

(A)Mercury thermometer (UnsT& @eutiuwmeotl)

(B) Thermocouple (0&iGwnaiSler)

(C) Infrared pyrometer (8er-timm@r_ eou@omBr_L_i)

(D) Bimetallic strip (@1 _L_6o uL’_emL)
Answer: (C) Infrared pyrometer ; &6or-Omm@r’_ sou@mmiBr_L_i

Explanation:

Infrared pyrometer detects emitted thermal radiation for temperature
measurement.

&eor-urmer’ eouBrmBL_L i, @euefliupibd Geuiu &s&lielisemns 2 _cworibg)

@autublemeoem SieTel(HEDG).

Q230.Which system is widely used for classifying tolerances and fits

internationally?

FieuBs & ierefleo &i6o6eSlwikiseT WHmIb CUT(HE HhisHem6eT A&EIUHSS 6THS

iUy SiSl&wnss LWeTUHSSIUHSIDG)?

(A) BIS system (Glgger6io Dismintiy)
(B) ISO system (g2616/069 SiemioIL))
(C) ANSI system (ereredr6T6/083 DicmioliL])

(D) DIN system (19 8361661 DieminliLy)
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Answer: (B) ISO system , sger6ivgp Siemiotiy

Explanation:

The ISO system of limitsand fitsisinternationally accepted for
interchangeability.

S 60TS & 6T W EH&TS FTeNESH & Dieredleo arh misO&TeToTIUL L &) $26T606D

QUIDY&6IT oD MID QU (HS SHHIS T DDLU G)LD.

Q231.Which instrument is used to measure twist and camber in shafts?
a9l _s6ifled (W MId @) HMID IEm6Tem6r SierellL 6Ths & (oM
uwesTU(HSSUU(HISIDEI?

(A) Autocollimator (1" BLr@&T6eSIGwL_L i)
(B) Spirit level (so@1fl"_ Gleo6usd)
(C) Straight edge (GmiGan ()

(D) Alignment telescope (Si6me065T @I 60oTL_ @IL_6Sl610 B851mL)
Answer: (D) Alignment telescope ; SiemevedT Gl 6dort”_ G660 B&ITLs

Explanation:

Alignment telescopes are used for checking straightness, twist,and camber in
long shafts.

BT gL _seflesr @pis S, (P Ms @ wHmIb cicneremey Fflumisbs

16060651 @I torL GIL_6Sl6o @&l LWGSTU([HS SUUHISIDG).

Q232.Which parameter of surface texture indicates the distance between
successive peaks?

Guhurty Siemwilled iHSS[HSS 2 & &l& 6 E SooLullconer HTEHems 6Ths

SDieTe|(1h & DS EDS?
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(A)Ra (<piiar)
(B)Rz (<pii@gn1")
(C) Pitch Q&&)
(D) Rt (<119

Answer: (C) Pitch , 9&&

Explanation:
Pitch denotes spacing between successive surface irregularities.
Sl& & oTesTUS) OBTLITESlwmeor GobHuriy 69 (1RrhISleir L& (01 @ & eoL_ulev ot

SooLOaleflomw &Hl&HSIng).

Q233.Which flow measuring device is best suited for measuring pulsating
flows?

Si5liiayoier gL L mhisemer ool Flmbs g1 L IBL L if 618)?

(A) Orifice meter (6ifl-Slefo B _L_1})
(B) Turbine flowmeter (_iiemuedr g’ 1 B L i)
(C) Electromagnetic flowmeter (Blesrambs gr L B L i)

(D) Pitot tube (Q@Ln"_ @pmis)
Answer: (C) Electromagnetic flowmeter ; iblcsr&nibg gL L B L i

Explanation:

Electromagnetic flowmeters handle pulsating and slurry flows without
obstruction.

WlesTaMbhs gl LB L [i&6T &emLullest il SiSliey wbHmib &eoifl gL L bisemor

SiemellL_& &6 19 6D 6.
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Q234.Which measuring principle is used in strain gauges?

ool @muilest Bagasarfled 61hs Serefii” () Gam_un(h uwesTuHSSUUHISIDG?

(A) Resistance change (6180 ibmhHmib)
(B) Capacitance change (@sun&l”_L_ebr6iv mbHmID)
(C) Inductance change (&6rL_&L_65T6M0 IDAHMID)

(D) Magnetic flux change (&nbg umiioib wrbHmib)
Answer: (A) Resistance change ; ety iomhmib

Explanation:

Strain gauges measure strain by change in electrical resistance of a conductor.
ool @puilest s ghaeiT, 6o Fmifludlest WledT ot ooy 6T SNt T HMS ST e eoid
B1Plem6u ior el (HSledTmeot.

Q235.Which instrument is most suitable for checking thread pitch diameter?

S N&a L Homs& sflunidss Slsb GunhssLomeor & 6T8)?

(A) Thread micrometer (H(H@E cowdGrmbBL_L i)
(B) Pitch gauge (&8 Gsgh)
(C)Ring gauge (fii Ga2d)

(D) Tool maker’s microscope (&pef wrfliumeri mctor Gevormas &)
Answer: (A) Thread micrometer / (5@ cowdGrmBL_L_ i

Explanation:
Thread micrometer measures pitch diameter accurately using V-anvilsand
pointed spindle.

6X-Di65T 65160 & 61T LD H MID Fer I GHLOWITGOT 61V 16B0TLG 6D eLpovld S(1HE

o &HGImBL_LIT, 91§ Nl L §ems sicoeSuwns Sorell(Hi&SImg).
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Q236.Which type of dynamometer measures brake power of 1.C.engines?
2 it erfloumy SwibSlohiseflesr S18rs &&&lomw 61ihs 6uema emL_corGombL_Lif

Sierell(Hi&SImg)?

(A)Hydraulic dynamometer (emami”_gmeSé emL_corGomiBr_L_if)
(B) Spring dynamometer (6ro9lfli emL_corGomBL_Lif)
(C) Absorption dynamometer (Suisnitiongesr emL_corGomBL_Lif)

(D) Transmission dynamometer (1q mmesr6hoblerg661 6mL_corGomBL_L i)
Answer: (C) Absorption dynamometer ; Swisnitingesr smL_corGomiBL_Li

Explanation:

Absorption dynamometers like rope brake and hydraulic types absorb engine
output to measure brake power.

Gum 918, smem1”_Tmedld alema & 6T GUITEOTM HIEFMTLI6%60T
eoL6orGmBL L fs&eir, SwihSr Gesefluf_coL 2 dleh &l GI8ré &&Slemw
Siemeli(H &ledTmeoT.

Q237.Which error occurs due to variation of ambient temperature in
measurements?
Siereli_1q 60 &HmItym Geiublemeo wrmuN(H HTTEILNS 6THS Wlemp

abub\SIms?

(A)Random error (Frbm Slemip)
(B) Systematic error (semrésneor Slemw)
(C) Parallax error (unrevseio Slemip)

(D) Environmental error (&hmiym Semip)

Answer: (D) Environmental error / &b muiiym Slemwp
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Explanation:
Temperature, humidity, and vibrations cause environmental errors.
@eautublemeo, FFTIUILGLD WHMID SiSlFey&6iT &bHmIUUMD e & emerr

2_600TL_Té G ST M6oT.

Q238.Which measuring device is used in CMMs for non-contact inspection?
@sLiiy Sevoeormoed e @& CMM-sefled 61hs SiereSi_ () &med

uwesTU(HSSUU(HISIDEI?

(A) Contact stylus probe (@&rL_ii 6hoemL_eveio G&ms emeot)
(B) Pneumatic gauge (Oeoflujom”_1q.& @agd)
(C) Laser scanning probe (Goo&ii 6ro B eofliiu G&m s 6meor)

(D) Plug gauge (Ciond @ssn)
Answer: (C) Laser scanning probe ; oot 6ioBs eoflial @&t 6meor

Explanation:
Laser probesin CMMs enable fast and non-contact dimensional inspection.
CMMseifleo Goo&ii @& s emeor a6t Geussioimeot b mih GGy Eeoeons

ufliomesor Dpiiemer &I 2_&6)HledTmeoT.

Q239.Which instrument is used to measure the taper angle of shaftsand
holes?
a9T-UL_&6T HmIb glemensefleor GLUiul Gamenrsems SierellL 611hs &HeN

uwWesTU([HSSUUHSIDEI?

(A) Sine bar (e»&6dr UM)

(B) Taper micrometer (GL_tiuf emw&@rmiBL_L_if)
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(C) Autocollimator (1" BLm@&m6eSIGw1"_L i)

(D) Dial indicator (L_weo & 6doriq Gss1"_LiT)
Answer: (B) Taper micrometer ; GL_tiuit emwdGrmiBL_Lit

Explanation:

Taper micrometer is designed with angular anvils to measure taper angles
directly.

GLuut & @rmBL_L i, @&meuor Di65T651608 (GTHL_65T QLG UEH&SSIUL_L_GIT6O

GLuuir @smeoorihgs emer Gbiig wins el (H&SImg!.

Q240.Which pressure measuring device is used in aircraft altimeters?
eflreor 2_wiriblesmflesefleo 61hs D158 Diemesii” (h & (e

uwesTU(HSSUU(HISIDEI?

(A)Manometer (om@eormBr_L_if)
(B) Bourdon tube (GuniiL_csr @pmiy)
(C)Dead-weight tester (QL_1"_ @il @L_6oL[F)

(D)McLeod gauge (Qw&69@wn_ Gaeh)
Answer: (B) Bourdon tube ; GumiiL_ett @pmis

Explanation:

Bourdon tube pressure gauges are widely used in aircraft altimeters for
measuring pressure differences with altitude.

2 WISSH@ ahu i(RSHS CGeumun’_cmL Serefl, GuniL 6o @MU H(RS5S

Bsgraar aflomeor 2_wimblsmflsefleo ureueons LwWEsTU(HSSUU(HIEGETMGOT.

Q241.Which comparator uses a fluid medium to amplify displacement?

S bOuWIT&FHemw OUIHES Slreub uwesTu(HiSSHID RIS (H & HeS 615)?
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(A) Pneumatic comparator (Ueoflyomt’ 1q.8 6nSi"L_mesr)
(B) Mechanical comparator (Swib&r S L_medr)
(C) Electrical comparator (Wblesr&mr 6pnSi_L_medr)

(D) Optical comparator (<\iq &60 UG L_m6dr)
Answer: (A) Pneumatic comparator ; tieoflwom”_1q & epunSi™_L_medr

Explanation:

Air pressure variation with displacement is used for measurementin
pneumatic comparators.

SL bOUWIF&ESL_6T HTHMIRSS TmUN’_emL uwesTu(HiSS] leoflujom” 1 &
oUISL L medT Stemefi(h) @ &SI

Q242.Which lay direction is preferred for surfaces subjected to sliding
motion?

sifle) SwWHs55HE 2 1 uhHib CoHuTtysEHeHE) 61Hs Goo Slems
NpbUtUHISEIDSI?

(A) Parallel lay (& emevor Gev)

(B) Perpendicular lay (@&mi@ 681 Gev)
(C)Cross lay (@ m&@ Gov)

(D) Circular lay (e Gev)

Answer: (B) Perpendicular lay ; @&hi@ &8 Geo

Explanation:
Perpendicular lay reduces friction during sliding motion.

&sflo Sws s Sleor Gus) &HIE S G QUL 5608 @ DEHSIDS).
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ufl@&snSl&SIng).

(A) Minimum size, Maximum size (& oombsuL_& Deme], H&UL_& Sierey)
(B) Maximum size, Minimum size (Si$lesul”_& Sieirey, & mmibSUL_& Di6IT6))
(C) Tolerance, Deviation (&nhi@ @ som, #miiey)

(D) Accuracy, Precision (gi60eShwib, Gbiié &)

Answer: (A) Minimum size, Maximum size ; @copbsuL_& Sierey,

DS BUL_F D66

Explanation:
GO gauge ensures part is not undersized: NO-GO ensures not oversized.
GO Bagh @unpeT @ mmeuns Eeoemev e16sTucms 2 Mis CFSmg): NO-GO

@& gd GUM(HoT SiHHLNES Ecdemed TATUMS 2 MIS] CIFWSIDS).

Q244 Which method is commonly used for force measurement in modern
transducers?
mefieor 1q medT 6oL Fi&eifled uevs g DTSl CUTZIITS 6THS (Lp 6HM

vweTU(HSSUUHISIDEI?

(A) Strain gauge method (6for”_@ruilesr Ba gl (1p M)
(B) Pendulum method (11L& @ameo (p emom)
(C)Lever balance method (Sem1L_@&neo Fwiblemeo (wemm)

(D) Spring deflection method (stoGifiii auemerey (1 emm)

Answer: (A) Strain gauge method / eor”_@rufiesr &gl (1p omm
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Explanation:

Strain gauge load cells convert strain into electrical signals for accurate force
measurement.

ool”_@uilest B gh siominé 15608 6T Sl Ll6dT 6ot gy 18 6ot 60N W H M

&lovoeSlwmeot ued SiemefiL_emL_ O&1ISI6T M 6oT.

Q245.Which is the main advantage of a laser interferometer in precision
measurement?

Slovoedlwmeor SiereiiL” Lg.60 Geo&ir SeoTLi--OU@TmBL_L fledr (L& &SI 1H65T 6L
o1g)?

(A) Compact size (8w Sierrey])

(B) High resolution (2_wii Siwmeorid)

(C) Low cost (& comibs Glaeoey)

(D) Simple construction (erefliu Diemioliny)
Answer: (B) High resolution ; 2_wisr Siwreorid

Explanation:

Laser interferometers provide nanometer-level resolution for precision
metrology.

Bovaiit SeorL1i-WuGImBL_L &6t br@eormbL_L i hlemeo Siiomeor s oms

GULDTEIE H6OT D 6OT.

Q246 Which instrument measures angular deflection by light beam

reflection?

ooifld s Homm BirSlueSitiumed Bamesr 651608 660 Sieme(HIb & (HEN 618)?
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(A) Clinometer (Hlemor@eormiBL_L_if)
(B) Autocollimator (1" GLm@&m6eSIGw1"_L i)
(C) Sine bar (e»&6dr UM)

(D) Theodolite (5IGwnGLmemeol”)
Answer: (B) Autocollimator ; @y1° GLmr@&meSGwr_Li

Explanation:

Autocollimator detects minute angular deviations using reflected light.
" BLTO&TeSIGwL_L i GirSlucSlss eperfluilesr eypeotd miesor el Gasimesor
6¥1608 65760 & 6BoTL OIS &l.

Q247In mechanical measurements,damping is essential to:

SwibSlr Derefi”_1q 6o Lmblk @& 6meuum6oT &ITT6ooTiD:

(A) Increase sensitivity (2_eworiSlmesr i5HaMbs)

(B) Reduce overshoot and oscillations (Si5& 6Mevss 6o wHMID Hie|scmer
GHOMES)

(C) Improve range (eumbemu Gwibu(HHs)

(D) Enhance magnification (Quflsns&emneo i5eMes)

Answer: (B) Reduce overshoot and oscillations ; i8l& 6fevs 6o wmHmub

315618 6m6r & M &S

Explanation:
Damping stabilizes pointer readings by minimizing oscillations.
L mbYib iS50 & oo & emms &), &1_1q ulledr hlemeowineor cun&liemu 2 mys

@FWSIDG).
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Q248 Which device is used for high-accuracy linear measurementin tool
rooms?
(B oo epibsafled WG HS GlicoeSwreor GmiisGamL (h SemeliL_1q HE& 6THS &HHeN

uwesTU(HSSUU(HISIDEI?

(A) Vernier caliper (Qeuisofwii &meSIOui)
(B) Slip gauges (60651 Ba g8 6iT)
(C) Steel rule (sivre6d emed)

(D) Micrometer (6ow&@omBL_L i)
Answer: (B) Slip gauges / 606801 @& gh s 6ir

Explanation:

Slip gauges provide reference standards for calibration and high-accuracy
measurement.

oivedlt @& g &6l Hiblemeoo WHMID 2 wif FicoeSwmesr o6l g H&

& Mluyblemeoemiu 6L 1hI@, &l65T M 6ot

Q249.Which type of fit ensures no clearance or interference?

6Th 8 aIens Sl &6d SonL a6l Dicbeog) SemL ) mi 61D S(HHEHTS)?

(A) Clearance fit (8oL Oeuafl ~OI")
(B) Interference fit (SeoLuy, mi ~9)
(C) Transition fit (wmmbmy ~9")
(D) Shrink fit (s@piu@ b ~9_)

Answer: (C) Transition fit /iy 9"

Explanation:
Transition fit may result in either slight clearance or slight interference,

practically ensuring “zerofit.
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Q250.Which parameter is determined by Prony brake test in 1.C. engines?
o _eir erfloumy SwibSHlrmussefleo GGrmeshl SI8rd B&mg emeot eevid 6TiH& SieTe)(IH
&eoorLMHIwu(HiSImE?

(A) Indicated power (@d&s0U"_L &68))

(B) Brake power (9@n & s65))

(C) Friction power (®1"_[HU &&5))

(D) Mechanical efficiency (SwibSlr GsweoSHmebdr)

Answer: (B) Brake power ; 98r& &&68)

Explanation:
Prony brake test directly measures brake power by absorbing engine output
torque.

G18rmeofl G1Br& B&ns cmeor, Swih ST GeuefluT_ () Lmidbons 2 Mlep &, G1Crs

&&5loow Criig wins Sierell(Hi&Smg).
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